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>*��G �� ��'���=� ~l� � � � ����&u�=��~ 1 ��� ����G(����� ���-��� � � � �=� � � ~8� � )j� ��� �8��� � � '#�8� � � �#� 	(���
)+� �=� ��� ��G � ��� � � 	 �=� B�����~��D�h�(:��=�-�����=�h� � 1 >*�h� �j}h~�� B���� � ���=�(� � �,��� � � � � � 1 µ � ���
@ �=��������� � � �=��C
� ��� 
 ���2� }h~�� 	 �=�,�h��������� 1 �l� �=� B���� ~h�D�h�(:��=� $ �l� � 1 ���0� � � �,� �����
� ����� �=����� � �;	 � �,��� 	(� �$C � ��: � � � }�~�� ���8���,GD� � �=�
�b� �,��� � � � � ���=�2� � �h�=���

�H� � �b� �,��� � � � � 	 ��� 3 9#�%9F$h� � ���8�,��GD� � ���,<(GV�=���J�h� ��� ��� 57 >y� �D�l� �=� � � )j� �=�4��8� �=G � �=��� � }�~�� 9#�1/I� � � �D�L����G(� �;G_�=��K
 "-V�=� &u��� �(� � & �,-(�h��� � � � �����=�h� 	 �����=� ��� ���G��������� �



,

6HG(�����h�(	 	 ��� � �=���(��� ���(� ����� 1 µeV �'@0�=� �=���������
� �=� �=�I�,� ��	 � �=� }�~������h�����(	 � �+~��,� � �4�
�����,: � � �h�=�F: � �;)j� 1 ����� � � � � 	 �=�;)j� ��� �8����G ������� � }�~h� BL��� � �h�=�6� >�� G �� ��'���=��~h� � � � �=�1�
&u��� ~ 1 ��� �=�4�'B���� ~h�D�h�(:��=���"� ���N% 3�, 4̄ 4?4 & � B ��'y�����I��� α− 6 � 2 ) 3

G(� �G� ��� 	(��� �������2�����6�
$l��� �3� 	(� �>�����,�,G(� � �=����� ����� � � � ��}�~�� 57 >f� GV���j�=� � ���-�o�,�2�����h� � � � 1 -V�=���x� � � }�~�� � ���
3 787 ◦ 	 : � �,<(��$!: � ��� � � � �=��� �
�������=� B;<(��$ � ��'y��� 
 � �,		}�~�� : 
 �=� 
 ����� �=���=� B��+'y�*�L�=�
GV�=�h� ��� � �G�3�(��~ 	D� �,� ���
�,�����F�(���=�+: � ��� 1 1 ��� 1 ��� 	 � 1 � ���h�(� 1 � � �,� �=� � ���F�b� �,��� � �(1
�=� � ��� �0���=����� �,��� � & �h� �J�D�l�(	 �=� � � �
� �=� ��� �,-V��:=� �=��� � >*�h� �J�2��� � 1 BH� � 1 ����	(����� ��� 6 ��G_�=���
�*��-_���,� 1 �=� � �=� � � � � �=��� � ��� � 
 ~���	 �=�<�V��� 
 � �,	 ��������-���� ���P, }�~�������� � ��� ������ � ����-(� � �=�
9 
 �=�,	 �=� 	(� � �h� � �(	 � �=�h�=�(	 ��� � ��������� � � ���=�
� 	(� �5��� � ~�- ���2�,��� �=�
>*��G �� ��'���=� ~l� � � � �=��&u��� ~ 1 ��� �=� G_�=�,��� ������GV�=�<�
� ��� ����� ��� � �G� � � ���,�(� � &u� 	 �=� 	� b�D� 1 �?�
����� �=�(�+� ��~��,���P���=�2� � �l�?	(�����+� � ��� & < � �=� � BL��� � �����6�'>*��G �  ��'����� ~h� � � � ����&u�=��~ 1 ��� ���D�
	�� �F)j� ���=G �(����� � & < � G_�=��	 �F> .l� � � 
 ���,	 ����}���� ���2����� ������>y�=� � �=� 
 � ��	 GV����- � ~"��� �=�<�
 ���o��� ~�A ��}���� � � ��� � ��6HG 
 ���2��� � � ����� G_�=� 1 @ � � ����� ������� �h���=�F>*��G �� �� ���=��~h� � � � �=�1�
&u��� ~ 1 ��� �=��� }h~�� 	 ��� �h� ����� ~ 1 1 ��� �=� ��	 ���h� ��� @ �=	(� � � � � ����� ����� � 	(< ��&u���
� �(1 	(� �
>*��G �� ��'���=� ~l� � �L� �=� &u�=��~ 1 �G� ���1�'B�����~��D�h��:=�=���(�2��� �
: � :��=�,� �7�����=���

)I� � 0 � ���I	(� �=� �=� ! � � �=�,� � ��� � � ����� ����� �=�D�C��� � $h~ 1 G(� ��� �=� � �=� >*��G �� ��'���=� ~l� � �6�
� �=� &u�=� ~ 1 �G� �=� & < � ������� ��G(�h� �=� � ����� � � �(	 & < �������,�,G(� � �=�?�b� ����� � � � ��: � � ���h���2�,���=� �����
)I��� ��~������ ��� � �(� � � ��1 ��� �F$2��� � � � � � 	 ���(�	��� � ~���~��8���5����� � ��:�� 
 �=��	 �=�
� �(1 	(� �
� <(��$l� : 
 �2�,��� ��� �,�2��� ��GD�h��� 1 � ����� � � �(	 BL��� � �h�=� �2����� � : � ����� ������A������ �L~ $���� � �
� � ����� � � � ��� ��.h� ���=�(� ���h��	D�h�,	�� � 1 6 � �8��� �/� 1 G_��� ���2��� ����� G �����=��� 
 ���,	 ���
� 	D� 	(� �
.��=��� ��� �=.h� ����	 �������8�,��GD� � ���,� � ��� � � � � �	}�~h� 57 >y� ~8� � �6�h� ~8A���� ����-_���,� 1 ��� � �=��� �=�
6 � & 
 �h�(	 1 ���>�=� � ���C���=���l��� }��=� � �=�D� � � �8$l�����>}h~��I�G� 
 � 3×10−13 ����- ��~�	 � :����=��� 
 �=�4�
	 �=��$E�h� � % ��� }! "	�#%$h~#�!4 787�9 & �5� �=� ��G(��~�� � � � .��=� � 	 ��� �(�8�,��GD� � ���1� .��=��� ��� �=.h� ���������
,��=	 ~"����� ~����.�(�2��� � 1 ���?� ~ ����~8A���� � ���D� � ���8$h�=���+GV��$E�h� � � % ��� }! �	 # $l~n���+�h� �?�D4�7�787 �
�
� �h~ 
 ������� �h� � � 4�7�787 & ���F���6����� � 1 $l~ 1 G(���(� ����� ��� >*��G �� ��'���=� ~l� � � � �=� &u�=� ~ 1 �G� �=�
& < �����8�,��GD� � ���,� � ��� � � � � �6}h~�� 57 >y� � ��	 	 � 1 � ����� ������� ��� Ah~"	 ����� G(� �2���,���=� � �=� K ���
�2� �(1 C ��~��K� ��� ���,��$���� � � � 	 �=� ��G(��~�� � � � .��=��� 	 ��� 57 >y���1�(�8�,��GD� � ��� 
 �=� ���=� �@.h� ���
�h�=�D� � �=� GV��� ��� 1 1 � 
 �=��	 �=� � �
��� .��=��� �=� �=.h� �h� ��� � ����Ah~"	 � ����G�� ���2�,���=��� �=� K ����� �(1
C �=~�� � �����=��� ��� � 1 ���s��� � �=�2���=� �x����}h�=� � �=�(� � � ��$h��� �s}h~�� 10−13 GV��$E�h� � �D� �h��� ���1�
	�� � �8� GV��� � � � �=���,�l����~��(��:=��� � ���-}h~��C3 787 ��% @0~5 "$l~��G� �h� �?�?3�2?2@2 & � �0��� � � � ��� �=�,� �2�
� �����=�4� .��=� ���=� �@.h� ����� 1 � �I� 1 1 �=� GV����� �=���=� � ���D� � ���8$h�=����: � ����- ��~�	 � :�� ��� ��� �2��� � �6�
}h�=� 1 ���(	 �=� �d�h� ~8A#� 
 ���?:�� @
��� � �G�I�h� � % 4�7�7�9 & :=�������=� � �H� � )j� � 
 ����$ � � � �0	(��������� � �(	
�l�(	 �=���=� ��.h� �����(�����h�(	D�h��	(� 
;� �,	 � }�~�� 	 � � � ��% 4�787@, & : � ��� 1 1 �=� ��� & ���,� �3�J�=��� � ���
B��=&u��� ���(:=��� 	 ~�� � � � ��� ���=��� 1 �
$2��� � � � 1 � �+	(����� �����	���,� ~"	 ��: � �
@ �=����� 1 1 � � � 	 ���
57 >y� ���8���,GD� � �=� 
 ��� � ��� �=.l� ���+����� �+� �=���l��� }�� � �=�D� � � �8$l��� ��}�~�� 10−9−10−10 �=��� ���2��� �
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 ���,	 �����D� ���?<(G �2����� ��� 
 ���2� � }h�=� 
 �=��	 ��� � ��.h� ���=�(� ���h��	D�h�,	 � 1 6 � ����� � � 1 GV�=���������<�
	(� � � ����� �=��$h~��������l� � �A}�~�� ��������:=� �(1 �5$E�h� � 	D�h�������=� �#�"���(��� �=�(� 1 ��� �=� � ���j� ��� �l�,��}����
� ���D� � ���8$h�=��� }�~�� 10−8 GV�����,� 1 1 � 
 ���,	 ����� �
������� 1 � ��� 1 �l� � � ��� �l�,��}h� � �=�D� � � �2�
$h��� �j�����=�h� � ��	 �=��K ���,� � �=��� � � �0	 �=� �"�?�'B��=&u��� ���(:�$ �,�2�����h� ��� GV�=����< �(	 �G� �J���=��G����IGV���(	 �=�
G_�=��� ��� �E����� ���h��� �=� } �h�,�2� �=� � 	 �=�j� ��� �l�,��}h�?.|�����I	 �=� � ��� � �=��$h~��(� ���h� � � � � � �=�,�(�h��G 	 �=�
�E����� ���h����� ��1 10−8 % @0�=� �8� 1 �������H�h� � � 3�2@2@2 & �! 1 1 �����=� � � 1 $h~ 1 G(� �(���=� � �=�F>*��G �  ��'����� ~h� � �L� �=� &u�=��~ 1 �G� ���
	�� �0.��=� ���=� �@.h� ���
	 �=� 57 >y� �(�8�,��GD� � ���,��� ����� � � � �F�h� 	�� ������� �o�����D� � GV��$E�h� � � ��.��=��� ��� �=.h� ���#�=� � �=�
Ah~�	6� ������G(� �2����� �=� � ��� K ����� ��1 � C �=~h� � ��� ���,�F: � $h~8-(-V�=���
� 1�� ��� 	 �=�F6
G(� ���h��	 	 ���
$h~ 1 G�� �(���=��� �=� ��-(� �����=�C} �h�,����G_��� � ��������)I��� � 
 ��� � �=��� �+~��,� � �,�����,: � � � �2���3��	D�����0	(���
� �+' ��$ �����=� ���(	 ��� 6A� ~ 1 �=G_��� �=� 	 ���;��-(���=������� 1 � �,��	6� @ �=��������� -D�l���h��� �=�*: � �����D�h�(	 ���
�,� ��	����H� � )j��& � � � � � � � � � 	 � 1 ���8% �"� }! "	�#%$h~ ���+�h� �?�(4 787@, & }�~�������� � ��� ��� �=� )"��-_���,�;�
1 ��� � :=�����h�3� 	D�����I	(� �=� �;� �l���h��� �=�2���7.l� � 1 �=� ��& � ���(��� �=� �=��� ���2��� � 
 ���,	 ��� $E�h� �<� 
 �=� �
	D���j���=��� 1 � �;>*��G �� �� ���=��~h� � � � �=��&u��� ~ 1 ��� �=��� � � E�FHG<E�I �o�,�2�����l� �"� �=������� � �=����� 
 ���,	����� � � � -(��� �=� 0 
 ���,	(�=� � �	~"	 ��� ��& < � ����� � ~��2��� ��� 1 ~�� ~��2���,�(������� ��� � �(��� � �(1 �=� �+}�~h� ���*�
��� ��� � � �5�
����� �=���	~"	 �=��� 
;� �,	 � 1 ���,�(� � &u� 	 ��� �	���,� ~"	 �?	 ���"My�(� � ����)j� � 1 ��� � �N% > )�� &~8- ��� 1 ���=� � �!�0��� ��� � ��	 � �����=�(	 � �j�,� ��:���- 	 �=� > )�� �1�	�G��� ~"	 � 
 ���,	n}h~�� �h����� �=�����3�"� ~ �
 � �F	(� � � � � �(	 � �h����� 	 �=� 
4C
�h� ~8-_~��,���,� ~���� �=� � � � �7� 	(���.���n��� ��� � G �D� @0� 
 �=� � � ���=�
1 � ������� �=�;��G�� ~�� � � ��� � �=�(� � � ��$h��� �;� 1 � 1 � @ �=�����2���F: � ��� �h�2����� �=���=���

��� 	����I�&] � ���('$"�� �,"�S,��	�� ��"<F�/�� �
�?��	�"���"$/��,�(�,��� �,�B���3
(�
��� �
.��386	��,�(	��1	��&
,;



� ���3�V����8 �

� � ���s ��!�.�5�7�
8 *0�78�8�� � ���4%��	� �

)j����$ � ��~ 1 �l��� ���,������� �I.|��� � ��� GV��� � �=� �=� � � � : 
 �=�L�h��$h~�-(-_����� �=�
� ~8��:�� �������=� ���(	 ����>f���?�
	 �=� �<� 	 � 1 ��� ��$ � �,������� �=� >y�=��	 E

� �(	 	 �=� 1 �l��� ���,������� �=� � �(	 � $ �,� ~�� B �5�
� �=� ��.|���?�
���=� 
 �����(���=� 
 ���,$l�=� 1 ��� �=����$ � �����,��� �=� � � 	 � � �����
� :�� @
� }h~�� �+��~h� ~h� �=� � �(	 )j� �=$��
� � ~�� �=� � ��	 1 ��� 1 �l��� ���,������� �=� �
��-V~�� 1 ~ 1 �=� � ���
� : � @
� }�~h��C � � � ��~�� �=�<���j� ~l� ~�� ���
� �(	�)j� �=$ � � ~h� �=���E�
���+�=� �=$ � �,�2�,��� ��.������(���=� 
 ���,$ � � �H��� � ��1 �����(� ��� � �/��A��=� ~h�,	 � � �6�
�h�=� ���7.h�,$l�=� �h���I	�� � 1 �h��� �G���2�,��� �2� 
 ������� �
� 1 &u~������=�(	 �=� }���� �D����� �=.����,� �l� 
 � �,	 �J�
� �� � � �=�(����� .x�
	 ���0�h������� � 1 �C��������� ��� 	 ���B� � �,� � m ����� � ��� � � �=� �b� ����� � � � � ��� �
- � ~2�
-V~�� ��� ~h�D�h� : � 3�� m2 � 
 �=� � 1 �h� � � � 	 ~ � ��~ 1 G(� � ��� �(� � � GV��� ������� � �G� � �
��� � ���,���
	 ���H�+��~h� ~h�(�;������� � �(	 4�78787 � 1 �h�_�h�/�8A����;�h���+	�� � 	 �=�
)j� �=$ � � ~h�(�D�y�=�H��~�� ��	 ��� 
 �=�h�=�
� � �;	(��� �b� ��� �(� � � �l� )j� �=$ � � ~h� �=�FG_�G� �,����� � ��� 
 �=�,	 �=���

0 � �#.����(��� 
 ���,	 	(���2�=�������,���,��� �F�b� ��� �(� � � �l� �E����� ���h��� �=� �h� ����� 1 ����� GV��� �������6�
� ��� � �(	 	(� �
@ ���l���8GV��	(��� � � � ��� � &u���=��� ��� � �3�!�,����� �0: � @H�2� ��� � � �=�"% 3�2@2?, & � 	?� �,�2��� 1 �h�%'3�2@2J4 & � )I� � �s�����D� � ��� � @ ������� � �=��G � � � 	 ��� � � � � �(� � � �h� �o���������h� ���=� �2��� 1 � � 	 ���
	� L�(� 1 �2�,��� ���:�+� �=~h�,� � 1 ���h�������<� 	�� �n�=G_����& �h����� 	(����$ � ��� ����� 
 ���,	�� )I� 
 � ��	 	D��GV���
� � ��� 	 �=� >*�h� � ������$ � �=� B
<���$"� � ��� �(� � � GV����- � ~"��� �=�<� ��~ 
 � � 	D��� 	(��G_�=� 1 �������2��� �
6 � &v� ����� �=�.}�~�� �	��� �,��� ����� �2& .h��� �=� �

0
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� � ����� ?�� ?�:=H�? �,?AB�@dD#�j� B��.H �

@ ��� ������� � �G� 1 �h���=� � �E��GV�=� ��.��=��� �2�
Ψ(r, t) = Aei(k·r−ωt) % 4��23 &

	(� ���=�������,������� �h� 	 ��� )j� �=$ � � ~�� �=� ��� � ���,�D�h�2G ��� � �����o�,��� ���h��� ��� � 1 ) ��� r′ �h����� � � � �
 � �,	<�(� ~ ��� � r′ 	 �=�;6 � ���J�h� ���,- � ��$ � ����� �=��� � ����� 
 �=��� ���

ψs(r − r′, t) =
A

′

|r − r′|e
i(k|r−r′|−ωt). % 4�� 4 &

� �F	 ��� � � �(4��23 � ��	 4�� 4�G_�=	 � � � �����
ω = 2πν, % 4��-, &

|k| = k = 2π/λ, % 4��%9 &

 ~8GV��� ν 	(��� >y� �	� � �=�(: 	 �=�
.��=��� � � ��	 λ �2� � ��.|��� ���=� �@.h� ������� � �*.|��� � 1 �h� �������
� � �=� � � 1 �h� ~8A���� 6
G(� ���h��	 }�~�� 	 ��� �j� ~8GV��GV�+My�(	 ���3� 	��%��� 
 �=� � |r| � |r′| �8� � �3�
	D�h� � $ �l� � 1 �h� �h� � �=� 1 �=�
� 	D����� |r − r′| �(��� ��: � $h~h�(�����h� ����� � � � � � 4"� 4 $E�h� �
	D��� ���
	 � �,���F	(� � 6 � �D��� 1 �E��GV�=� �=�+.|��� ���=�F� 1 ) ��� r }���� �=� ��& ����� � 
 ���,	 ��� : � �

ψs(r − r′, t) = Ase
i[k

′

·(r−r′)−ωt], % 4�� 0 &
�(� ���,� � ��� � k′ -D�h�,�h� ���=��: � 	 ����6 � �,G ������� � � �8���,�2��� � � � �#� 
 ~8GV��� |k′| = k �8����� � �
���
�b� ��� � � 1 - �2��� � 	 � As

�2��� - ��~8-_~h������~��D�h�?: � � 6 1 - �2��� � 	 � 	 �=� �=� ��& �h��� ���(	 �=� �b� ����� �
� � � � �D�h����~ : � Aei(k·r′) � � �����2��� � � � 4�� 0 
 ���,	 	D� 1 �����

ψs(r − r′, t) = Af
∆k

ei(k·r′)ei[k′·(r−r′)−ωt]

= Af
∆k

ei(k·r′−ωt)eik
′

·(r−r′)

= Af
∆k

ei(k
′

·r−ωt)e−i(k
′

−k)·r′

= Aei(k
′

·r−ωt)f
∆k

e−i∆k·r′

. % 4��1+ &
�
� ��� �(	 �=� � � � 	 ���+.��=� ���=� }��=$ � ~����HGV��	(��� �h�;	 � �,���F	(� � �b� � � �(� � � ��� �

∆k = k
′ − k. % 4��1/ &

� �=���j� ~�-_~�� ����~��D�h�2��� .x����& � $ � ~�� f
∆k

�2���j}�~ 1 �b� � � � ~8G ,���$ �?��G(� .l� �8� � �l��� 
 � �,	 6A� ~ 1 �
&u~�� 1 & ��$ � ~�� ���=�D�l� � � �

@ ���,� �=� 
;� �,	 � � � �
	(��� G_�=� r′ ���=��� � � � � ��.|��� � �
G_�G� ��� ��� � ����� �H� ��	 � ����� �b� � � � �
� � � � 1 �h����� 1 � ��� �o�,�2�����l� �j� �=� � � �����=� ���(	 � .|��� � � Ψs

�=���8��G � �,�2��� 	 � �,��� 	(��� � � �
-_���,-V~8�,� ��� ~h� �h� ���=� .��=��� �����

Ψs(r, t) =

∫

ψs(r − r′, t) 	 3r′. % 4��14 &
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.C����	 ��� 	D�R}�~h� � � � ���=� �=��	
�8	D�����I	 �=� @ �=~8G(����� � � � ��� ~�� � r

 ��� � }�~h� r′ ��� �,&u�=��� �������

� �(	 ��~ 1 � � k′ �l����$h~��������l� �?�h� �h�=� ~ 1 1 �=� 
 ���,	 ��� $E�h� �
��}h�=����� ��& ����� �?������� � � �84��-4
 �=�h�=� � � �(4��-+ : � �

Ψs(r, t) = Aei(k
′

·r−ωt)

∫

f
∆k

e−i∆k·r′ 	 3r′. % 4"�12 &
.��=�h�=� 	 �=�E� �����=� 1 .�A�� ����� �b� � � $ � � � ����� �����o�,�2�����h� �2�0$E�h� � 	(� � � � � �������x��� ~h� � � ���
�l���
� �(1 1 �l�,� ~�� <(GV�=�H�h��� ��6A� ~ 1 � 	 ��� �E����� ���h�����;� � �����=& <�� ��� 
 ���,	 ����� Ah�=	 �=� � � � �
� �=��- � �($ �(�@.��,� � ������� �h����� � � ���h�,$l~ 1 G(���D�l�,� ~�� 	 ��� 	 ����� � � � �(	 }h��$ � ~h� �=� 	 ���5�o���?�
� ���h��� �8� � � �=�,� a, b

� ��	 c 	D�h����� �=� ���=��� Ah�=	 � 1 	(�������=� � � � � ���,- � �($ � �;$���� � �=� 1 ��� ���=���
6A� ~ 1 � : � �h�=~���	 � ��� ����� �<� ��� � �	� �h�������=���l��� } : �(1 � ����� ���,- � ��$ � 
 � �,	 	 � �,��� 	(� �
@?���,�2��}��=$ � ~����=� pm

	D�h� �h����� �=����� ��6 � � � � �D4"�12 
 � ��	 	D�h� ���
Ψs(r, t) = Aei(k′·r−ωt)

∑

n1

∑

n2

∑

n3

∑

m

f (m)
∆k

e−i∆k·(n1a+n2b+n3c+pm). % 4�� 3 7 &
�H� �F� �(1 1 �l����~�� 	 ��� �J�h�(:=: ��� �2� ����� ni

���=� � <(GV�=� �l� � � � � � � ���,- � �($ � ��� 	(� � <(GV�=�
m ���=� ��<(G_��� �h��� � 6A� ~ 1 �(����� �=�0@ ���,�2�0	(��� : � 	(������� 1 � ����� ���,- � ��$ � ����� ������� 6 ��� �
)I���(� ��� ����:=�=��� ���F	 ��� � � � � �=�,�+��� �(	 �2	 �=� ���2�,���
�D��~ 1 ���+�2���;	(��� � �(1 1 �

F
∆k

=
∑

m

f (m)
∆k

e−i∆k·pm % 4�� 383 &
& < ���h� ��� 0X�=��� �=���h� ���2���
� F

∆k


 � �,	 �b� � � $ � � ��& ��$ � ~��E���=�D�l� � � ��.C� ��	 �=��� � � � ��4��23 7
� � � ���=$ � � 1 1 �����D��� ~6�=���8��GL�;�,����� �

Ψs(r, t) = Aei(k′·r−ωt)F
∆k

(

∑

n1

e−in1∆k·a

)(

∑

n2

e−in2∆k·b

)(

∑

n3

e−in3∆k·c

)

.

% 4�� 354 &
�H� �2�=� �(:��=� � �=� � �(1 1 �=� � � � � � 4�� 354 G�� ��	 �=� ����~ 1 ��� ��������� � B������ �=�
� ��� � $���� � �=�
�h���,��� � ~8��� �=� G_��� �=��� � ��� 
 �=�,	 �=��� �0��GV��� 
 ���,	 	(��� � �(1 1 �l�,� ~�� ,�� 
 ��� �2�P}�~�� 7 G(���
Ni − 1 � � �����=& <(� ���3� 
 ~8GV��� Ni

	(� � � �=��� 1 ��: � � �I	 �=� � ��� � �=��- � �($ � � � � B;����� � � � �
	 ��� �=� ����- � �=��� �=�(	 �=� � � � �(	L}���$ � ~��,�H�h� �8�2G � ��)I�H�2��� �

N1−1
∑

n1=0

e−in1∆k·a =
sin(1

2
N1∆k · a)

sin(1
2
∆k · a)

N2−1
∑

n2=0

e−in2∆k·b =
sin(1

2
N2∆k · b)

sin(1
2
∆k · b)

% 4�� 3�, &
N3−1
∑

n3=0

e−in3∆k·c =
sin(1

2
N3∆k · c)

sin(1
2
∆k · c)

.
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6 � � � � �D4"�23�,�&u~����h�;�h�2� ~ & < �+	(��� � � � �=���,���7.l� �

|Ψs|2 = |A|2|F∆k|2
[

sin(1
2
N1∆k · a)

sin(1
2
∆k · a)

]2[sin(1
2
N2∆k · b)

sin(1
2
∆k · b)

]2[sin(1
2
N3∆k · c)

sin(1
2
∆k · c)

]2

.

% 4"�23 9 &! � � ���,� � ��� � 1 �h��	�� � >�� $ � ~�� ����� � � � �E4��23�9#� ��~0:=�=� �h� �,�2���
� 	(���,� & < � ∆k · a = 2 � π �
∆k · b = 2 � π � �(	 ∆k · c = 2 �π % & < �C�J�h�(:=: ��� �2� ��� � � � � � & ,�� 
 �=� ��� 	 ���N��� �,�,- ������� ���6�
	 � >�� $ � ~�� 1 � ��� 1 �h� 
 ���,	��()������ � ��� 1���1 	 �=�
�j� ~"	 � $ � ��� ��� ���h�;�h�2� ~�& < �=�

∆k · a = 2 � π
und ∆k · b = 2 � π % 4�� 3�0 &
und ∆k · c = 2 � π

}�~��=� � ���;	 ���
� �+My��������~�� 	 ��� � � � �(	 }��=$ � ~����=� 	 �=��� ��:=��- ��~8$h��� � ����� ���,���
A = 2π

b × c

V

B = 2π
c × a

V
% 4"�23�+ &

C = 2π
a × b

V
,


 ~8GV���
V = a · (b × c), % 4�� 3�/ &

	D���+�+~�� ��1 ��� 	 �=�
)I� �(� �����,�,:��=� ���0��� �3�($E�h� � � � �(4��23�0 ��1 ���=�,��� ��� �=G_��� 
 �=��	 �=� : � �
∆k = � A + � B + �C, % 4�� 3�4 &

	(� �=�+�����;	�� �$� � � �=G_�=	(� � � � � �#�D	��%��� ∆k ��� �;	D�h� �.�=� ��� ��:=��- ��~8$h��� � � � � ����}h��$ � ~��=�
H = � A + � B + �C = ∆k. % 4�� 3�2 &

6 � � � � �D4"�23�2�&u~����h�+	(��� �=$ ���
k′ = k + H. % 4�� 4�7 &

	 � ��	 �,���=� � 1 �h� � � � 4�� 4�7 � �(	 G_���,<(��$!������� �����h�3� 	D���,� G_�=�L��� ��� ��������� �=�I�b� ��� �(� � �o�8� � � �
|k| = |k′|, k2 = k′2. % 4"� 4�3 &

	D�h� ���=��� .h��� 1 �h� 	(���������
	
	���E�
�FHG�	��6G�	 � � �+��$ � ~h��&u~�� 1 �

2k · H + H2 = 0. % 4�� 4�4 &
�
� � @0���h����G_�=	(� � � � � � GV��� ��� 1 1 � & < � 
 �=�2��� � 6 � ��G � �=��� � � �8���,����� � � � � 	 ��� ��� ��& �h�?�
� �=��	 �=� .|��� ���0	(� ��B��+' ��$ ��� }�� � .l� 1 � ��� 1 �h����� � �
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k

k
H

dH

dHsin

(a) (b)

� 0�0G;���;�� a�PR����'$�&
(���n
(	�! "r/�����u3
(�
��'��#��! ����
(�
	��#; v � w �@	��I�,	�"�] �������,"$/�� � �������U��	5
d/���� � �,������"3C#��)A
(!#�
k�(.�����	�����
</���" �-	�"�) �,�

θ
��	�
q/��,� 4 	�
&
(�,�(�,02�,"��I�,	�"<; � 	��U� �,�&
(�
��'�
(� � �������U�B	�
q/��,� � �,������"3C �,)A
(! �

k′��07��"�] � ������; � 	���� 	�� ���
��"$S�/����?02�,	�/���" � ��������"3C �,)#

! �
��"*	��&

H

; v_0 w uA

�(�,'�'�"�����"�S�8:��	 s$� �
� ����������"
4 	5
(
(���
��07��"$��"G; � 	��%��	�"�] �������,"$/��," '$"$/ � '$�&] �������,"$/���" � �������," �
.�����	��	� �," /��," �-	�"�)#���

θ
��	5
c/���"

4 	5
(
(���
��07��"$��" �,	�"<; � ��� � 0$�&

� "$/ /���� 4 	5
(
(���
��07��"$��" 	��&

dH

; � 	�� � �,�#/�	
�7�,�(�,"�Sc07��	�/��,� � �������,"02��
(��p���
6	�"$�(� �,�
���c
��
dH sin θ

;

6 � � � � �(4�� 484 &u~�� �h�?& < �+	(� ��@0��� �/.h����	 ���;�+�=$ � ~����=� k
� �(	 H �

H = 2k sin θ, % 4"� 4?, &
	(�h�,��� ����� θ 	 �=��.C���($h��� : 
 �2�,��� ��� 	 � 1 .��=� ���=� }��=$ � ~�� k

� �(	 	 �=� ���+'y�=$ ��� ��� ���6�
	 �=� � � � � ��� �=G_��� �=� 
 �=����� �F���=�($ ������� � � � & H ��� ��� ����� � � 6HG(G���4"�23 % � & �2��� 	(�������
� � � � � ����~ 1 �G� ��� � � ��� � � � ��� �=� � ���L���,:�� 1 �h� � � �D4��%9 � � � � �D4�� 4?, ����� 	D�h� � &u~�� �l� �

2dH sin θ = λ, dH =
2π

|H| .
% 4�� 4 9 &

�H� ����� � � �=����� � � ��}��=��G(� ��	 ��� 	�� � .|��� � ��� �=.l� ��� � �(	 	 �=� )I� ��& �h� �2� 
 � ��$h�=��	 ���I�=� �6�
& �l� � ���(	 ���F.��=��� ��& < � 1 � ��� 1 �h��� B ��'y��$ �,��}"���7.l� � � � � � ��4"� 4 9 �D�l� dH

	(��� �
� 1 �=�(���?�
~h������� �=� ��.l� ����� 	(����� �2��� 	 �=� 6HG(�����h�(	 dH

	 �=� ��� ��� � ���(	 ��� � ����� ��� ��GV�=� �=��� � �
6HG(G��04��23�% G & �2��� 	(� �����=~ 1 ��� �,�2�,��� � @0��	 � � � � � � }h~�� � � �H4�� 4E9�����:������h� �
)�� �����
: � ���,$l�=� � ���
�;	D�����F	 �=� .|��� � � � ���,�����(� �=	 : 
 �����=�F�h�CGV�=�D�����!GD�l��� ��� � ����� �=����GV���
� �=�-����� � ��� � � �=� .|��� ���=� � ��� ���=��� 1 � 2dH sin θ GV��� �7.h�h��� � � ��� 1 �l� � B��+' ��$ ��� }�� � .l�
�2� ���h�
	(��� �=�o�h�=�D� � 	(�h� � }�~h�D� 
 �=� � 	(�������=�
.��=� � � � �=���,���(����	 	 �=�0.��=��� �=� �=.h� �h� λ��� ���,- �,����� ���
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 	 9;:G?����nH.D � :�<>�j�.?��&�.?�FE@N:�?
� � 	 ����	� b�D� 1 ���,��� �=� �+� �=~���� � 
 � ��	 	(��� �b� ��� �(� � �5�=� � ��� �=G_��� �=���=����$ � ��~ 1 �l��� ���
��������� �=� .��=��� � �l� �=� � � 1 �o�,�2�����h� �
�h�2� �b� ��� �(� � � �h� ��� � � 1 �	��	(� �(1 �/. �(1 ���2���
-_���,� ~"	(�2�,��� ���
� � �,:���- �,��G(����� � .l� χ G_�=�,��� ��� �=G_�����

�H� ���
�2�,$ � �,��� ~��	�=� &u~�� �h� � 1 
 �����=� � �2����� ���5�D� ��� ��� }! "	�#%$h~8% 4�787�9 & �
���	�
��� 
������������������

6 � ���J�h� �8��- � �($ � �,���(	 	�� � 1 � $b��~8�,$l~8-(�2�,��� ���:� � � 
 �=���?� � � �=����� � � �h�=� � � 	(���X��� �=� �
��� ��� ���=� >y~�� 1 �

∇ · D = 4πρ % 4�� 4@0 &
∇ × Ĥ − 1

c

∂D

∂t
=

4π

c
j % 4"� 4?+ &

∇ × E +
1

c

∂B

∂t
= 0 % 4�� 4?/ &

∇ · B = 0, % 4�� 4?4 &
�(� ���,� � �,���(	 D 	�� � 	(���=����$ � �����,��� � �+�=���,���(����G � � �#� E 	(� �n�=� �=$ � �,�2�,��� � >f����	(� � .h��$h�2�
Ĥ 	(��� 1 �h��� �G��������� � >y�=�2	(���7.h�,$l� � �(	 B 	(� � 1 �h�h� ���,���,��� � � �(	 � $ ����~��
���,� �=� � :�� @
� �
A8����$!� ~�� % 3�2A/?0 & �I�H� �(� ��	 � � ���,	(�2��� � � ρ 	 ��� &u�������=� � � 	 � � ����� � �(	 	(���F�b� ��~ 1 �
	(����� � � j 	 ��� &u� �����=� �b� � ~ 1 ��� �,���(	 	(� � ! ��������� ��� 	 �=� >y����	 ����� >f����� G_�=	 � � � ����� �
	(� �=� � 1 0 � �,� 1 1 �=���D�h� �#� 	D������	(��� � ��	 � � ���=� � �(	 	�� � � � �/� 1 �s�(����� � �h�|��� � �=�
G_�=����� 1 1 � �=� ) � ������G � �(	 �=� �,���(	��)I��� �E��GV�=� � 1 ~�� ~"��� � ~ 1 �l�,���,��� �o�=� �=$ � � ~ 1 �h�h� ���,���,��� �0.|��� � �

E(r, t) = Eei(KH ·r−ωt) % 4"� 4?2 &
� ~����f}h~��2�=� � � 1 -V�=� &u��$ � ��� )I� �($ ���������h� �y�h����� � � � � 
 �=�,	 �=��� ! 1 	(� �
� � 	 � 1 �o�,�2�����h� �
�h� ����� �=�l� � .|��� ��� D(r) :

� �=���D�h��� �=�
� 1�� �,�;&u~������=�(	 � � �����2��� � � � ���=� �8��� 
 �=��	 �=���
(−∆ − k2)D(r) = k2χ(r)D(r), % 4��-,87 &
 ������� �
�,�2��� � � � 	 �=� � � � 
 ��� �;� � � ���2��� � � �����6��� �8�2G � �E.|�=� � χ(r) -V�=��� ~"	(������� �����D�8��� �

	(� �$� �8� � � � 	(� �=� �=� � � �=����� � � � �=� � � @ ��~����6� .|��� �����
D(r) =

∑

H

DHeiKH ·r % 4"�1,�3 &
KH = K0 + H. % 4��1,84 &

�
� � .��=� ���=� }��=$ � ~����=� K0

� ��	 KH
G_�=:�� �=� �=� �,����� � � &?	(� � ������& �h��� �=��	 � G(: 
 �C���*�

��� ��� � � �?.��=� ��� ��� � ���,�D�h�2G 	 �=� �o�,��� ���h�����=� �
� � >f~ � �,���=� B �=��� ��� �=� � 
 ����$ � � � � 	 ���I� � �4�
:=��-L����G�� ��� � .l�D� 
 ������� � 	(� �=� ����GV���N�=��� ~"	(��:=���7.l� 
 � � 	(�����E����� ���h��� �8� � � ��� �(�l��� � � � �����

χ(r) =
∑

H

χ
H
eiH·r. % 4"�1,@, &



��� � � ����� ������� � ��
������ �
����� � ��� 3�3

�H� ��>y~ � ��� �=�L� ~ 1 -_~�� �=� � ���F	 �=�H� � ��:=��-L����G�� ��� � .l� �,� ��	F	 � �,�����

χ
H

= −reλ
2

πV
FH ,

% 4��-,�9 &
�h�=���=G_���
�D	D�h��� � �2��� re

	 �=�;$ � �����,�2�,��� ��)j� �=$ � � ~h� �=� �,��	(� � �����L�G��:G� 1 �h� 	�� � B����2� �=�6�
��� � 
 ����$ � � � � � � � 4��-,@, : � �,� 1 1 �=� 1 � �
	 � 1 � �8� � � �8�,�h�(���x��: � � � 4��-,�3 ��� � � � 4��1,�7
�=� �
��� ~6�=� ����G �;���������

K2
H − k2

0

k2
0

DH =
∑

L

χ
H−L

DL,
% 4��-,A0 &

��� �=��� � ����� k0
	 �=�H.|��� � ��� }���$ � ~�� 	 �=� ��� ��& �h� ���=�(	 ��� .��=��� � � 1 � ��$ �(�(1 � 	(��� � ��1 �

1 � 
 � ��	 <(GV�=���h��� �(����:��2- � ~�$h�=� � ����� �=� }��=$ � ~�� ��� L � � � ��� & <(� ����� �0� H GV�=�2� ��G�� ���
.��=� � � �h� � �=� 1 ��� $E�h� �<� � � ��� ��� � � � 4��-,A0������ � � D ����� � �l� ��� � � �=�(	 �2����� �=� � � �=�?�
��� � � �8�,�  �� � � 1 	D�h�=� � �h� $E�h� � �h� ���=��	(� � ���I�h� � �=� 1 �=�
�"	D����� ��� � � � & < � n � �=:���- � ~2�
$l� � � � � �=��}h��$ � ~h� �=� H �"& < � 	(��� K0 ≈ KH

�8� � �3� ����� �=��� �=� � ���(� 
 �=� � ��� @ �=��� �,�h� : �
	 �=�
� �(1 1 �0� � � � �(4��1,@0I�8��G ��� % KH ,K0

� �(	 H ��� �(	 <(GV�=� � � �(4��1,84#}��=��$ �"<�-�&v� � &
.C���,	 � � �D4"�1,A0���$ �l� �h� 1 ��� KH

1�� �����2- ���2:����=���D�J� ~ &u~�� �l�+	D� 1 �����
0 = (k2

0 −K2
H)(KH · DH). % 4��-,@+ &

�
� � � �h� ���(� k2
0 −K2

H 6= 0 �8�����D�(&u~�� �h�H�h�2� ~ KH · DH = 0 ��	��%��� D ��� � �=� � � �N�,�h�(�4�
}h�=�����h� 
 ��� � � ���H� ������� �2��� � � ���2�=� � �
>f~h� ���
	 �=� 6 � �(��� 1 ���"	D���,�?$h����� �H&u�������B� ��	 � � �
� 1 � � � �=� ��� 	 �=���E����� ���h�����0}h~��,�(�h�(	 ��� ��� �3� � � �D4�� 4?0 
 � �,	F	D�h� �F: �

∇ · D = 0 �
�
���(�����(:=��� � ���8�N�,�h�(��}h�=�����h� 
 ��� � ��� DH

$2��� � ��� ��� : 
 ���I���=�($ ������� ��� � &u�����D�h�6�
	 �=�,� � �=� �=�(	 � � ~ 1 -_~h� �=� � ��� :��=� ���=�h� 
 �=�,	 �=��� �
� � G_�=��	 ��� � ~ 1 -V~�� ��� � �=� � ~���� �=�
-(�h���h��� ��� : � 	 ��� )I� ��� ��� ����}h��$ � ~h� �=�

sH =
eH × e0

|eH × e0|
% 4��-,A/ &

pH = eH × sH
% 4��-,@4 &

�������
�5	D��GV���J��� � eH
	 �=� )I� �(� �=���,��}��=$ � ~�� � � B
�2��� � � � � }�~�� KH

�5� ��� )I� ��� ��� ����}h��$ � ~h�
��� B;����� � � � �s}h~�� K0

�2��� e0
�*6 � &�	(������� .����2� � �=�,�#.h��� 1 �l� 2n

� � �=����� � � ����� 1 ���
	 �=� 2n ! �!GV��$E�h� � � ��� DGs

� �(	 DGp
�

∑

L

χ
H−L

(

DLpπ
pp
LH

+DLsπ
sp
LH

)

= 0 % 4��-,@2 &
∑

L

χ
H−L

(

DLpπ
ps
LH

+DLsπ
ss
LH

)

= 0. % 4��%9J7 &
)I� ��� � DHp = DH ·pH

� DHs = DH ·sH
� πpp

LH
= pL·pH

� πps
LH

= pL·sH

� � 
 � � � �=�?�
��� � � � 4��-,@2 � �(	 4��%9J7 �,���(	 	(��� & � �(	D� 1 �=� ���h� ��� � � �=����� � � ����� 	 ��� 	� L�(� 1 �2�,��� ���
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�+� �=~���� �2� ��� � G�� ��	 �=�5�=� � � ~ 1 ~h���=� �=� �2� � ���h� �=� � � �=����� � � �8���� "��� � 1 	 ����� �=�K� �8� � � �
� � � 	D�h� � �(����� � � �,� }����h�!��� �3� 
 ��� � 	(� �?� ��� �=� 1 ���D�h� � � 	 �=� � ~L��� :�� ��� � �=� 1 �l� �,�;�E}��=�4�
�,��� 
 � �(	 ��� � 	 � ��	 ��� ����� 1 �h� � � � 4��-,J46� � ~F$E�h� � K2

H = K2
0 + H2 + 2K0 · H ���

	 �=�
� �G� �=� 1 ���D�h� � �o���,������:G� 
 �=��	 �=�<��	�� ����������� 	D�h� �.}�~��F	 ��� ) ��	 � � � � 4n � � K0
�

�
� � 4n % 	����,$ ����� ��� & .��=� � � & < � K0
�*G_�=� 	 �=� ��� 	(� � � �G� �=� 1 ���D�h� � �E}����,����� 
 ���(	 �G�3�

�=� �h��GV�=��,�� 
 �=� ��� ����� �=� ���l�,: }�~h�	� �8� � � ���=� (DH1s , . . . , DHns , DH1p , . . . , DHnp)
�

! 1 	(� �#������$ � � � �8� � � � & < �
	�� � >y�=�2	 �=�H� � � �=�,�(�h��G � �(	 � � A����,�D�l��G 	 �=�$�o�,��� ���h�����
: � �=�,�(�h��� �=�
� 1 <(�,���=� 	�� ���h��� ��� 1 �=� � ��� BH�l�(	(GV��	(��� � � � �h�=���

(D2 − D1) · en = 4πσ % 4�� 9�3 &
(B2 − B1) · en = 0 % 4�� 9J4 &

(E2 − E1) × en = 0 % 4�� 9@, &
(Ĥ2 − Ĥ1) × en = −4π

c
J % 4"� 989 &

�=��& < � ��� 
 �=�,	 �=��� �
��� � �(	(�2:=�=� G_�=:�� �=� �=� ������� ,�� 
 ������� � � &0�=� �8����	(� �(1 � en
�2��� 	 ���

>d�=.���� �=� � ~h� 1 �h� ��� �����(� ��� ��� }���$ � ~�� 	 ��� � ���=�(:�' .���� �2}h~�� �	��	�� �(1 3 : � �	�=	(� �(1
4�� � � 	 �=� 1 ���2��� �=� > .h��� �=� $E�h� � �h� ���=� ~ 1 1 �=� 
 �=�,	 �=�
� 	D����� $l��� � � &u����� � ) GV�=�4�' .���� ��� � ��	 � � �8��	(����� � � σ � �(	 $l����� � &u������� ) GV�=�1' .���� ���(��� � ~ 1 	(�2��� � � J }h~��,�D�l�6�
	 �=� �2��� � �0� 	�� � B
�h�(	�G_�=	(� � � � � ����� :=�=��� �2����� � � ����� ���=�,��� �/.h�($ ��������� ��� 1 <(��� ���
�
�,� ��	 	(��� >f��� � � ���(:=��� 	 �=��.|��� ���=� � � G_�=��	 ���:�	�=	(� ���|�������2���
� � � A����,	 � 1 �,- ��� � �l�
	(� � � �h� ���=� �����h��$l~ 1 -_~�� �=� � � 	 ���0.��=��� ��� }h��$ � ~h�,�0GV��� 1�� G_��� �J�l� �2�(�2��� ����> < �
	(���
� �h� ���=� �����h��$l~ 1 -_~�� �=� � � k0t

	 �=� .��=� ���=� }��=$ � ~���� � � Ah�=�,�(�h��G 	 ��� �o�,��� ���h����� � �(	 	(���
� �h� ���=� �����h��$l~ 1 -_~�� �=� � � K0t

	 ��� .��=��� ��� }h��$ � ~h�,� ��� � �=���D�h�2G 	 �=� �o�,�2�����h� �2��&u~�� �h�
� ~ 1 �����

k0t = K0t
% 4"� 9�0 &

0 � ��� 1 1 �=� 1 � ��	 �=� B
�h�(	�G_�=	(� � � � � ����� � � � 4��%9(3+�'4��%989 � �(	 � � � 4��%9�0 $E�h� � � � �
	 �=� � � �?4��-,@2 �?4�� 987 	(� � 6 1 - ��� � � 	 � 	 ���2���=��� ��� � � �=�C.|��� ��� GV�=������� � �G� 
 ���,	 ���
�
 ��� � 	(��� 	 �=���=� ��& �h��� ���(	 �=� .��=��� �0GV��$E�h� � �
�2��� �
���	�
� � � � ����� �
	���
 � ������� � ���

@ ��� ������� � �G� 1 �h� 	 �=� >��l� � n � 3��"��~ GV��� ������� � ��� 1 �h�6������& ����� �;�+~�� 
 .h� ���,� � ��� �(� � �(�
�
� �;@ �G� �/.h���+	 ����.��=��� ��� }h��$ � ~h� �=� � � � �=���D�h��G � ��	 � � A��=���D�h��G 	 �����o�,��� ���h����� � � � �=�4�
�,��� �=��	 ��� �,�2��� � 1 >*�h���N}h~�� BL��� � �h�=�(� � ��� � � � � �	� � ��� � 	 �=� � � �8A���� ~��,	 � � � ��}h~��
. 10−4 �(	(��� �=�;$E�h� �F	 ���
6 �(���x��:��

K0 = k0(1 + δ0)
% 4"� 9A+ &

��� 1 ����� � 
 ���,	 ����� �
�h�,��� �2��� (1 + δ0) = (1 + Re(χ
0
)/2 	 ���
@ ������� � � ���,� ��	 ��� �V�=�

� � � �=���,��� �=��	 �G�0��������� � � �h�=�,��� ��& < ��� �(}�~h� 39�D��~ 	(���,�;& < �+	D���H@ �G� ���l�8� � � ��	 ���l�
	(���



��� � � ����� ������� � ��
������ �
����� � ��� 3.,

C .�� ��� � � ���
K2

0 ≈ k2
0(1 + 2δ0)

% 4��%9�/ &
�l� ���=� ~ 1 1 �=� 
 �=��	 �=� $E�h� �����
���	� �l� ���=� �,� �h�2$h~ 1 -_~h� �=� � � 	 �=� .|��� ���=� }��=$ � ~�� ���
�2��� ��� ���,� �#�8	 � ���J& < ��	 ��� .��=��� �=� }h��$ � ~�� � � Ah�=�,�(�h��G 	 �=���o�,�2�����l� ��� k0

� ��	 � � � �=���D�h��G
	 ��� �E����� ���h����� K0

$E�h� � &u~�� �����(	 ����0 � ��� 1 1 �=�(�D�l� � �h� ����� ~ 1 1 ��� 
 ���,	 �����
K0 = k0 + Λen,

% 4��%9A4 &
��� �=��� � �2��� en

	 ���P� ~�� 1 ���=� � �5C ~�� 1 �h���=� }��=$ � ~��0	 ���$�o�,��� ���h��� ~8GV�=�1' .���� � �*6 � � 	 ���
� � ��4"� 9A+6��4��%9�/ � �(	 4��%9A46�=�,�#.h��� 1 �l�5����� � � � � 	 ���l�,������� � � � ���2��� � � � & < �H	 ��� � � �
�,� 1 ��� ��� Λ �

Λ2 + 2γ
0
k0Λ − 2δ0k

2
0 = 0, % 4��%9A2 &

1 ��� 	 �=�F: 
 ����� �8� � � ���=� �
Λ1 = −γ

0
k0 + k0

√

γ2
0
− 2δ0, Λ2 = −γ

0
k0 − k0

√

γ2
0
− 2δ0.

% 4��10�7 &
�
��G_�=� ��� � �

γ
0

= k0 · en/k0
% 4��10�3 &

	 �=��� ~8��� � � �I	 �=�j}�~�� k0

� �(	 en
��� � ��������� � ~8��� ��� �=� .C� �($l�=���=� � ��� � � � 	(����� ���I.C� �6�

$l�=�0��� � ��������� �=�(	 
 ��� �2}�~h� 287 ◦ ��� ��&u�=��� �D�+�h�2� ~|}h~ 1 � � �����2&u���(	 ���C)�����& �h��� �I� ~ �����
γ2

0
� |δ0|

� �(	 	 �=� � � ��	 �,�l���2�,��� � �C�=� 1 � � Λ $E�h� � ��� � � � 4��%9A2.}��=���D����� �@.��,��� �h�
 �=��	 �=� � �H� ��	D�h�,� � ��� �=� � � ��� ��� ���(	 �o�����(:������$� �8� � � � & < � Λ ��� � � ��� �

Λ = k0
δ0
γ

0

. % 4��1084 &
> < ��	(� ��.��=��� �=� }h��$ � ~����=� � � A����,�D�h�2G � �(	 ��� � ���,�D�h�2G 	 ��� �o�,��� ���h���d��� �8�2G ���,�2��� � �
	�� ����� 1 >*�h��� �

K0 = k0 + k0
δ

0

γ
0

en.
% 4��10?, &

�
�	�
��� � � ����� � � 	�� 
 ��� ����� �����

@0��� 1 �h� ����� 1 ����� �=� 0 
 ���;� �b� ����� � & �h� � 
 � ��	s�����D� � ��� � � �=� ��& �l� � ���(	 � � ��	n�����D� � �=� � �
�h����� � � � � � .|��� � � GV��� ������� � �G� � )�� 
 � ��	 <(G ������� �=� 
 ���2� � 	D�R}�~�� � � � �����J�h� �h�=�
� 	D�����
� 1 
 �=� �=� � ������� �=� D0

� �(	 DH
: � �2�=����$ � �����,��� �=� �+�=���,���(����G � � � ��� � ���,�D�h�2G 	 �=�

�o���������h� �2�0GV����� ���h�h�=��� D0
��� ��<(GV�=� 	(� � B
�h�(	(GV��	(��� � � � ���=� 1 � ��	 �=�E�=� ��& �h��� ���(	 �=�

.��=��� �;� � A��=���D�h��G 	 �=���o�,�2�����h� �2�N}����,G � �(	 �=�<��� ~ 
 ��� DH

1 � ��	 �=�+���=��� ��� � � �=� .��=��� �
� � A��=���D�h�2G��(6 �(�h� ~�� : �(1 )I� � � �b� ����� � & �h� � 
 �=�,	 �=� &u~h� �����(	 � 6 � �D��� 1 �=����� 1 ����� � �

K0 = k0(1 + δ0)
� �(	 KH = k0(1 + δH) % 4��10 9 &

K2
0 ≈ k2

0(1 + 2δ0)
� �(	 K2

H ≈ k2
0(1 + 2δH). % 4��10@0 &
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� �h� $E�h� ��� � � � � ��� & < � 	�� ��������& �h��� �=��	 � .��=� ��� 	(��� �N~����h�,�2���l�,� ~��(� }��=$ � ~�� ��� s0� �(	 p0
��� 6 �D�l� ~��8��� : � 	 �=� � � � 4��-,A/6� 4��-,@4 	 ��My�(���=� ����� . . � ��� 1 �h� 	(� �=� ��	(�h� �

� ~#� 	D���,��	(��� �+��$ � ~�� ��� s0
� sH

� ���($ � �=��� � � �(	 p0
� pH

-D�h�,�h� ���=� : � �0	 �=�P}�~h� K0� �(	 KH
� � &u������-D�h� � � �=� � � � � � ��GV�=� �#�2� �=�h�=�
�(��~ �������

s0 · sH = 1, p0 · pH = cos 2θ
� �(	 s0 · pH = sH · p0 = 0. % 4�� 03+ &

KH� ���,��� ��� � θ 	 �=�;)I����& �h� �2� 
 ���($h��� � � & 	�� �0� � � � � �=��	 �=� )�GV�=� �=�
�D	(���0	 � ����� H 	 ��M �
�(� �����;�,���(	�� �F���;	 ��� C .�� ��� � � � � � �D4"� 0@0 
 ���,	 � � �*4��-,@2�: � �

(χ
0
− 2δ0)D0p + (χ

H̄
cos 2θ)DHp = 0 % 4�� 0?/ &

(χ
H

cos 2θ)D0p + (χ
0
− 2δH)DHp = 0 % 4�� 034 &

� �(	 � � �D4��%9J7 �=.������;������� �(1 &u~h� 1 �=� : � �
(χ

0
− 2δ0)D0s + χ

H̄
DHs = 0 % 4�� 032 &

χ
H
D0s + (χ

0
− 2δH)DHs = 0. % 4��1+�7 &

�
� � >y~ � �,� ���,$l~ 1 -V~�� ��� � � χ
H̄

= χ−H
�=���,��� �=� � �
� � 	 ��� � �����2��� � � ���=�<� ~8G 
 ~8� ��	 ���

� � � � ����}h��$ � ~��+� 	 ��� 	(� � �b� � � �(� � � G_�=�,��� �����2G � +H ��� � �?�
� �=�F�2��� 	 �=�F>*�h� � � 
 �����
� � &I	(������� .���������� � ���8�	��� ��& �����(� � ��� �(� � ���=� GV�=�,<���$"������� �����h� 
 �=��	 �=� ���
��� s

� �(	
p � ~ 1 -_~�� �=� � ���-}h~�� D ��� �(	-� � �-�=� ��$l~8-(-V�=� �3�I� � A��=��	 � 1 � � � �=���,��� �=��	 ��� �������
	(� � � � �=����� � � �h�=� & < �I	(������� ��:=�=��� �=� �C~�� �h�����,�l����~��(� ������� � � � ���=� ����	(�������2����	 � ����� 	 �=�
>�� $ � ~�� cos 2θ G_�=� χ±H

�
� ���
	 � 1 ����� � � �����h�(�,�l��: K0 = k0 + Λen
� �=� � � � 4��%9A4

�=�,�#.h��� 1 �h���
Λ =

k0δ0
γ

0

. % 4"�1+�3 &
� �h���=�,�#.h���+	(�h� ���

δH =
1

b
δ0 +

1

2
α. % 4"�1+J4 &

� �=�������2I�I E�� �*F E�� ������I E�� E � b �����;	 � �,�����

b =
en · k0

en · (k0 + H)
=
γ

0

γ
H

, % 4"�1+@, &
���=���=G_�����*� ����� �
	 E�F���
�� G�	���� ������I E��4E � α � � � � �G� �

α =
2k0 · H + H2

k2
0

. % 4"�1+�9 &
� ��������� � � �F4��1+84 � ���,:��o}h~���� � �D� 	D����� b = 0 ~"	 ��� b = ∞ � � � �h���,��� � ~8��� �=� 
 ���,	 ���
1 <(�,���=��� �
� �=� � > .h� ���E�=� ����- � �=��� �=� 	 ��������� � �l�,� ~��
��	D���,�
	(� � ������& �h� ���=�(	 � ~"	 ���
	(���
����� � � � � � �;.��=� ���+�,�2��� -D�h�,�h� ���=��: � � ) G_��� ' .���� �
� � �,G ������� �������H� �����0�"-_�=:�� �l�2& .h��� �?��~��?�
� �=� ��� �=�o������� ��G_�=�D�h�(	 �=��� 
 �=��	 �=� � �H� � � �G� �=� 1 ���D�h� � � 	 �=�$� ~b� � :=� �=� � �=� 1 �l� ���?�



��� � � ����� ������� � ��
������ �
����� � ��� 3�0

	 �=� � � � 4��10@/ � 4"�1+87 1�� ���P}��=���,��� 
 � ��	 �=�
� 	D� 1 � � �=�o�(����� � � �,� }��l� �5� �8� � � ����� & < � D����G ���D�0�h�,� � ���=���8��G � �,�����F	(��� � ��������� � � �(�

(2δ0 − χ
0
)

(

2

b
δ0 − χ

0
+ α

)

= C2χ
H
χ

H̄
. % 4��-+A0 &

> < �
	(��� s �'�C~�� �h�����,�l����~�� ����� C = 1
� �(	 & < �H	(� � p �'�N~h� �h�������x��� ~h�	�8����� C = cos 2θ �

6 � � � � �*4��-+A0 &u~����h� �

δ0(1) =
1

2

(

χ
0
− ζ +

√

q + ζ2
)

, δ0(2) =
1

2

(

χ
0
− ζ −

√

q + ζ2
)

, % 4��-+@+ &
�=�;�����

ζ =
1 − b

2
χ

0
+
b

2
α % 4��-+A/ &

q = bC2χ
H
χ

H̄
. % 4��-+@4 &

� � � � � � 	(� � � ��� �=� 1 ���D�h� � � ��� �=�����(C � � � �D��~n��� �8�2G �
�,����� 	(� � � �8� � � � & < �
	(��� ��� �=$��
� �,�2�,��� ���F�+���,�,����� ��G � � ����� G(���;� � &d�=� � ��� $l~��(� ���h� � ��� >*��$ � ~h�+: � �

xs =
DHs

D0s
=

2δ0 − χ
0

Cχ
H̄

. % 4��-+@2 &
6 � � � � �*4��-+@+(�=������GV�=� �,�2��� 	(���$� �8� � � ���=���

x1 =
−ζ +

√

q + ζ2

Cχ
H̄

, x2 =
−ζ −

√

q + ζ2

Cχ
H̄

. % 4��1/�7 &
Ah�G��:G�
$E�h� � 1 �l� 	(����	(� ��� ��$ � �,������� �=� �+�=���,���(����G � � ���=� 	 �=� ��� ��& �h� ���=�(	 ��� G(: 
 �*	 ���
�h����� � � � � ��� .��=� ���0� � � �=���D�h��G 	 �=���E����� ���h����� ����� � �=��GV�=� �h���=�

D0 = (D0(1)e
−iφ1z +D0(2)e

−iφ2z)ei(k0·r−ω0t) % 4��1/�3 &
DH = (x1D0(1)e

−iφ1z + x2D0(2)e
−iφ2z)ei[(k0+H)·r−ω0t]. % 4��1/84 &

�
��G_�=� ��� � z = en · r 	(����)����(	 ��� � �h�,� � &u�
	 ���;.��=��� � ���F	 �=���E����� ���h��� ��> < � φ �8����� �
φ1,2 = (k0δ0(1,2))/γ0

. % 4��1/?, &
� � �,��� 	�� � BH�h��	(G_�=	(� � � � � ����� � � � 4��%9(3+�'4��%989 �,� ��	 	(��� 	(���=����$ � �����,��� �=� �+���,�����(� �*�
G � � ����� 	 �=�A�=� ��& �l� � ���(	 ��� .|��� ���H��� � �=���D�h�2G � �(	 � � A��=���D�h��G 	 ��� �o���������h� �2� 1 � � �����6�
�l�(	 �=�j}h�=�,$ �!<(-�&v��� � ���=�h� 	(� � ) GV�=� ' .���� �=� � ~�� 1 �h���+� � 	 ���?� � � � � ��GV�=� ���!� ~��,���(	 	(� �
s �4� ~ 1 -_~�� �=� � ��� }h~�� D -D�h�,�h� ���=�": � ���o�,�2�����h� ��~8G_��� ' . ��� � � ��	 1 �h� $E�h� � 	(���
�b� �*�
�,� �8$l��� � 	 ���-� �h� ����� ��� �l��$h~ 1 -V~�� ��� � �6}h~�� E %u}h�=� �h� � � � � 4�� 9@, & GV�=� � �,:=����� C � ��:G�
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Laue-Fall Bragg-Fall

d

z2

z1

� 0�0G; ��; ��a 4 ��! ����
(�
	��K/��J�6o<��'$�MD�'�"$/ /��J�6H:�
� � ��DRN$� �����

1 �h� 
 � �=	 �=� � � �
	D� �,� 1 + δ0 ≈ 1 + δH ≈ 1 �8�����3�D��~��=���8��G �H�,�2��� � � �0	 �=� ���,� � �=�
BH�h��	(G_�=	(� � � � � �(�

D0(1) +D0(2) = Evac
0 , % 4"� / 9 &
 ~8GV��� Evac

0
	(��� 6 1 - ����� � 	 �I	 ���N�=� ��& �l� � ���(	 ����.��=��� ��� 1 � ��$ �(�(1 ��� � �5�
���?B
�h�(	�G_�*�

	(� � � � � �#� 	�� �j� � � 	(� �j���=��� � � � � ��.|��� � � � � � ���,�D�l��G�	 �����o�,�2�����h� �2� 1 � ��	 ��� � � A����,�D�h�2G
}��=��G(� ��	 ���D�D$ �l� � : 
 �=� >f~h� 1 �=� �h� � ��� 1 �=���
, 
�� + � ��
@� C9� ��� �
� ���h����� � � � � � .|��� ���5}���� �=. �,���F	 ��� �o���������h� �
<(GV�=� 	(��� � � � ��� �

>d�=. ��� ����& < �+	(� � en · r = z2
��� ���D��	(�h� �F����� b > 0

, 
���� �)� �O�E�IC9� � � �H� �5�h����� � � � � � .��=��� ��}���� �@.��,� � 	 �=� �o���������h� �+<�G_��� 	(���	~8GV�=���
>d�=. ��� ����& < �+	(� � en · r = z1

��� ���D��	(�h� �F����� b < 0 �

@ ���2	 ��> .h��� �0��� �(	 � � 6HG(G���4�� 4��,$!��:=:�� �������*�
� � � ���,� 1 ��	�����$h� 	 �=� �o���������h� �2�?�2��� d =
z2 − z1

�D� �=�
>*�h��� �"	D���,���=� � � 	 ���+.|��� � ��� �,�2���F-(�h���h��� ��� : � ����� �=�+	 �=� ) G_��� ' . ��� �=�
� � �,G � ��� � �G�3�J� ~h� �D� � � ���=�,��� ��~8�,���=� 
 �=��	 �=���"�
���;: 
 ����� �
B
�h�(	�G_�=	(� � � � � � 
 � ��	 	(�h� �
� 1 � � � ���'>*�h��� : � �

x1D0(1) + x2D0(2) = 0, % 4�� /?0 &
G(: 
 �D� 1 @ �,�h���2� >��l� ��: � �

c1x1D0(1) + c2x2D0(2) = 0, % 4�� /3+ &
�(� ���,� � �2����� c1,2 = e−iφ1,2d �� � G_�=��	 ��� > .h��� ��� ��� �(	 G_��� �=����� �h�D�l�2 ���2�,��� � � �8� � � ���=� & < � 	(���H6 1 - ����� � 	 �+	 ���
����� � � � � � ��� .��=� ��� � � � �=�,�(�h��G 	 ��� �o�,��� ���h�����I}h~��,�(�h�(	 ��� % @ �x� � ��� 1 �h� � �(	 	 ~h� ���
3�2@+�9 & � � 1 &u~������=�(	 � 1 
 ���,	 ��� 	(� � .��=��� ����&u�=�2	 �=� � � � �=�,�(�h��G � �(	 � � A����,�D�l��G 	 �=�
�E����� ���h����� & < �+	 �=� @ ���h�h�2�'>*�h����GV����- � ~"��� �����
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� � ��� 
 ������� ����� ��� � � 	
� �����

> < � 	�� � �,- .l� �=� &u~�� �����(	 ��� @ �G� ��� ��� � � � ����� <(GV�=� 	(����BL��� � �����6�'>*��G �� ��'���=� ~l� � �6�
� �=� &u�=� ~ 1 �G� �=�
� ~����N�=� �����=�,��� ��~8�,���=� ��� 6 � �,	 � � ��$ & < �0	D���06 1 - ����� � 	 ���6� �+���,� .h� � �(�2�
x � 1 0 
 �=�?�'�b� �,��� �2& �l� � % ��� � � � 4"�1+@2 & �*� �=�����=����� � ��� 
 �=�,	 �=��� )I� 
 ���,	 ��� : 
 �=� > .l� � �2�
 ����� � 6
G(G � 4"�1, % � & ���=:=�����h�3� � � � �=���,���(����	 �����_�=� � � � � & 	(���P}�~���	 �=���5�o�,�2�����l� � ' .���� �
�=� � � ���	�_�=�(	 �;.��=��� � 1 ��� .|��� ���=� }��=$ � ~�� k0

� �(	 ����� �;� � & 	(� �?�(� � � ��� ���o�,�2�����l� � ' .���� �
�=� � � ���	�_�=�(	 �=��.|��� � � 1 ��� .|��� � ��� }���$ � ~�� kH

�J6
G��,��� �2� ��Ah�=�(	 � ~���� � ~"��� 	 ��� )I��� ' � ���
�=� � ��� �+�=���,���(����G � � � 	 �=� �o�,�2�����h� �2�?GV���,- � ~"��� �=� 
 ���,	 ���
�*���D6
G�G���4��-, % G & �
� � ��!"� ��� �E�	!�"���
��O'(� "	
���
�� D:
������ &3��


�H� � � �8� � � � � � ��4�� /�4 $E�h� � 1 ��� 	 �=� BH�h��	(G_�=	(� � � � � ����� � � � 4�� /E9 � �(	 4"� /?+ & < �
	�� � GV����	 �=� � ���=�(:�' .���� ��� GV��� z = z1

� �(	 z = z2

�(1 ��������� �,����GV�=� 
 ���,	 ��� : � �
c1D0(1) + c2D0(2) = eiφ1z1D0(1) + eiφ2z1D0(2) = Evac

0
% 4��1/@/ &

c1DH(1) + c2DH(2) = eiφ1z2DH(1) + eiφ2z2DH(2) = 0. % 4��1/?4 &
Ah�G��:G� $E�h� � 	D��� .|��� ���=��&u����	�	 �=�>}�~h� 
 .h���,� ���=��� ��� � � �=��.��=��� � D0(z)

� ��	 	 ��� @ �,�h���2�
>*�h��������� � ��� � � �=� .|��� ��� DH(z) � � � �=�,�(�h��G 	 ���N�o���������h� �2�+G_�=�N�=� � ��� �+���=&u� z � � &u�����
� � ��� ��� 
 ���,	 �����

D0(z) = Evac
0

x1e
iφ2(z−d) − x2e

iφ1(z−d)

x1e−iφ2d − x2e−iφ1d

% 4��1/?2 &

DH(z) = Evac
0

x1x2(e
iφ2(z−d) − eiφ1(z−d))

x1e−iφ2d − x2e−iφ1d
. % 4��-487 &
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C � � � ~���� �����h� ����� 1 ����� � 6 � �,	 ��<(��$h� & < � 	(� ��6 1 - �2��� � 	 �=� �'B��+'y�*����~��(�4� ��G�: 
 � �C���h�(�4�
1 �2�,�,��~��(��$h~b� � :����=� � ��� � � &u�h����� �=����� 
 ���,	 ����� 6 � 	 �=� G_�=��	 ���O�o�,�2�����l� � ~�G_��� ' .���� �=�
�
�h����~ �h� 	 �=� ) ��� �=� r1

� �(	 r2
� &u~�� �h�=� � � � 	 ��� ~8G(�����=� � ��������� � � ���=� 	(� � >f����	6�

$h~ 1 -_~h� �=� � ��� 	 ���0� ��'y��$ �����=� � �=� >y����	 �=� Dr
� � �(	 	 �=� � �,�h�(� 1 � � �����=� � �=� >y�=�2	 ��� Dt

�

Dr(r1) = Evac
0 r+ei(k0+H)·r1 % 4"�14�3 &

Dt(r2) = Evac
0 t+eik0·r2. % 4"�14J4 &

)��;��� �(	��
r+ = x1x2

1 − ei(φ1−φ2)d

x2 − x1ei(φ1−φ2)d

% 4"�14@, &
t+ = eiφ1d x2 − x1

x2 − x1ei(φ1−φ2)d
, % 4"�14�9 &

�(� ���,� � ����� r+ 	 ��� ����� � ��� � � 6 1 - ��� � � 	 �=�6� B ��'y����� ~h�(�,$l~L��� :=� ��� � � �(	 t+ 	 �=� ���*�
� � ��� � ��6 1 - �2��� � 	 �=� � �C���h�(� 1 �2�,��� ~��(��$h~b� � :����=� ��& < �X��� � � }�~��o}�~h� � ��� ��& �h� ���=�(	 � .|���?�
� ��� .��=�h�=� 	 ��� �b� ���,� �8$l����� 	 �=� .��=��� �=��&u�=��	 ��� �h� 	 ��� �o�,�2�����l� � ~�G_��� ' .���� �=� $E�h� �
� � ���F	D���
>y�=��	 � 1 � ��$ �(��1 �h�.��� � � 1 GV�=�2� ��G�� ����� ) � � r GV��� ��� 1 1 � 
 ���,	 �����

E0(r) = Evac
0 t+eik0·r % 4"�14A0 &

EH(r) = Evac
0 %+ei(k0+H)·r, % 4"�14@+ &

1 � �
%+ = r+eikz1α/2γ

H . % 4"�14A/ &
��� ��!"� ��� � �	!�"	��
 ��������
���
 ���3� � ���E� ��'(D:
������ &)�	


)��;��~�� � � � � �h� ����� ~ 1 1 ��� 
 ���,	 ���
�*	D���,� ����� � .|��� ��� 1 � �+	 � 1 .|��� � ��� }���$ � ~�� kH� �(	�	 ��� 6 1 - �2��� � 	 � Evac
H

� � &D	(��� �(��� � �=�����o�,�2�����h� ��~8G_��� ' . ��� � (z = z2)
� �,���_��� � �h�

�=�,�#.h���;�l�D�h� ~h� : � 	 �=��~8G(�����=� @ �G� �,����� � � � �h�=� & < �
	(��� .|��� ���=��&u����	 � � � �=���D�h��G 	 �=�
�E����� ���h�������

D0(z) = Evac
H

eiφ2z − eiφ1z

x2eiφ2d − x1eiφ1d

% 4"�14@4 &

DH(z) = Evac
H

x2(e
iφ2z − x1e

iφ1d)

x2eiφ2d − x1eiφ1d
. % 4"�14@2 &

�0�h��� � �.�=� �h��GV�=� ������� 	 �=�F6 1 - �2��� � 	 �=�6� B ��'y������~��(�,$l~L��� :�� ��� � r− & < �.����� � � � &
	(� ���(��� � �=��� �o���������h� ��~8GV�=� ' .���� �P�=� � � ���	�_�=�(	 � .|��� ��� � �(	 	 �=�;6 1 - ��� � � 	 �=�6� �N�,�h�(�1�
1 �2�,�,��~��(��$h~b� � :����=� � t− : � �

r− =
1 − ei(φ1−φ2)d

x2 − x1ei(φ1−φ2)d

% 4"�1287 &
t− = eiφ2d x2 − x1

x2 − x1ei(φ1−φ2)d
. % 4"�12�3 &



��� � � ����� ������� � ��
������ �
����� � ��� 3.2

.��=�h�=� 	 �=�H�b� �G�����8$h�=���
	 ���;.��=� ���=��&u����	 �=�;�h�F	 �=� �E����� ���h��� ~8GV�=�1' .���� ��� $ �l� � � � ���
��� �=�+	(���
>f����	 � 1 � ��$ �(�(1 �l���=� � � 1 GV�=������G(�����=� ) � � r GV��� ��� 1 1 � 
 �=��	 �=� �

EH(r) = Evac
H t−eikH ·r % 4��-2J4 &

EH(r) = Evac
H %−eik0·r, % 4��-2@, &

1 ���
%− = r−eikz2α/2γ

H . % 4��-2�9 &
� � ��� �#�!� 
�� ��
��M� 
�� �!&3�	��
�D��	�	� "	
�� � �)�'����� ���'�

.C���,	 	 �=� ��� � � � �=�(	 � �o�,��� ���h��� }����,����� ~8GV�=� �(1 	 ��� �+��$ � ~�� U ��� ~��8� � � & < � 	(� �
� � �,:���- �,��G(�������7.l� � χ(r) → χ(r+U) �!> < �I	 �=���=� >y~ � �,� ���,$l~ 1 -V~�� ��� � �=�6�=���8��GL���,�����
�l��� ~��

χ
H
→ χ

H
eiH·U . % 4��-2A0 &

> < �+	(� �o~�G_���	��� & � �(	 ��� �=� 6 1 - ��� � � 	 �=�6� B ��'y����� ~h�(�,$l~L��� :=� ��� � �=���8� � � 	D� � �=�=�
r̃+ = r+eiH·U , r̃− = r−eiH·U . % 4��-2@+ &

�H� � 6 1 - ��� � � 	 ���6� �C���l�(� 1 �����,� ~h�(�,$l~L��� :=� ��� � �=�K.h�(	 �=� � �,�2��� 	 � ����� 	(��� �+���,�����(� �*�
G � � ��������� � �+.��=� � 1 �h� U �h�2���8�h�(:�:���� �2� ���8� � � � �h��$h~ 1 G�� �D�l�,� ~��C	 ��� � ����� ���1�
}h��$ � ~h� �=� a, b

� ��	 c 	D�h����� �=� ���=� $E�h� �<�?� ~ �2��� 	(���F��$E�h� �l�,- ��~�	 � $ � H · U �=� �
�8�h�(:�:���� �2� ���=� �
� �=� & ����� �=�I}�~�� 2π

� �(	 	�� � 6 1 - ����� � 	 ���6�'B��+'y�*��� ~��(��$h~b� � :����=� � ���
.l�(	 �=���C�,�����C	 � �,��� 	(� � �+���,�����(� �=G � � ����GV�=��& �l� ���n�(����� � � @ ���0	 �=� 6 1 - ��� � � 	 ���6�
�C���l�(� 1 �����,� ~h�(�,$l~L��� :=� ��� � �=� � 1 � � $ ���(1 % �2���F: � �7.l�,:=���2��� � ~���� : � G_������� � ���
�
	(���,�H�,�����F	(��� �C~8�,� ��� ~h� �=�F	 �=� �o�,�2�����l� � ~�G_��� ' .���� �=�.��GV�=��& �l� ���L.l�(	 �=����� �
� �=� � �,� ��	
��� 	 ��� >f~h� 1 �=� � & < � %+

� �(	 %− ����- �2��:�� � ��� ���D�h� � ��� � �(	 1 <(��� ���F	(��� �=� ��GV�=��& �h�����
}h�=�/.h�(	 ����� 
 ���,	 �����
�
�	�
��� ��� ��� ������� ������� ��� � � � � ��� 
 �������
� 1 &u~������=��	 �=� 6
G(����� �(����� 
 ���,	 � � �,����� ������A��2����� 	 �=� @ ���h�h� >*�h���IG_�=�D�h�(	 ������� � � � b������� �����=�D� � ��39� 	(����� �=� �2��� 	 ��� �  1 1 ��� �,������� � @ ���l��� >��l� � � � ~ �,���(	 	(� � %q�h�=~2�
1 ��� �,�2�,��� ��� & 	 � �=�,����� �(� � � � S0

� �(	 SH
	 ���.�=� ��& �h��� ���(	 �=� � �(	 	 ���.����� � ��� � � �=�

� � ��� � ���;� � � ��$ �(�(1 � � � �=���,���(����	 �2��������6 � � ����~ 1 �G� �����,��� �=� � �,< �(	 �=�	�=���8��G �;���������
SH/S0 = 1/|b| �*�
� � B��+'y�=$ ����}"� � .l� R �2��� 1 ���;	 ��� � � � ���(�,� � .l� �=� 	 ��� ��� ��& �h� ���=�(	 ���
� �(	 	 ��� ����� � � � � � ��� �b� ����� ��� I0 � �(	 IH �(	 ��My�(���=���
	 � �,�����

R =

(

SH

S0

)(

IH
I0

)

, IH = |DH |2, I0 = |Evac
0 |2. % 4��-2A/ &
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�L���,:�� 1 �l� � � �(4��-4�3�� � � � �D4��-2A/(����� � ~6�=�,�#.h��� 1 �h���
R =

1

|b| |r
+|2. % 4"�12@4 &

.|�����=� � � � 4"�14@,��2��� � � �(4��12?4 ����� 
 ���
� � � �=�,- � ���,� ���,GD�h�=�� 1 &u~�� �����(	 ��� � ~����+�h� ����� ~ 1 1 ��� 
 ���,	 ���
��	D����� 	�� �	�o�,�2�����h� �2	(����$l� d �(� � �����;�
��� �=�(		��� ~�A � 1 �+��� ����������� : � 	 �����	�_��$ ��� }��=� )I� �(	 ��� � �l��� � &u� de

��� �3�(	��%���D	D� �,� �8� � � �
d� de

�*�
����)����(	 ��� � �h�,� � &u�P�=���8��G �;�������F� � � � � �*4"�14@, � �(	 4"�14�9 : � �

de =
1

Im(φ1 − φ2)
. % 4"�12@2 &

� ��� 	�� �����=� 6 � �D��� 1 � $E�h� � � � � 4��-4@, � � � � � �=� C .�� ��� � � � ���=�,��� ��� �=G_��� 
 �=��	 �=�
�h���=� r+ = x1

� CH� 1 1 � 1 �h� 	 �=� 
 ����� �=���=� �h�
�!	D� �,� $h����� �
6HG(� ~h�,- �,� ~�� � � &v� ������� � �(	
	(� ���o�,�2�����l� ��� � � � $ � � � - � �($ ���  1 1 ��� ��������� ��� �3�D	��%���*	D����� Imχ = 0

� �(	 χ
H

= χ
H̄�8� � �3�"	D�h� ���8� � �?& < �;	(����)I� �(	 ��� � �l��� � &u���

de(y) = de(0)
1

Im
√

y2 − 1
, % 4�� 3 787 &


 ~8GV���
de(0) =

√

γ
0
|γ

H
|

k|Cχ
H
|

% 4�� 3 7�3 &
	(� ����� � FHG���� F � G ���	��G�	 E0����� � �(	

y =
χ

0
(1 − b) + αb

2Cχ
H

√

|b|
. % 4�� 3 7J4 &

6 � �+	 ��� � � �D4��-+@+ �(4��14�39�D4��-2@4 � ��	 4"�23 784I�=�,�#.h��� 1 �h� 	(���NC . � �=� � � � & < � �D�l��G � � �
�=�(	 �2����� �$�o���������h� �����

R(y) =
∣

∣

∣
−y ±

√

y2 − 1
∣

∣

∣

2

. % 4�� 3 7@, &
� �=� � ��� -(�(}�~�� R(y) ��� � ����6
G(G �J4��%9o����:������h�3�E� ��	 � 1 @0�=� �=����� −1 ≤ y ≤ +1 �8�����
R = 1 	��%��� �C~h���h��� ��'y����� ~h���5�
� � B��+'y�=$ ����}"� � .l�C�@.��,� � ������� 
 �����=� � � �E4��23 7J4+� � �����l���
> � �($ ��� ~h� 	 �=� 6
G 
 ������� � � �8�,-D�l��� 1 ��� �=�,� α 	D�h����� ��� ���=�
� 
 � � ��GV�=��& �l� ��� � � 6
G(G �D4��%9
	D�h� �h����� �=�����+�2��� �(� �=�
@ ��� ���2��� ��� 	 � 1 �C~h���l� � ��'y������~�� � � &v� �,�����������=�h� : 
 ������� �=� �

α−1 ≥ α ≥ α+1,
% 4�� 3 7�9 &

� � � � � �D4�� 3 7J4 &u~����h� �
α±1 = αc ∓

2|Cχ
H
|

√

|b|
% 4�� 3 7A0 &

αc = Re(χ
0
)

(

1 − 1

b

) % 4�� 3 7@+ &
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(���

α

�
���50X��� � � ��1 	 �=���N~h���h� ���+'y�*��� ~�� ��� � GV��� αc
: � My�(	 ���
� 	(� � @ ������� � 	 �=� B ���8� ~��

∆α � � 	 �=�L�N~l���h��� �+' ����� ~��F� � &v� �,� � ����� �8�2G �;�,�2��� 1 ��� � � �*4�� 3 7A0 : � �
∆α = |α−1 − α+1| = 4|Cχ

H
|/

√

|b|. % 4�� 3 7A/ &
.��=�h�=� � � �D4�� 4 9 � �(	 � � � 4"�1+�9�&u~h� �h� & < �+	 �=�F6
G 
 ������� � � �8�,-D�l��� 1 ��� �=���

α = 4

(

λ

2dH

)(

λ

2dH

− sin θ

)

. % 4�� 3 7@4 &
�H� ����� � � �=����� � � � 
;� �,	 �#}�~h� ��� }! �	 # $l~����
�h� ��%'3�2@2@4 & �h� ���=���=G_����� � ���H	 ���
�I� ~2�
� ~�� ��� �=� ��� �8��� E = hc/λ $E�h� � 1 �l� � � ��� ����� � �=��GV�=���

α = 4
EH

E

(

EH

E
− sin θ

)

, % 4�� 3 7@2 &

 ~8GV���

EH =
1

2
H~c =

hc

2dH

% 4�� 383 7 &
	�� � �����
	
	 E�G<E � 	�F E �2����� .C���,	 ��� � � &u��� � � .|��� � ��� �=.l� ��� λ = const }h�=� 
 �=��	 ���D�I� ~��� �8�2G �;�,�2�����

α = 4 sin θB(sin θB − sin θ), % 4�� 38383 &
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 ~8GV��� 	 �=�
@ ���l��� 
 � ��$h�=� θB 	 � �,��� � � �*4�� 4 9 	 ��My�(� �����
��� � �
�F���;	 ���H� �+My�(� ����~����

wH = −2Reχ
0

d2
H

λ2

b− 1

2b
, % 4�� 38354 &

$ �l� � 	(����0X��� � � ��1 	 �=� B ���8� ~��<�8� � 	 �=���C~h���h��� ��'y����� ~h� � � &v� �,� � �D��������& ����� ��� 	D�l� ���*�
��� ��� � � 
 �=��	 �=����> < �
	�� � :��=� � �,�h� � )j� �=���8� � Ec

��	 �=� :��=� � �,�h� ��� .C� �($l�=� θc

� �(	 	(���
:=�=� � ���h���0.|��� � ��� �=.l� ��� λc

��� �8�2G �;�,�2�����
Ec sin θc = EH(1 + wH) % 4�� 383�, &

2dH sin θc = λc(1 + wH). % 4�� 383 9 &
� ��������� � � � 4�� 383 9F��� � 	(� � 
 �2G ��I�F � ��
 E @0���h����G_�=	(� � � � � �#����� � � � � ���,�,��� ����	 ��� �������
� � �
	 � �,���F	 �=���N��� 1 wH

}�~�� � � �D4�� 4 9(�
> < �;	(� � � ��� �l�,��}�� @ ����� � ��	 �=�H�I� ~h� ~�� �=� �=� ��� �8��� εH

�8� � � 
 �����=� � � �*4�� 3 7A/ � �(	
� � �D4�� 3 7@4��

εH =
∆α

4 sin2 θ
=

|Cχ
H
|

√

|b| sin2 θ
=

∆E

E
. % 4�� 383�0 &

.|�=� �V�D����� � � �"4��-,�9 χ
H

- � ~8-V~�� ��� ~h�D�h�*: � λ2 ��� � � ��	 λ2/ sin2 θ = 4d2
H
��� �3�"��� � 	(���

� �=���l��� }�� )j� ��� �8����G ����� � � εH
����� ���
B��+'y�*� �=� �=� � �$� ~��(�����h� � � �

)j� � 
 ����$l�=� � 1 �h� sin θ � ������� �=�L� �  L��~�� �����2� � �(1 θB
�D� ~6�=�,�#.h��� 1 �h���

sin θ = sin θB + (θ − θB) cos θB − 1

2
(θ − θB)2 sin θB − · · · % 4�� 383�+ &

@ �=��<(��$!�,����� �,� �h� 1 �h��� � �;	 �=������� � �h���=�	�C�=� 1 � � (θ − θB) �(� ~ 
 � ��	 � � �(4�� 38383 : � �
α = 2(θB − θ) sin 2θB,

% 4�� 383�/ &
	(� �=�
��� ����GV�=�
& < � θB ≈ 90◦ ������� � 1 ��� �0- ����$ ���2$E��G_��� �*	 ��� � 	D�h� � �2��� cos θB ≈ 0� �(	 	 �=�"�N��� 1 ��� (θ−θB)2 �(����� � 1 ��� �d}���� �D����� �=.����,� ��GD�h���8> < � 	 ��� >��l� � θB ≈ 90◦
$ �l� � 	(� ��C . � �=� � � �(�

α = 2(Θ2 − 2ε) % 4"�2383.4 &
1 � �

Θ = θ − 90◦ und ε =
E − EH

EH

% 4�� 383�2 &
G_��� � ��:�� 
 �=�,	 �=�
� 
 � ��}�~h� 	 �l�,�����D� � �(	 	 �l���2���D� � )+�����2�L% 3�2?4J4 & � ��� ����� ��� � �G� 
;� �,	 � �

�H� � @ � �=��� � 	 �=� B ��'y����� ~h�(�,$ � � }�� $E�h� � � � � � � 6
G(� .l� �8� ��$h��� ��}�~�� θ <(G_���
� � � 4�� 383�/ G(: 
 � � � � 4�� 383�4 ��G ��������� .l��:G� 
 �=��	 �=��� > < ��	(��� .C� �($l�=��G � ��� � � � 1 >*�h� �
θ < 90◦ �=���8��G � �,����� �

∆θ =
∆α

2 sin 2θ
=

2|Cχ
H
|

√

|b| sin 2θ
. % 4�� 354�7 &
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> < �+	(� �0.C���($h����G ����� � � � 1 B
<���$"� � ��� � & �h��� � θ ' 90◦ �8�������
∆θ =

√
∆α = 2

√

|Cχ
H
|. % 4�� 354�3 &

�
���F.C���($h����G ����� � � & < � 	 �=� B;<(��$!��� � � � & �h� �
��� � - � ~8-V~����,� ~��(�h� : � √

|χ
H
| � �(	������� � 
 � �F� 1 >*�h��� θ < 90◦ - � ~�-_~�� ����~��D�h� : � |χ

H
| ���0� GV���+	 �=� ��� �=� GV��� �������6�

� ��� �=� �I� ~h� ~�� ��� �=� ��� �8���=� |χ
H
| ≤ 10−5 �8� � �3���2��� 	(��� .C���($h����G ������� � � 1 >*�h� ����	 ���

B;<(��$!��� � � �(� � � 	 � � � ���2�����h�/�8A���� �h��� G_�=�+	 �=� @ �,�h���8� � ��� �(� � � 1 ��� θ < 90◦ �I�
� ����=���l��� }�� )j� �=���8� �=G � �=��� � ����� ��� G_�=��	 ��� >".h� ���=� �������2���
�I�h��� �=��	(� � �8� �2��� 	(��� ��G(� ~h� � �
� � )+� �=� ��� ��G � ��� � � GV���I	 ��� B
<(��$!� � � � �(� � � � 1 $ � �=� �(� � ���
� 
 �=� �I	 ~h��� Ec

& < �E�=� � ���
�h�=���=G_��� �=� B ��'y���F� 1 $ � �����(��� �=� ��� � �
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 �=�����(� � � � � 6 � � �(��� 1 �=& .h��� �=�<� 
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��� � �I������$ �E��<(��$ ����� � � � � � � .��=� ��� �2���D� 	D�h� � �����N�	��� �,��� ����� �?�'@0���h������� ��� �(� � ����� ���
	(� ��B��=����� �h���+	�� � 6 � � �D��� 1 � �

@0��� �,����� � �G� 1 �h� �	��� �,��� ����� �2& .h��� � � � � �=� 	 �=� @0��	(��� � � � � � 	D���,�>�=� � ��	 ����.|��� � ���
��� � �s��<(��$ ����� � � � � � � .|��� � � �2���3� ��~	� ����� �=� : � �7.l�,:=�2����� � B ��'y����� ~h� �=� � 1 1 ��� -D�8�h�4�
 �=��� �H� � & % ��� }! "	�# $l~#�D4 787�9 �!� � � � �=�D��4�7�787 �"�b� ��-D�h� ~ }6�G� �h� � ��3�2@2�3 & � � 1 &u~�� �h�=�(	 ���
6
G(����� �(����� 
 � ��	 	(� �=� ��� ! 1 �����h�(	 1 ������� �2&u�I	 �=� $!� � � 1 �l���2�,��� ��� C .�� ��� � � � G_�=�,- ��~2�
��� �=���*)I�+����� ������A����F�������F@ �G� ��� ��� � � � ����� � 1 B
��� 1 �=� 	 �=�+	� b�D� 1 ������� �=� �+� ��~��,���
�h�
�(GV���2	 � �
����$ � �,�,��~�� ���F&u~������=� � 1 
 ��� ��� � ���2��� �=� ��� }! �	 # $l~8% 4�7�7�9 & �

��� � ��� � ����� � � 
 ��� � ����
 � 
 ��� � � 
 �����
� ���F	(� � @ �,�h���8GV��	�� � � � � � & < � 	(� � ������$ � � B;<(��$!��� � � ��� � � 1 ��� 	 � 1 � �=:���- � ~8$l�=�
� � � � ����}h��$ � ~�� N & < � �=� � �E������& �h��� �=��	 �0.|��� ��� 1 � �+.|��� � ��� }���$ � ~�� k0

�=� & < � � �3�(	(�h� �
�8� � � �

k0 + N = kN = −k0 ⇒ k0 = −N/2. % 4"�2354�4 &
.|��� � 	(� � @ ���l���8GV��	(��� � � � �s� � ����� �=�����(:���� ��� � � � ����� ~"��� & < � ��� � �=� �h��	 �=���=� � �*�
:���- � ~8$l�=� � ��� � �=� }���$ � ~�� B �=��& < � ��� ��� �3�"	D�h� � $E�h� � 1 �h� 	D���+@ �,�h���8����� � � ��� �G��:0���
}���$ � ~��,���=� ���=�+>y~�� 1 � � � �*4�� 4846�(����� � �=��GV�=� �h���=�

B2 + 2Bk0 = 0. % 4�� 354?, &
� ���,�(� � &u� }�~h� � � �*4"�2354�4 $ �l� � � � �(4�� 354?,(}����7.h�(	 �=��� 
 �=�,	 �=� : � �

B2 − BN = 0. % 4"�2354E9 &
� ��������� � � � 4"�2354E9 ����� 	�� �F@ ��	�� � � � � � & < � 	(� ���������2���(:=�=��������� @0���h������� ��� �(� � � 1 ���
	 �=��� ��:=��- ��~8$h��� � ����� �=� }��=$ � ~�� ��� N

� �(	 B � � � � � � � 4"�2354E9���< ���,� �#��	(�h� � ����� 	(���
@ ���h�h�8G_�=	(� � � � � ����GV�=��& �l� ����& < �#��� � �=� 
 ��� � �=���=� ����:=��- ��~8$h��� � � � � ����}h��$ � ~�� L �=�4�
& < � � � �

L = N − B. % 4"�2354?0 &
�
� �=� � @ ���D� � - � � � � $E�h� � 	 � �,��� )����(� �G��:��=�|}h~�� � � � 4�� 354@0 � � � � � 4�� 354 9FG_� 
 � �*�
� �=� 
 ���,	 ����� �0��� )+������G �(��� 	(����� ��� ! 1 &u~h� 1�� � � �����6�=� � � � � ���2��� � � � & < � L 	(���
� � �D4�� 354 9 �=� �,�,- ������� � �

L2 − LN = 0. % 4"�23543+ &
.|��� � �h����~n����� ��: � �7.l�,:=�2����� � B��+' ����� ~�� 1 � � �b� � � � }��=$ � ~�� B ������� ��� �����D� 	D�l� � ��� �
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6 � � � � �*4�� 354 9#�(4�� 354@0 � �(	 4�� 354?+ �=��� .h��� 1 �h� �

L2 + B2 = N2. % 4�� 354@/ &
� � �=����� � � �h�=� 4�� 354@0 � �(	 4�� 354@/ :��������=�
� 	D���,� N � B

� �(	 L ��� � ������� � 
 � ��$b�2� ���=�
� � ��������$ G(����	 ��� 1 � � �

B⊥L, N = B + L. % 4"�235434 &
�
��� 	 ����� � �=:���- � ~8$l�=� � ����� �=� }��=$ � ~�� ��� N � B

� �(	 L �2� �=�h�=� �����=� � ����)IGV�=� �2�
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kB = k0 + B,

kL = k0 + L % 4�� 354?2 &
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 ���,	 ���
�"	(� �*�
� ���
� ~h� � � 1 &u~������=��	 �=� 6
G��,��� �(� � � ���=�(� � �=�;GV��� ������� � �G� 
 ���,	 �����
��� � ��� � � � � ��� � 	�� 
 ��� ����� ����� ����� � � � � 
 ����������� � � 
 � � �

> < � 	(� � �b� ��� � }h��$ � ~h� �=� 
 ���,	 	�� �6��� �=����� � @ ��:����2��� � � � � 
 � � � � 6
G(����� �(����� 4��-,�� 3
G_��� � ��:����I> < � 	 �=� �b� ��� � }h��$ � ~h� 	 �=� B;<(��$!��� ��� �(� � � N

� �(	 	(��� �b� ��� � }h��$ � ~h� �=�
	 �=� : � �/.l��:����2��� �=� B ��'y����� ~h� �=� B

� �(	 L �8� � � � N = B + L
1 ��� B ⊥ L � 6 � �

	 � 1 @ �,�h���8����� �=� � �=� ���,: &u~����h� � � � ���H	 �=�H@ ��	(��� � � � �n������$ � �=�0B;<(��$!��� � � �(� � � ���
	 �=�H$"��� � 1 �l�,���,��� �=� C .�� �=� � � �(� k0 ' −N/2 �

� � 6 � ����� � � � � �h� 	(�����
�2�,$ � �,��� ~��
� � 6
G(����� �(� � �
4�� 4��1, $E�h� � 	 ���
.��=��� �=� }h��$ � ~��;	 � �,���5�=� � ��$ � �=� � � 6HG 
 �=����� � � �n}h~��
−N/2 GV������� �,����GV�=� 
 ���,	 �����

k0 = −N/2 + q
1 ��� |q| � N. % 4�� 3�,�3 &

0 � � 
 ��� � �=���=� @ �=�,��� �����2G � � � 
 � ��	 �����8� ~b~��,	�� �D�l� �=�(�  "��� � 1 �=� � �h�=& <(� � �3��	D��� 1 ���
	 �=� �b� ��� � }h��$ � ~h� �=�	}��=��$ �"<�-�&v�
�2��� � ��	 	 � �,��� 	�� ��)I� �(� �����,��}h��$ � ~����=���



������� � ������
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� �����������-� � ��� ����� � �
��� ��� � � 
	�
��� � �#��� 4?/

en = N/N

e⊥ = L × B/|L × B| % 4"�23�,84 &
e‖ = en × e⊥

� � &u������-D�h� � � 
 � ��	�� Ah�G��:�� $E�h� � 	(���+6
G 
 �=����� � � � q � � ���6��������� �,����GV�=� 
 ���,	 ��� �h�2���

q/k = Θ‖e‖ + Θ⊥e⊥ −
[

ε− 1

2

(

Θ2
‖ + Θ2

⊥

)

]

en.
% 4�� 3�,@, &

� � 	 �=�6~8G(�����=� � � ���2��� � � � 
;� �,	 �F	(����C .�� ��� � � ��� cos Θ ' 1 − Θ2/2 & < � $ �����?�
� � .C� �($l�=�0GV�=� � �,:�� �;�H� � .C� ��$h�=� Θ‖, Θ⊥

GV������� � �=��GV�=� 	(� � 6HG 
 �=����� � � ��}�~ 1
���=�($ ������� � ��� )I� ��& �h��� � � & 	(� �0	 � �,��� N GV������� �,����GV�=� ��� �b� � � � ��GV�=� ������� �=�+��� 6
G6�
����� �(� � � 4�� 4"�1,������ ���=& <�� ��� � 6HG 
 ���2��� � � �8��-D�h��� 1 �G� �=� α $E�h� � 
 �=����� � � �E4��-+�9#�E4�� 3�,�3
� �(	 4"�235432 �l� � �h� 1 ��� �s��������� �,����GV�=� 
 ���,	 ��� �h�2���

αH =
q · H
k2

, % 4�� 3�,�9 &

 ~8GV���D& < � H 	(���;�+�=$ � ~����=�

0
� N � B � �(	 L ��� ��� ��� $��h� � �=� �#� � � � � �!4�� 3�,@, � �(	

4"�23�, 9 $E�h� � 	 �=� 6HG 
 ���2��� � � �8��-D�h��� 1 �G� �=� αH
�h��� > � �($ ����~�� 	 ��� .C���($h��� ��G 
 ���?�

��� � � ���=� Θ‖

� �(	 Θ⊥

� �(	 	 �=� )j� ��� �8��� ��G 
 ������� � � � ε = (E−EN )/EN

	D�h������� � �=�����
 �=��	 �=� � �
��� @ ���h�h���=� ��� �8��� EN

��� � 	 � �,��� � EN = |N |hc/4π ���=�h��GV�=�
� 
 ~8G_�=� c
	�� � � ��$ �(�(1 ���2��� � ��������� 
 � �(	(���8$h�=��� ��� � � > < ��	(��� B ��'y����� ~h� �=� 1 ��� � � � � � }��=$ � ~����=�
N ,B

� �(	 L ��� �8�2G �;�,�2���F& < �+	(� �o��� �,�,- ������� ���(	 ��� 6HG 
 �=����� � � �8��-D�h�,� 1 �G� �����
αN = 2

(

Θ2
‖ + Θ2

⊥

)

− 4ε

αB = 2Θ‖ sin(2θB) +
[

2
(

Θ2
‖ + Θ2

⊥

)

− 4ε
]

sin2 θB
% 4�� 3�,A0 &

αL = −2Θ‖ sin(2θL) +
[

2
(

Θ2
‖ + Θ2

⊥

)

− 4ε
]

sin2 θL.

� � � � � 4��23.,A0 �����0: � � ��� �=�
� 	D�����E�8� � � � αN = αB + αL
� 
 �=� � θB + θL = 90◦ ��� � �

. . � ��� 1 �l� 	(� � �N~����h�,�2���l�,� ~���� �,�2��� � � � �h�=� 
 ��� ��� 6
G��,��� �(� � � 4"� 4��-, GV����- � ~"��� �=�<�
	(�h� �.� �=	 � :����=���=�F�,����� 
 �=����� � � �(4��10?+�	(� �H& � �(	D� 1 �=� ���h� ��� � � �=����� � � �h�=� 	 ���
	� �
�(� 1 �2�,��� ��� �+� �=~���� ��� � � �I4��1,?2 � �(	 4��%9J7 � � � &0	�� � ) �,	 � � � � n = 4

� �(	 � ~ 1 ���
�(�l�0	(��� � ��� ��� 1 � �D�l� � � 	 ���B� ~L��� :=� ��� � �=� 1 �l� �,�?���=G_����& �h�����
	(� � ) �,	 � � � � n = 4 �
�
����)I� ����� 
 �=� ��- ��~8G ��� 1 $ �l� � 	 � �,��� )I� �!GV��:=� ��� � � � 	 �=��B
�h�(	(GV��	�� � � � � ���=��� � �
1 �=���������|�����@�8� � 
 �=��	 �=��� �0��� >y~���� ���h�6� �j� ~����,� 1 1 C � � @�!0� G�� ��� ��� 	(� �=� � �����2�
�2�����($l��� �O% ��� }! �	 # $l~#�+4�7�7@, & ���H� �F@ �=������� � � � ���=�C� 1 &u~�� �����(	 ��� 6HG(�,��� ����� � 4��%9(� 4
� �(	 	�� � 	 ������� ����-���� ���:,�}�~�������� � �=����� �=� �0���=�1�'�b� �,��� � & �h� �����
G(���,���=� ��� � � &?	�� ����� 1
�j��~������ 1 1 �
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�� �,?�:�<���:G?�� @d?��j�.H ��H	� ?�H
! 1 	�� � )I� �h�=�(�����D� &v� ��� 	 �=� @ �,�h���2�'�b� ��� �(� � � � � � �=��.C���($h��� � }�~�� θ ' 90◦ � 1
�+�=� �h� ���2��� : � � @ �,�h���2�'�b� ��� �(� � � � � � ��� $ ����� � �=� ��� .C���($h��� � 	 � � � �2����� : � 1 ����� �=�<�
 ���,	 ��� : 
 �=��0 
 �=�?�'�b� �,��� �2& .l� � � ��� α � 6 �

2 ) 3
G_�=� �������2��� �=� �I� ~l� ~�� ��� �=� �=� ��� � 	 ���

��� ��& �h� ���=�(	 ��� .|��� ��� }���� ���2����� �����
6 � A����,	 � 1 
 ���,	�	 ��� �0���=�4� �b� ����� � & �h� � ��	 ��� GV���"	 �=�L%'3 , 4̄ 4?4 & � B
<���$"� � ��� �(� � � � �

α � 6 �
2 ) 3

� � &v� �,�����3�*GV���,- � ~"��� �=��� �
� �=� ��� B ��'y���	��� � � � G � ���D� 
 � � G_��� �=����� �=� 
 .�� � �D�
	(� � ���8���,GD� � �=�,� � �,��� � � � �I}�~h� 57 >y�H: � �,<(��$!: � ��� � � � �=� � �(	 �2��� 	D��� ��� & < � 	 �=� @?� ���� � ���;$h~ 1 G(� �(���=� � �=�F>*��G �  ��'����� ~h� � �L� �=� &u�=��~ 1 �G� ���,�����=�=� ��� ��� �

�H� ��B������ � � � ���=� GD� �,� ��� ��� � � &I	 ���0	� b�D� 1 ������� �=� �+� �=~���� ���V��� 
 ���,	 ��� $l����� �
C .�� ��� � � ���=�FG_��� � ��:G� �
��� � ��� ��� � � 	�� 
 � � ����� ��� �

� � 6
G�G��84"�1+
����� 	(��� 1 ���,�(� � &u� 	 �=� 	� b�D� 1 ������� �=�5�+� �=~���� �?GV�=������� � ��� � .C� �($l�=�?� G(: 
 �
)+� �=� ��� � � G(� .h� ��� �8$l����� 	 �=���C���l�(� 1 �����,� ~h� � �(	 	 ��� B ��'y��$ �,��}"���7.l� 	 �=�(% 4 4 4̄ 7 & �
@ ���h�h��� ��'y���L��� ��� α � 6 �

2 ) 3
�h��:=�=� �h��� )I� 
;� �,	 � �=� � � �o�,�2�����h� �2	(����$l��}�~h� d =

1
1 1 �h� �h�=� ~ 1 1 �=�
��� ~ 
 � �o�=� � � )j� ��� �8��� 	 �=���=� ��& �l� � ���(	 ��� �I� ~h� ~h� �=��}�~h� Ec =

14310 � ���5.|�=��� �=�,��� � 
 � �,	E}�~h��� � �����������,:��3� 	D����� 	(��� ���+'y�=$ ��� ��� ���(	 �=� 6A� ~ 1 ��GV�=� ���
-D�h���l� � ���*: � �L�o�,�2�����h� ��~8G_��� ' . ��� �
��� �(	����
� �H.C� �($l�=� � G(� .h� ��� �8$l�����?��� �;�h���?> � �($ ����~��
	 ��� )I� ��& �h����� 
 � �($l�=��� θ � ��	 �h�2� > � �($ ��� ~h� 	 ����6
G 
 �=����� � � � 	(� �=� ��� .C� �($l�=�2�E}h~��

� 0�0G; ��; �$aIH:���
�,.���"$�M
(���q�
� "$�(�B	��
�&	�! " '�"$/ W ��X$��)A
(	�C3	5
�pn
9/��J� v � �
4̄ �Aw D W �MX$�����,��C !#" �,	�"$���

����� /�	�.�)#��" u�� s���	��&DR���
	��&

� ���Q;qo<	�"�)��,a �-	�"�)#������0��$p "�� 	�� )#��	�
r02�,	?��	�"����	����! 
(! "$��"��,"����
� 	��*C !#"
E = 14310 eV

; W �J.��A

�,a ��"����
� 	��,� 0��$p "�� 	�� )#��	�
U07��	G�,	�"��,� ��	�"�] � �����&86	�"�)#���GC#! "
θ = 21, 35◦

;
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� 0�0G; ��;��3a�H:���
�,.���"���
(� �q����"$�(��	��
�&	�! " '�"2/ W �MX2��)A
(	�C3	5
�pn
B/��,�9v � � � � �#w D W �MX$���3�J�KC !#" ��	�"����
�9��� /�	�.�) ��" u���s��$	��(DE���
	���
������ ;<o<	�"$)3�,a �-	�"�)#������0��2p�"��#	��#) ��	�
c07��	:��	�"����	����! 
(!#"���"��,"����
� 	��9C#! "
E = 14310 eV

; W �,.��A

�,a ��"��,�(�#	��J��0��$p "�� 	�� )#��	�
U07��	G�,	�"$��� �I	�"�] � �����(86	�"�)#���GC#! "
θ
"$������S,'

90◦
;

	 � 1 @ �,�h��� 
 ���($h��� θB � � � 	 ��� $!��� � 1 �l���2�,��� ��� �+� ��~��,��� � � �!4�� 4 9#�J	D�h������� � ��� �����!�
� �
)j� ��� �8��� ��G�� .h� �8���8$h�=��� ��� � �l��� > � �($ ��� ~h� 	 ��� �I� ~h� ~�� �=� �=� ��� �8��� E � �(	 �h�2�?> � ��$ �,�?�
~h� 	 �=� 6
G 
 ������� � � �
	 ��� )j� ��� �8���j}�~�� 	 �=� )j� ��� �8��� Emax

� GV���J	 ��� 	(� ��B��+'y�=$ ����}"� � .l�
1 � ��� 1 �h�������D�����=:=�����h� �!�H� �
@ � �=��� �
	 �=� B ��'y����� ~h�(�,$ � � }��=� G_�G� �7.l�h� 9#� 0�4 µ ����	 G(: 
 �
3.+A0 1 � � �� �/6
G�G�� 4��1/ ��� � 	(��� GV�=� �=��� � �G� � .C� �($l�=�;� G(: 
 ��)+� �=� ��� � � G(� .h� ��� �8$l����� 	 ���
�C���l�(� 1 �����,� ~h� � �(	 	 �=��B��+' ��$ ��� }�� � .l�0	 ��� % 7 7F7 ,�7 & � @ ���h�h��� ��'y���L��� ��� α � 6 �

2 ) 3�h��:=�=� �h��� �
� � �l� ���=� ~ 1 1 �=� � )j� ��� �8��� 	 �=� ������& �h��� �=��	 �=� �I� ~h� ~�� ��� � �(	 	(���>�o���?�
� ���h����	(�2��$h� �2��� 
 � � � 1 ~8G�� ����� >*�h� � � @0���(	(�������=��)j� �=���8� �?G_�G� �7.l�h� 	 ����)I� ��& �h����� 
 � �($l�=�
θ ' 90◦ �D�
���0.C� �($l�=��G � ��� � � 	 ���
B ��'y����� ~h�(�,$ � � }�� �����
�l��� ~ 	 � �,��� � � �D4�� 354�3o���������
GV�=� ���
����@ ������� � 	 ��� B��+'y�*����~��(��$ � ��}���� GV��� �7.h�l�0�(���=� 4@/�7 µ �,��	 G(: 
 � 3�, � 3 1 � ���
)I��� � )I� �h�=�(�����D� &v�I	 ��� B;<(��$!��� � � ��� � � 
 � ��	��(� ��� � 1 �+�=� �h� ���2���I� ~"��� 1 �h��� 	 � � � �2�������
	�� � � ~8� � .C���($h��� ��$!:���- ���h�(:�GV���N��� �=�����(:������,� � $ � ����� �=�H)j� �=���8� �=G � �=��� ����	(� � & < �
	 ���
@?� � }h~�� � �(��� � �(1 �=� � ��� 1 ���?� ~8� ���H)j� ��� �8��� � � ' �8� � � � 
 �2��� ��� � �2��� �
�
� � � � � ��� � 	 ��
 ��� ����� �����
� � �=�����(:���� ��� � 1 � � 	 � 1 %'3 , 4̄ 4?4 & � B ��'y��� � � B;<(��$!��� � � �(� � � $���� � �=�F: 
 ��� 
 ��� � �=���
B��+' ���L� 1 ��� 	 �=� �b� ��� � }h��$ � ~h� �=� �

B = [1̄ 1 0 28] % 4"�23�,?+ &
L = [2 2 4̄ 0] % 4�� 3�,A/ &
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�,.��A

��" ��	�"�] �����$C !#"
k0

��'�]G/�	��6�(��X$��)A

	��,�(�,"$/���"�v � �
4̄
��� w D � 

! ����07��"$��"G; � 	��J�&� �-	�"�D)#������038:��	�.��A'$"�����	���� 
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� � B
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	 �=� � ��'y��$ �,� �=���=�(	 �=��% 3 , 4̄ 4?4 & � 6A� ~ 1 ��GV�=� ����� �=� ��� � ��	(����� ��� 6 � ~��,	 � � � �0�,���(	�	(����h����� � � � � ��� .��=��� ��� 1 � � 	 �=� .��=��� �=� }h��$ � ~����=� kB
G(: 
 � kL

����� @ �,�h���2�'�b� ��� � & �h���
G�: 
 �f������� � � ��� � � � � � & �h��� �

� ��6HG(G��84��12
�,���(	�	(���?)j� �h��G �(�2�,��� 	 �=� B �=��� � � � ����� 	D�h� �h����� �=����� �E�
��� B������ � � � �
�h�=� 
;� �,	 �=� & < �o����� ��.|��� ����	 �=���I� ~l� ~�� ��� �=� �=� ��� � Ec � 3 9 � 9(3.2�$h� � � � �����=& <(� ���3�
	�� � � � &d��� � �=� 0�7 µ 1 	(����$l�=� -V�=� &u��$ � ��� α � 6 �

2 ) 3
�')I���($ �,��� ���h��� & .h�������(�
��� �o���������h� �;�

	�����$h� }�~�� 0�7 µm

;� ��	 � : �(1 G_�=�,���=� ��� �+�=����� �=����� 1 � � 	 �=� ����-_���,� 1 ��� � �=��� �=�

)j������G �����,���=� � 1 &u~h� �����(	 �=�(����-(� � ��� ��� 
 .�� � � �
�
�����=��� ����� � ��� �;.C���($h��� ��G�� .h� �8���8$h�=��� 	 �=��B��+'y�=$ ����}"� � .l� & < � 	(���A�,<(��$ ���=��� � � � � �

.��=��� �?�h��� > � �($ ��� ~h�(}�~�� Θ‖
� 1 ��� Θ⊥ = 0 ��� � ��� 6
G(G��84��-2 (N) ����:������h� ���
� � 1 � ���?�1 �h��� B ��'y��$ �,��}"���7.l�A}�~h� ,A/�� 
 � ��	 <(G_��������� �=�FG � �=��� �=� .C� �($l�=�2G_��� ���2����}�~������ 
 �

3��1, 1 �,��		��� ��������� ��� � � 	 �=� ! 1 ����G � � �s}h~�� Θ‖ = 0 ,��=	 ~���� ��� �
	(��� B��+' ��$ ��� }�� � .l�
<�G_��� �=� � ���F.C���($h����GV�=����������}h~�� 9 µ �,��	 % > . K � & � �=� �H� ���h��$2� �=	 � :=� �=� � �

�
���	��� ������� � �G� � .C���($h��� ��G(�#.h� �8���8$h�=��� 	 �=� B��+'y�=$ �,��}"���7.l� & < � 	�� � @ ���h�h�2�'>*�h���
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> � ��$ �,� ~��.}�~h� Θ‖
� 1 ���

Θ⊥ = 0 � ��� � � � 6HG(G��E4��-2 (B) G(:

 � (L) 	D�h������� � ��� ����� �
��� .C� �($l�=�2G � �=��� �I	 �=� B ���8� ~h�
�

� � 	 �=��	(��� B��+'y�=$ ����}"� � .l� 	 �=��GV���2	 �=� : � �/.l��:�������� �=� .��=� ���=� ������� �(}����,����� 
 ���(	 �G�3�
G_�G� �7.l�h�(�G� 
 � 3 7 µ �,��	�� �
� �	� � ��� 1 �h� ���+'y�=$ ����}"� � .l� �=� GV��� ���h�h�=� 3�/ � G(: 
 �:,@+ �
& < ��	 ��� @ �,�h���2� >*�h� ��G(: 
 � & < � 	 �=� � � � �*�'>*�h��� � �
� � � � � �=��&u��� ���(:�}h~�� .|��� ���=� 	(���
}�~�� 	 �=�+}�~���	 �=���=� � �(	 	 ��� ��� � � ��� �=� �o�,��� ���h��� ~8GV�=�1' .���� �����+'y�=$ ��� ����� 
 ���,	 ��� & <(� � �
: � ��� � �=�+: � �7.l�,:=���2��� �=� �b� � � $ � � �H� � & 	 ��� B��+' ����� ~����,$ � ��}h�=���

.��=� � Θ‖
G_�=� Θ‖ = 0 &u����� �����(�h��� �=� 
 � ��	 � �(	 Θ⊥

} �h�,�2� ����� 
 ���,	
� $E�h� � ��� � �
B ��'y��$ ��� }"��� .x�P}�~�� ,A/ � � � 	 ��� B;<(��$!��� � � � $E�h�D�h�I<(GV�=���D� � -L�#������� �E�=��� ���2��� � 
 �=�4�
	 �=�
�J	�� ��� � ��� 1 �h��� ��'y��$ ��� }"��� .x� GV��� �/.h�h� � � ���=& .�� � 4 �J%u}h�=����� �J6HG(G��"4��-2 (N ′) � & �
���� � ��� 1 �h� ���+'y�=$ ����}"� � .l� & < �H	 ��� @ �,�h���2�'�b� ��� � & �l� ���2���K, � % 6HG(G�� 4��-2 (B′) & � �H� � B �*�'y��$ ��� }"��� .x�0� � 	�� �5� � � �=& �h���N���=��� � � � � � .|��� ��� 	 ~ 1 � ��� �=� �3�*�,������� �o��� 
 �F4�3 � � ��� �=� �
6
G(G��"4"�12 (L′) �!� ��� .C���($h����GV�=��������� � � 	 � 1 	(� �;: � �7.l�,:=�2����� ��� .��=� ���=� 	(���HB��+' ��$ ���;�
}�� � .l��� ��	 �=� B;<(��$!��� � � � $ �l�D�h�!G_������� ' � ��� �=� ��� � �(1 	 ����� � �/�8Ah�=� ~���	 � � � ����� G � ��� � ���
�h���+� 1 >*�h��� 	 ��� Θ‖

� 6
G(� .l� �8� ��$h��� � �
� �=� 	 � � � ���2��� ��! � � ���,�,����� ��	 : 
 ������� �=� 	 �=� )+������G �(����� �=� & < � 	(� � Θ‖

� 6HG(� .h� ��� �2�
$h��� � � �(	 	(� � Θ⊥

� 6
G�� .h� �8���8$h�=��� $E�h� � 1 ��� � � � 4�� 3�,A0n���,$ �=.h� � 
 ���,	 ���
� �,��� :=�����h�3�
	D���,� αN

� �(	 � ~ 1 � ��	(� ���o�,�2�����l� �?� B ��'y��$ �,��}"���7.l� & < ��	(��� ��<(��$ ����� � ��� � � �
.|��� ��� � � � �
	 ���l�,������� }�~�� Θ‖

� �(	 Θ⊥
��G(�#.h� �h��� αB

� �(	 αL
� .h� ��������GV�=��& �l� ��� � � ��	 �,�l���2�,���

}�~�� Θ⊥
��G<� �h� ���=��	(� � ���0� .h� �h�=� �,� � �2� � ���h� }h~�� Θ‖

��G�� )I� � ��� �(	 ��� � � �.}�~h� Θ‖�D�l� 	 ��� 
 �����=� �=� � ���4}"� ���
� � .h��$h��� �=� )���� ' � ��� � � & 	(� � B��+'y�=$ �,��}"���7.l� ��� �l���6��� � �
� �(	 ��� � � �6}h~�� Θ⊥

�
�H� � )j� �=���8� ����G(� .h� �8� �8$l��� � & < � 	(� �=� �=� �0���=�1�'�b� �,��� � & �h� �E��� � � � 6
G(G��E4"�23 7����=:=�����h� �

)��H:=�=� �h�H�,�2���
� 	(���,�H	(� � 1 � ��� 1 �l� � B��+'y�=$ ����}"� � .l� }�~�� ,A/ � � �F	 �=� B
<(��$!� � � � � $E� �
�D�h� � � ��� 	 � ����� ����� � � �h��� �l�,� ~�� 	 ��� �I� ~h� ~�� �=� �=� ��� �8��� GV��� �*����$ � �=��B
<(��$!� � � � � �
� � � �(�2��� ����� ��������� � 
 �=��	 �=�F$E�h� ���D�H� � 1 � ��� 1 �h� �
B��+'y�=$ �,��}"���7.l�+GV��� �7.h�h�;4@0 � G_�=�
��� � �=�
)j� �=���8� �=G � �=��� �o}h~�� 3�/ 1 � � % > . KB� & �*���*6
G�G���4�� 3 7 % N & ��> < �
	 �=� @0���h��� �
�b� ��� � & �h��� GV��� �7.h�l�0	(��� � � ��� 1 �h��� �+' ��$ ��� }�� � .l� 3�2 � GV���N��� � �=� @ ����� � �I}h~�� 3�+ 1 � �
% > . K � & �+�=�+6
G(G��H4�� 3 7 % B & � �
� � )j� �=���8� �=G � �=��� � 	 ����� � � ���'�b� ��� � & �l� ��� G_�G� �7.l�h�
4�787 1 � �5� 	(� � B ��'y��$ ��� }"��� .x� & < � 	(�������=�C>*�h� � 
 � ��	 	 � ����� 	�� � GV���2	 �=�C�h��	 �=���=�
�b� ��� � & .h��� ��	 � � � ������� GV�=����� � �7. ��� �,� �h�D� �h��� �=��	(� � �8�0$E�h� � ����� �>� � ��� 1 �h� ���+'y�=$ ����}"� � .l�
}�~�� ,@2 � GV��� )j� �=���8� ���5�=��� �=����� � 
 �=��	 �=�
� 	(� � � � A��=���D�h��G 	 ���H@ ��� ���2���(� �2� �����=�
�D���
	 �=� ��� 	�� �0GV���2	 �=�F�h�(	 �=� ��� � � � � � & .h��� �P� ��� � ���(� 
 �=� � ��B��+' ��$ ��� }�� � .l� �=�F� � & :��������=���

�H� � B��+'y�=$ ����}"� � .l�?� � 	 ���FB
<(��$!� � � � � $E�h�D�h� $E�h� � G(��� : � 287 � G_�G� �,�h���=�<� 
 �=� �
	 �=� �o�,��� ���h��� 1 � �(	 ����� �=�(�
3 787 µ 1 	�����$ ��� � � � � 6
G(G���4�� 383
��� � 	�� ���=��� ����� � ��� �
.C� �6�
$h�=����G(� .l� �8� ��$h��� � 	 ���;B ��'y��$ �,��}"���7.l� � �(	 	 ��� �N�,�h�(� 1 �2�,�,��~�� & < �+	 �=�.��� �=����� ��� >*�h� �
����:���� �l�3���h� ���=�,	�� � �8� GV���X�=� � ��� �o�,�2�����l� ��	�����$h��}�~h� 3 1 1 ��)I����� �8�2G � ������������� .�� � �2�?�
��� ���
@?����	 
 � �0& < �+	 �=� 	(< � � �=���=�O�o���������h� � �!G_�=����� � �=� � �h��� �l�,� ~��6}�~�� Θ‖


 ���,	 	(���
� � ��� 1 �h� ���+'y�=$ ����}"� � .l��% �(���=� 4@4 � & <(GV�=�E�=� � ��������~8A���� .C���($h����GV�=��������� }�~h�|��� 
 �
39� 4 1 �,��	2��� � �=����� � �6C � � � � 	 �=� 	(� ����$ � ��� ! 1 ����G � � �I}�~h� Θ‖ = 0 }���� �,��� ������� �������
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� �=�4� �b� ����� �?�
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;� ��	 �+}�~�� � � �= h�=��� � ��	 �b� ��� ���D� � ���=� % 3�2A/32 & ��� ��~�� �G���2�,����GV��� �������6�
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 �=��	 �=� $ �l� ���
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� ����� �=~��������2�,��� ��� @ �G� ��� ��� � � � �����s}h~��
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& <�� � �2����� }�~�� � � � � �=� % 4�787�7 & ��� ��~�� �G���2�,��� ��~ 
 ���s�*��-_���,� 1 �=� � �=� ��GV���D�l�(	 �=� �3� ��� ��� �
� � ��� % � � ��� �=���G�
�l� �?�*4�787�3 & �� �C	(����� ��� 6 ��G_�=��� 
 �=��	 �=� �=����� 1 �h�2�n�*��-V�=��� 1 �=� � ��� ���O! � � �=�,� � ��� � � ����� �=� � �=�
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;� �,	 ��� �h��� � }"� ���
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���?� ~ 1 ~�� ~"��� ��~ 1 �x������� ����� � �b� ����� � � � �H& .h� � � � � &
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 �2��$h�����3�D	(��G_�=� 
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>*��G �  ��'����� ~h� � � � �=� &u�=� ~ 1 �G� �=���D�*� ~h� ��� 1J
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��� 9@2

� ��	(��:����j}���� 
 �=�(	 �G� �b����� �A�����=&u���=��� ��� � � �L0���� �(G_�=�,��� �����2G � 	 �=�6� ��'y��$ �����=���=�(	 ��� ��-(�����
�h�=� � �(		��� �F� ~"��� ���=��� ��� � � ���;�+~���:=���2��� �=� G_�=�,��� ������GL�
	(�����b����� ���*� � &I	 �=�
	(����.��=��� �
� � &�	 ��� ��-�� �=�h�=�f������& .h� � � ��0 � ���+�=�,	 � � � ������� � � � �2��� 	(� �=�?� � &�	 ���0������� � ��� �L�=��� ��}h~��
6HG(G��D9(� 3E����:������h� �

�
���E~8- ���2�,��� � .��=�8	����_�=� ���(: ∆d :

 ���,��� �=� : 
 �=� � � &u�����D�h�(	 ����&u~������=��	 �=�FB��+'y�*�

����~�� �=�F��� �;	 � �������
∆d = 2dg

√

n2
g − n2 cos2 θ % 9��23 &

�h�=���=G_�����*�0�h�,� � ��� �=� � � ��� �������=� � � �I�D�����=�(	(���X��� ���(: ϕ }h~����
ϕ = 2π∆d/λ. % 9(� 4 &

�
��� � �=��� 1 ��� 1 - ��� � � 	 � Et
	 �=�2� ���h�(� 1 � � �,� �=� � ���C�b� �,��� � � � � ��� �8�2G � �,�2��� �h���

� �(1 1 � <(GV�=�
�h��� � � ���h��� 1 ��� �,� ����� ���F�b� �,��� ���=���

Et =
∞

∑

j=0

Ejt = E0t
+
1 t

+
2

[

1 +
∞

∑

j=1

(r−1 r
+
2 )jeijϕ

]

. % 9��1, &
� � �=����� � � ��% 9(�1, & �������=� � �o�h�=~ 1 ��� �,������� � B �=��� � �

Et = tFPE0, tFP =
t+1 t

+
2

1 − r−1 r
+
2 eiϕ

% 9�� 9 &
C � �F$ �l� � 	�� �P� �,�h�(� 1 � � �����=� � � � � � �=�(����� .x� It GV�=������� � ��� 
 �=��	 �=� �

It = |Et|2 = TFPE
2
0 , TFP =

|t+1 t+2 |2
1 + |r−1 r+

2 |2 − 2|r−1 r+
2 | cosφ

. % 9�� 0 &
�H� ���I�D����� φ 
 ���,	 � F � ��� � 
 ��� E �����D�h� � �
�,��� �����;	 � �,�����

φ = ϕ+ ψ, ψ = �l� � (r−1 ) + �h� � (r+
2 ) % 9��1+ &

�h�=���=G_���
� 
 ~8G_�=� ψ 1 �����2����� �
�I�D��� ���(�,- �,< � �h� GV��� 	 �=�;B��+'y�*��� ~�� GV������� � �=��G ��� � ���
	 �=� � �+My��������~�� ���

T = |t+1 t+2 | und R = |r−1 r+
2 |, % 9�� / &

$E�h� � 	 �=�	�C���h�(� 1 �2�,��� ~��(��$h~b� � :����=� � TFP
& < � 	(� �=� �=� >*�h��� 
 �=����� � � � 9(� 0 � � ���

�h���,��� �,� �=G_��� 
 �=��	 �=� �h���=�

TFP =
T 2

1 +R2 − 2R cos φ

=
T 2

(1 −R)2 − 4R sin2 φ/2

=
T 2

(1 −R)2

1

1 + 4R/(1 − R)2 sin2 φ/2
. % 9��14 &
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F =

4R

(1 − R)2
, H =

T 2

(1 −R)2
% 9(�12 &

	D�h� � &u~�� �l� �
TFP = HA, A = [1 + F sin2(φ/2)]−1. % 9��23 7 &

� ��������� � � �K% 9(� 3 7 & 
 ���,	 � � ��� �h�2�06
���� >y~�� 1 �=� G_�=:=���2��� � �G� � �
��� > � �($ ����~�� A(φ)
� ���2Ah��� F � ����� � �@E�G � � G���� F � GD�

6 � & . � � ���2��� �I.|�=����� $2��� � ��� � � ��� 	 �=� 6 1 - �2��� � 	 �=�6� B ��'y������~��(�,$l~L��� :�� ��� � rFP� �(	F	 �=�
B��+'y�*����~��(��$h~b� � :����=� � RFP
GV�=������� � ��� 
 ���,	 ���
�f��� �=� ����G �;���������

rFP = r+
1

t+1 r
+
2 t

−
1

1 − r−1 r
+
2 eiφ

% 9��2383 &
RFP = F sin2(φ/2)A(φ). % 9(� 354 &

� � 6
G(G ��9�� 4 ��� �;	(� �$�C���h�(� 1 �2�,��� ~�� TFP
& < ��}h�=�,�����(� �=	 �=� ��.|����� �o}h~�� F G(: 
 �

R �h���H> � �($ ����~��	}h~�� φ 	D�h� �h����� �=����� � TFP
��� � �=� � � -_���,��~�	(�2�,��� � > � �($ ����~�� 1 ���
	 ���

�N�=��� ~"	 � 2π �*�
� ��KH�h��G 
 �=���,�,G ����� � � ∆φ �=� � �=� � � ��� 1���1 � $E�h� � 1 �����
∆φ = φ+ − φ−, TFP(φ+) = TFP(φ−) = 0, 5 % 9(� 3�, &
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��	D���,� 	(� � 6 1 - ��� � � 	 �=�6� B ��'y����� ~h�(�1� � �(	
�N�,�h�(� 1 �����,��~��(�,$l~L��� :�� ��� � �=�F$h~ 1 - �����L� � � �8A����F��� �(	 �

T = |t+1 t+2 |e−Im(ϕ1) % 9��1,87 &
R = |r−1 r+

2 |e−Im(ϕ1)(1−b) % 9��1,�3 &
Ah����:G��$E�h� � 	(� � B ��'y��$ ��� }"��� .x� � �(	 	(� � �N�,�h�(� 1 �����,��~�� ����� ����BL��� � �����6�'>*��G �� ��'���=� ~l�� � � ����&u�=��~ 1 ��� ���,�;GV�=� �=��� � �G� 
 �=��	 �=���

TFP =
H

1 + F sin2(φ/2)
, RFP = 1 − TFP − AFP

% 9��1,J4 &
KH� ���,��� ����� AFP

	(� � 6HG(� ~���- ����~��
�

F =
4R

(1 − R)2

� �(	 H =
T 2

(1 − R)2
. % 9��1,@, &
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�H� � � � 6HG(�,��� �(����� 9(� 4"�23���� & � �(	 ��� �=� 6 � ��	 �,<���$h�F�,� ��	 &u~h� 1 �h� 	�� ������������� �=� 
 � �
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GV� � ��� � �=�
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� ��	 � ~ 1 ��� R� � � �(��� � �=����� ���(	���� ~8Ah� .|����� �.��� � �=����� ���
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�=� ��& �l� � ���(	 �?�b� �,��� � � � �o�=� & < � � � �2�������0� � �=�I�2��� R �h�2� ~P�=� � �?> � �($ ����~�� 	 �=� ��� ~h� ~�� �=�
)j� ��� �8��� E � 	 ��� )I����& �h� � 
 � �($l�=�2� θ � �(	 <(GV�=��	 �=� 6
G(� ���h��	 	 �=�(���+'y�=$ �,� ��� �=��	 �=�
6A� ~ 1 ��GV�=� ��� � � ��� 	 �����E����� ���h����� � 1 -V�=�,�l� � � T �

�
��� �C���l�(� 1 �����,� ~h� � �(	�B��+'y�=$ ����}"� � .l� $E�h� � � � G_�=��	 ��� >".h� ���=� �h��� > � �($ �,� ~���	 ���
6H� �  � �I�D��� ��	D�l� ���=��� ��� � � 
 ���,	 �������
� ��$h~h�($ � ��� �=� 6 � �,	 �,<(��$l� & < �;	(��� 6H� �  � �I�D��� �
� � � �=���,��� �=��	 ��� �,����� � 1 >��l� � �d��� � ���C~8- ���2�,��� ��� � ��	 � 1 >��l� � �d��� � ��� B���� � ���=�6� >*��G �� ��
���=��~h� � � � ����&u�=��~ 1 ��� ���,�
�h��� �=��	(� � �8� }�~h� �����D�h�(	 �����

C
� 1 1 � 1 �h� �h�
��	(���,� 	�� � @0��	(��� � � � �H& < � �C~h���h��� ��'y����� ~h�	% �=��6HG(�,��� ����� ��4�� 4"� 0 &����& < ����� �����D��	D�l� ��$ �l� � 1 �h�0& < � 	(� �IBL��� � �h�=�6� 6
� �  ��'�I�D����� � � �=9(� 4@/ 
 �=����� � � ��4�� 3 7@+
� �(	 � � ��9(� 4?+ � � ���F�,��� ������GV�=� �

φ = H · u − ku · ez

2|γ
H
| Re(χ

0
− χ

g
)

(

1 − 1

b

)

. % 9(�-,�9 &
� �=���=����� �B�N��� 1 � � � � �"9(�-,�9���� � }h�=� �h� ���2���!GD�h� 1 ��� � � ��9��23�0"� 
 ���,	 	(������-D�l����G � ��� � �
��1

dH
��� B;����� � � � �2}�~�� H }����7.h�(	 �=���D��� ~ .l�(	 �=� � �,�2��� 	(� �����(��� � ��1 2π � � ���
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 �=��� �K�C�=� 1 � � � � � 9(�1, 9 GV������� � �=��G ���=� � � �I�D�����=�(	(���X��� ���(: 	�� � ��� � � ! �,��� ��� �
��� 	 ��� � � � �=���,���(����	 �2����� ��� @ ������� � � ���,� ��	(��:���� 	 �=���o���������h� �2� � �(	C	 ���(����	(� �(1 �
��� � ���,�D�h�2G 	 �=� ��-(�h���,� �D�x� � �
� �=� �=� �N��� 1 .h�(	 ����� �,�2��� <(G �2����� ��� 
 ������� 
 ��� ��� � ���2���
���h� �8�,� 1 �=� 1 ��� u �h�2�I	 �=�+�=����� � �C�=� 1 � C
� 1 1 � 1 �h� :�� @
�"�h�
�J	D�����0��� ����� Re(χ0) =
10−5 � Re(χg) = 0

� �(	 λ = 0, 1 � 1 � � ~ 1 � �,� dg

�(1 � ���"3 7 µm }��=�/.h�(	 ����� 
 �=��	 �=�<�
��1 	(� ���I�D� � � �(1 2π : � .h��	 �=�����

6 � � � � � 9��1,�9 �����I�=���,����� � �������<� 	D����� ��� 1 �����2����� �����D� 	 � �,���-����� � � �l���h��� �=� }����1�
�����(� �=G � � � 	 ���0����� �=�>�o�,��� ���h����� 	 � ���!���=�($ � �=��� �+: � ez

	(���H�I�D� � �
: � .l�(	 �=���
� 
 ��� �
H

� �(	 ez
�(�2��� �H-(�h���h��� ��� �,���(	��

�+��� �D����� �=.����,� �l� 1 �h� 	 �=� : 
 ��� � �=�-�N��� 1 � � � � � 9(�-,�9 � �(	 ����� H ‖ ez
�5� ~ �=� ����G �

������� & < � 	 �=� >*�h� �;���=�($ � �=��� � �=� )I� ��& �h����� � � & 	(���5� ��'y��$ �,� �=���=�(	 �=� 6A� ~ 1 ��GV�=� ���
% θ = 90◦ & 	(� �P���,� � �$C . � �=� � � � & < � 	 ��� &u� �����=�F��-V��$ � ���h�2G_��� ���2��� � � & 	 �=� )+� �=� ��� ���
G�: 
 �D.|��� ���=� �@.h� �����(�,$E�h�����

E0
f = hc/2dg

% 9(�-,A0 &
λ0

f = 2d2
H/dg.

% 9(�-,@+ &
� �=��&u� ����� ��-_�=$ � ���l��GV�=� �=����� E0

f

� � � �=���,��� �=��	 �G��������� �(����� � }�~�� 	 � 1 &u����� ��� ��-_�=$9�
� ���h�2G_��� �=����� � 1 ~8- ���2�,��� ��� >*�h��� � � � ��9(� 3�2���6 � � ���,	(��� �8� 
 ���,	 GV����@ �,�h���2�'�b� ��� �(� � �
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�(����� � � � 1 ����� ����GD�h� �h� 	 ���L�E����� ���h��� ~8GV�=�1' .���� � � �+' ��$ �����=���;��~��(	 ��� �F� � � �=�,�(�h��G 	 �=�
�E����� ���h�����H�h� 	 �=� 6A� ~ 1 �=G_��� �=�
� 	�� ������� )I� �(	 �,� � ���=� ��� 	 �=�K�o�,�2�����l� � 
 � �,	 	 � �,���
	(� ��)"�b�����($ ��� ~h�(� �@.h� ��� de

GV������� �,����GV�=���*@ �=�����=�(� � �=���=�H@ ��� ������� � � � �6�=� ����G �;���������

Ef =
E0

f

1 + de/dg
=

hc

2dg + 2dH/(π|χH
|)

% 9��1,A/ &

λf =
hc

Ef
= 2dg +

2dH

π|χ
H
| .

% 9��1,@4 &
6 �D�h��~�� : ��1 ~8- �,���,��� �=� >��l� � �2���;�(���=�;	(����> � � �=�,��� �l� � �h� 1 ��� � 	 � �������

F =
2π

∆φ
=
π
√
F

2
=

π
√
R

1 − R
% 9��1,@2 &

���=���=G_��� � �(	 ��~ 1 ���;� � ��� 	D� �
6 � ' �8� � � �8� }���� 1 �����=�<� Γ = Ef/F �
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� 1 &u~������=�(	 �=� � ~h� ��$ � �,: GV���,��� �,� �=G_��� 
 �=��	 �=�<� 
 ������� ��6HG 
 ���2��� � � ������}h~��.��� � � 1
-V�=� &u��$ � ���CB��h� � ���=� �'>*��G �  � ����� ~h� � � � ����&u��� ~ 1 ��� �=�D� 	(��� GV���;	 � 1 @ � � � �(	 	 � 1
@0��� ��� �=G��=� � �=� � ���h� ��� BL��� � �h�=�6� >�� G �� ��'���=��~h� � � � �=��&u��� ~ 1 ��� �=���6�G}���� � � �=���;� � &v� � ���
� �=� $���� � �=�
�J	�� �;> � �($ ����~��(� & .��(� ��$h��� � 	 �=� � �(��� � �(1 �=� � �=� GV�=�=� � � �/.���� �������=� $��h� � �=� �
�
��: � 1 <(��� ��� �h��� �#��}���� � � ��� � ��� 6
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 �=����� � � �h�=��}h~�� ��� � � 1 -_����&u��$ � �=� B���� � ���=�6�
>*��G �� ��'���=� ~l� � � � ����&u��� ~ 1 ��� �=� GV��� ������� � �G� 
 ���,	 ���
� 	(��� : � �=� � ��� � ��	 �=� � � � 	 ���
6H� �  � �I�D��� � & <(� � �=� $���� � �=��� �
����� �,���(	 � 1 )I� �(:��=��� �=� ! � �=G_���(� �=��� ��� 	 ��� �o���?�
� ���h��� ~8GV�=�1' .���� ���
� � �(� ~ 1 ~������(���7.l� ��� ��� 	 �=�
�
����$l��	 ���N�o�,��� ���h��� �2�(6
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 ������� � � ���=�
}h~�� 	 ���n������$ � �=�C� �l���h��� �=�2���7.l� G_�=��	 ��� �o���������h� ��� : � �=� �D�h��	 �=� � �(	 �C� 1 -_�����l� � �1�
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 �2�,��� ��� 	 ��� G_�=��	 ���8�E����� ���h��� �=� � )I��� � $h~���$b����� �6� �(1 �=��������� � @ ���
�(�h�(	 � � � � &u~�� �l�+� 1 � .����(� � �=� ����-(��� �=� �
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 ��� � � ����� � ��� � � ����
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�H� ��B
� � ���8$h�=���H	 �=�
� � � ��� ��� �o�,��� ���h��� ~8GV�=�1' .���� ��� ��~�� � 	 � ����� 	(� � 6
G 
 �=����� � � � δz}h~ 1 �F��� � �=� 
 �����IGV������� �,����GV�=� 
 ���,	 �����!� � ����� 	�� �����+6
G 
 ������� � � � 
 ���,	 	(���;��-D�h� � �
G � ��� � �P}h�=�7.l�(	 �=� � ��@ �G� ��� ��� � ��� 1 �h� 	(� ��)"�b� ��� 1 & .h� ���H& < �+	(��� ��-D�h� ��G ����� � � dg + δz� �(	 dg − δz ��	D�h� � $E�h� � 	(���
	D�l��� � �0� �=� � � ��� ��� ���(	 � � �(	 ��� � � � 	 �=� �I�D� � � δφ 1 ���
� � ��9(�-,�9 ��G ���=�,��� .l�,:�� 
 ���,	 �����

δφ = 2kδz [Re(χ0) − Re(χg)] .
% 9(�%9J7 &

�H� ����� � �(	 ��� � � � 1 � �,�+�+	D� 1 ��� 	�� � >*��G �  � ����� ~h�1�'B���� ~h�D�h�(:��=� �(����� ��}���� 
 �2�,��� �
 �=��	 �=�<� 	 � � � ���2��� $ � �=� � ��� ����� � �h��� 	(� � @ � �=��� � ∆φ = 2π/F ��	D�h�,� � � &u~�� �h� 	(���
@0��	(��� � � � �<� �

δz � dH

F|Re(χ0) − Re(χg)|
. % 9(�%9(3 &

� � � � � � � � � � ��������� � � ����
 � ����� ��� � �

� �(	 ��� � � �h�=� ��� 	 �=� �
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	 ���H���(��� ���(�,- � � � �8�

φR = arg(r−1 r
+
2 ), % 9(�%9!4 &
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δux = −zψ, δuz = xψ, % 9(� 9@, &
� ��� � � � 9(�-,�9 $E�h� � 	(� � 	D�h��� � � � �=� � � ��� ��� ���(	 � � �(	 �=� � � � 	 ��� �I�D��� � GV�=������� � ���
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δφ(x) = H · δu(x) = 2πγ
0
xψ/dH .

% 9�� 989 &
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���(��� ��� .h�(	 ��� � � � δφmax
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δφmax = (2πψ/dH)X, % 9�� 9�0 &
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� �h�,�h� ���=��� � .l� 	 ���
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ψ <
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2πX
∆φ =

dH

X

1

F .
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���
@ ����� � �;	 �=�?B ���8� ~h�
�J� � 	 �=� �N~l���h��� ���
'y����� ~h� � � &v� �,�����3� � � � 4�� 3 7A/ $ �l� �
��� � )I���(� ��� � ���5}�~�� α � 1 � � b = −1 % �� 1 1 �G� �,�;�
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@ �,�h���2� >*�h� � & � �(	 |C| = 1 % s �'�N~h� �h�������x��� ~h� & : � �

∆α = 4|χ
H
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δα = −4βH(T )δT. % 9(�%9A4 &
�
� 1 � � �,�2��� 	(��� @0�=� �=����� � 	 �=� �C~h���h��� ��'y����� ~h� GV���2	 �=�>�o�,�2�����l� � � <(G_���,����� � ���2	 �=�<�
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δT � |χ
H
|/βH(T ). % 9(�%9A2 &
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|k0|2 = |kH |2 = k2 % 9(�10�7 &
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kH = k0 + (H − k
α

2γ
H

ez) = k0 + H ′. % 9(�10�3 &
� �=� .C� �($l�=� η �2���.������������:=��� ����� � � ��� 	 ��� .C���($h��� : 
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� ~�� 1 �h� ��� ez

� �(	 	 � 1 ����:��2- � ~�$h�=� � � � � � }��=$ � ~�� H � 6 � � � � � 9(� 0"3 &u~����h� 	D��� ���
H ∦ H ′ � 
 �=� � η 6= 0 �D� ���
.C���($h��� ψ : 
 �2�,��� ��� H

� �(	 H ′ G_�G� �7.l�h� �

ψ = k
|α|

2H|γ
H
| sin η. % 9(�1084 &

)I��� �$�N� 1 -V�=�,�l� � ��	(���_�=���=�(: δT & <�� ���
	D��� �=�;: � ����� �=� .C���($h����	(���X��� �=��: δψ �

δψ = k
|δα|

2H|γ
H
| sin η = βH(T )δT tan η. % 9�� 0?, &

! 1 	D���E�=��	 �8< � ��� �h� )+������G �(��� : � �=���D�h��� �=� 
;� �,	 � GV�=� � ��:G�3� 	D�����#�(��� �6������$ � ���
B;<(��$!��� � � �(� � ����� ����� k ' 2H

� �(	 |γH | ' cos η � .C����	 ��� 1�� �,�.������� �=�
�+	D� �,�
δψ � δφ �(	D�l��� � �+&u~����h� �

δT � dH

XFβH(T ) tan η
. % 9(�10 9 &
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 �=��	 �=� �*�0�h� � $E�h� � 1 �h� 1 ��� � � ��9(�-,@2�	(���
.C� ��$h�=�2G � �=�?�
� � ∆θ 	 ���
B���� � ���=�6� >*��G �� �� ���=��~h� � � � �=��&u��� ~ 1 ��� �=�4�'B���� ~h�D�h�(:��=� GV��� � �=��$b������� � � 1
)I����& �h� � ��G(����� .l��:��=���

∆θ = 2

√

dH |γH
|

dgF
. % 0"�23 &

! 1 � � � � � �O0��23 ����� ��$h~���$b����� ��@ �=	(� � � � � � & < �
	�� � ��-D�h� ��G ����� � ��: � �=�,�(�h��� �=�
�
1 � �,�I	(��� > ��� ����� � F G_�=$E�h� � �I� �=� ���9� ��� � � � 9��1,J4
$ �l� � 1 �l��G_��� �=��� � �=�<�J	D���,�j�=� � �
��� � � }h~�� ���>�o���������h� �2	(����$l� � 1 @0�=� �=����� }�~�� d = 90 − 110µm �����=�h��� )I� ��~�� �I	(��� �=�
�l� ���=� ~ 1 1 �=� 
 �=�,	 �=�
� 	D���,�HG_�=��	 ���o�,�2�����h� ��� 	(� � �
�2��$h� 100µm �D��GV�=�
�*	D�h� � ��� �
TFP ' 40%

� �(	 F ' 9 �_�
�L�G��:G� 1 �l� F = 9 � dH = 0, 043 � 1 � �(	 |γH| = 1 � � � � �O0"�23#��� �<� ��~2�=��� .h���

1 �h���
∆θ ' 140µrad

√

mm/dg.
% 0"� 4 &

@0���X�=� � ���;��-D�l����G � ��� � �
: 
 �2�,��� ��� 76� 0 � �(	 3 1 1 �2� �=�l�?	(���H.C���($h����G ������� �0�h�2� ~ : 
 �?�
����� �=� 4�787 � �(	F3 9J7 µrad

� �(	 	D� 1 ��� 	 � � � ���2��� <�G_��� 	 �=� �
��}h�=�����=�(:�}�~h� <(G ������� �=�1�
 ���2� �04�7 µrad �h� 1 ~"	 �=��� �=� �" b�(��� ��~h� ��~��(��� ����� � � � ��� � � �=��� ����� � 1 &u~h� �����(	 �=� 
 � ��	
}h~������ � �=�H��-D�h� ��G ����� � � }h~�� dg � 7 �10 1 1 � � � �h�=�J�h� ���=���
�
� ��� � ����� � � � � � 
 ��� � ������� � ��� � � ����
 ����� � 	 � � � � � �����

C
� 1 1 � 1 �l� 
 � �=	 �=� ��� � � > � � ���,���#}h~�� F = 9 �h�
��	D�h� � 
 ���,	 	(��� 6 ��&u~��,	 �=� � � �
�l�F	�� � ) G_��� ' .���� �=� �,� � � ��$h��� �3� � � ��9(� 9�3 : � �

δz � 2dH

F|Re(χ
0
)| =

0, 086 nm

7, 1 · 10−5
= 1, 2 µm, % 0��-, &


 �=� � Re(χ
g
) = 0 �2���D��	��%��� �,�2��� 	(��� �o�,��� ���h��� � � 1 � � $ ���(1 G_��My�(	 ������� � � 1 ~2�

	 �=� � �=� �C~������=� 1 �G��� ~"	 �=� �2�����=� � �$! � ��GV�=�(� ����� }�~h� � � � �=� 0, 1 µm : � �=��� ���2��� �=� �
� � ��"$" W �MX$�����:�$+ ���,�(�,� W �MX$�,)A
(	�CA	�

p�
�� �,"A'�
(SM
 8:����/���"B) +#"�"��,"GFnS ; HV;$v � � � � �Aw F�/�� "�"�) � "�"/�	��rN�	�"��,�
�(�V0$	��6S,'

F ' 30
07�M
(�����#��"G;
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.C� �
GV�=����� �����=� 
 . � � �3��& <(� � �=� � �(	 �=� � � ����� � � 	 ��� �o�,��� ���h����	(�2��$h�H: � ����� �=� � �(	 �*�
� � � � 	 ��� ���(��� ���(�,- � � � �8� φR

GV����	 ��� B��+'y�*����~�����KH���=� � ~����V� � �?$ � �,:0� G ��������� .l�,:��
 ���,	 ���
� 
 � � ��� ~�A 	�� � � �(	 �=� � � ���=� � �C	 ��� �o�,�2�����h� �2	(����$l� � �=� � 	(< ��&u���
�+	D� 1 ���
	(� � >*��G �� �� ���=��~h� � �L� �=� &u�=��~ 1 �G� ���1�'B�����~��D�h��:=�=� �(�2��� � ���=���7�h��� 
 �=��	 �=� �J@ ��� �7.h�l� 	(���
.|��� � ��� �=.l� ��� 	 �=�I��� ��& �h� ���=�(	 ��� .��=��� � λ = 2π/k ' 3�� � �(	 �(��G_��� α � ��	 χ

0	(� � � � �8A���� ~��,	 � � � � 10−6 ��	(�h� �n��� �8�2G � �,�����<��GV���V����� �=� > � � ���,��� }h~�� F ' 9 ��	D� �,�
	(� �
B���� ~h�D�h�(:��=�n������� � �h�����/����� 
 �=��	 �=�
� 
 ��� � 	�� �;6
G 
 ������� � � � 	 �=���o�,�2�����l� ��	�����$h�
}�~ 1 � ����� ��� 
 �=��� ≤ 10µm G_�G� �/.h�h��% ��� }! "	�# $l~#�"4�787 9 & �E�
����� � @ ��	(��� � � � �0��� � ��~ 1 � ���GV�=��& �h����� 	 � �,��� 	D���
�N~��2� ��� �=� 	 �����E����� ���h��� � ����& < ����GD�l���
��� ����� � ��� � 
���� � � 
 � � ��������������� 
 � � � 	 �������

6 � � � � ��9�� 9A+ 
 ���,	 1 � �+	 ���	��� �,�,- ������� ���(	 ��� .|����� ��� & < �+	�� �����=� >*�h� � �
ψ <

dH

X

1

F =
4, 8pm

X
= 4, 8nrad

mm

X
. % 0�� 9 &

@ ��� ����� �=� �b� �,��� ��G � ��� � �.}�~�� X = 1
1 1 1�� ��� 	(� � 6
G 
 ������� � � �-}h~����*�(� $ � �=�

� �h�,�h� ���=��� � .l�?�h�2� ~ $ � �=� � ���;�h���+9#�-4 � ��� 	 ����� � �
��� ����� � � � � � ��� 
 ��� ��� 
 � � � � � �������

� �=� ����� � �h��� 6 � ��	 ��� � � � �8�,$l~L��� :�� ��� � βH(T ) GV��� T � ,A/@06� 7 � ��� � GV��$E�h� � � % �"�6�
}" "	�#%$h~ �G�;�h� �?��4�787J4��6� � ��� �����;�l� �?�(4�7�7@, & � � � � βH(375 K) = 5, 8 · 10−6 � −1 &u~�� �h�
� � � � � ��9(�%9A2 	D�h� � 	(����>y~��,	 ��� � � �(�

δT � 1, 7 · 105K|χ
H
| = 70 mK. % 0��10 &

.C��� � � 6
G(����� �(� � � 9(�1,�� 9 GV���,- � ~"��� �=�
�+� ������� ����� 
 ��� � �=���=� 6
��-_�=$ � GV��� �C� 1 �
-_�����l� � � � � � �=�,�����(� �=	 �=� � � &4� 
 �=� � 	(� �$�o���������h� ��~8GV�=� ' .���� �=�n�(����� �
-D�h�,�h� ���=� : � 	 �=�
6A� ~ 1 ��GV�=� ��� �,���(	��<� ���
	 �=� G_�=$ �l� � � �=� .��=� � ��� & < �
	(����> ��� ����� � � �(	 	 ��� 6 � �4�
	 ��� � � � �8�,$l~L��� :=� ��� � �=� ��� �8�2G �0������� GV��� �=� � �����b� �,��� �2G � �=��� �#}�~�� X = 1

1 1 � � �
� � ��9(�10 9(�

δT � 0, 73mK/ tan η. % 0��1+ &
� �=� � ���,� � �=��� � � �8�,GV��	(��� �h� � .C� �($l�=� η : 
 ���,��� �=� 	 �=�$�o�,�2�����h� ��~8G_��� ' . ��� � � �(	 	 �=�
6A� ~ 1 ��GV�=� ���	�2� ���h�+<(G �2����� ��� 
 ���2� ��� 1 @ �=��������� 0 − 1◦ �DGV��� η = 1◦ &u~�� �h���

δT � 40mK. % 0��1/ &
�
� �=� � >y~���	 �=� � � �F��� � � � � ��� �������h�2� 	�� ��� 	(��� ������� 
 �����=� 	 ��� �C� 1 -V�=���x� � �,��G(� .h� �
�8� �8$l��� �
	 ���
6A� ~ 1 �=G_��� �=�(��G(���7.h�(	 � ��� �8�2G �3�*��� � �2���0��G_��� 1 ���
� � � �������=�O�C� 1 -V�=��� �
� � ��� �=�h�=� � � ���=�.��������� ���=� �(: � �D�h� � �=� % � � ��� �D� 3�2@2@4 & �



� � � � ��� � � � ����� �#��� � � ��� ����� ��� ��� +@0

�
� ����� � � � � � � � 
 ����� � ��� ����� 	 � � ��������� ����� � ��	�� � 	�� 	 � � 
 � �
	

 � � � � � � � � 
 � � 	�� � � ���������

�
��� �+�=��� .h��� �(��� : 
 �2�,��� ��� 	 ��� .|��� � ��� �=.l� ���=�I��� � ����Ah~"	6� � ����G(�����2�,� ����� �=� K ��� C �L� � �
���=��� λ127J2

� �(	F	 �=� 57 >y� �1�(�8�,��GD� � ���,��� ����� � � � � λM
GV��� �7.h�l����� 
 ���

λ127J2

λM

' 633nm

0, 086nm
= 7360, 5. % 0��-4 &

)"��-V�=�,� 1 ��� � �=����$E�h� � 	(� �=� ��� �+���,� .l��� ����� 	 � �,��� ����� � � �l�,� �x��� ~h� ∆dg
	 �=� ��-(�h���,G � �=�?�

� �0�=� � �=� $l~ 1 G(���(� ����� �=� >*��G �� �� ���=��~h� � � � ����&u�=��~ 1 ��� ���,� G_�=���,� 1 1 � 
 ���,	 ����� � �=� 6
G6�
� ���h��	 : 
 �����=�-�C���l�(� 1 �����,� ~h�(� 1 � ��� 1 � 	 ���#~8- �,���,��� �=� >*��G �  ��'����� ~h� � � � �=��&u��� ~ 1 ���
� �=��� �=� �,�,- ������� ������� �=� � �h�,���l����~�� }�~�� ∆dg = λ127J2

/2 ���
���H6 �(: � � � 	 �=� GV����	(� �=� ���
� �l�,� �x��� ~h� <(GV�=����� �,����� �=� ��� �C���l�(� 1 �����,� ~h�(� 1 � ��� 1 �+	 ���IBL��� � �h�=�6� >�� G �� ��'���=��~h� � �6�
� �=� &u�=� ~ 1 �G� �=���j�=� ����- �,�2��� ��	D�h� � 	 � 1 �+�=��� .h� � �(�2� 	 ���d}���� ���2����� ��� �=� .��=� ���=� �@.h� �������
@0����}�~���� �=��� ����� )"��-_���,� 1 ��� � �=� $h~�� � � � GV��� 	 �=�H@ �=����� 1 1 � � � 	(� �=� �=�
�+���,� .h� � �(�2�1�
�������=� � � � G(� ~�� � � � � ���D� � ���8$h�=���0}�~�� 7 � 787�3 �=� �����2��� � 
 �=��	 �=� % @ ����$l�=�����;�l� �?� 3�2?4�3 �
@?���,��� �E���0�h� �?� 3�2@2�9 & �*@ �=� 	(�������=� )"��-_���,� 1 ��� � �=� 
;� �,	 �#��� � �����<� � � � �=� &u�=� ~ 1 �G� �=�
�h�=� � ��:G�3�E	(� � � � � ���(�,� � .l�,��}h�=��� ����� � � �
	 ��� � � � �=� &u�=���=�(: 1�� ��� �=���I����� ��� � � ��& �h� 1 � �(� � �l�
$E�h� �	��� 
 �h��� �=�
�*	D�����H	�� � � � � ���(�,� � .l�,��}������ ��� � � � �6����� ���
BL��� � �����6�'>*��G �  ��'����� ~h� � �6�
� �=� &u�=� ~ 1 �G� �=���D� 
 ��� � � 6HG(G�� 9(� 4n����:������h�3� �=� � � � ~���� �����D� � ��� � @ ��� ��� 1 1�� � � : � �
�����,���=� 
 ���,	��6� � �?	 �=� � G(� ~�� � � ��� � ���(	 ��� � �����D� � ���8$h�=��� }�~�� 7 � 7�7�3 ��� �8�2G �?�������2�=� � �
���=���l��� }�� � ���(	 ��� � �����D� � ���8$h�=��� GV����	 �=� �	�=�,� � � � <(GV�=� E�FHG<E 
 � � ��E ~�- ���2�,��� � .|���?�
���=� �@.h� ��� }�~���� 0, 001/7361 = 1, 36 × 10−7 �

! 1 ����� �5���=���l��� }�� � �=�(� � � ��$h��� �n}h~�� 1 ���(	 ��� � ���(� 10−8 : � �=��� ���2��� �=�<� 1�� ���
	(��� �=� ��� � ���	�=�,� � � � <�G_����3 9 �D�l��GV�I~8- �,������� � .��=� ���=� �@.h� ����� 1 �����2�����F� �����
� 	�� ���
��� ���,- �,����� �5��� � � 1 �+���,��� �=��� 
 �=� 	 ���FG_� 
 �������2��� �=� >*��G �� �� ���=��~h� � � � ����&u��� ~ 1 ��� �=�1�
�"-(� �����=�2�E}h~�� 9 � 9 µm ��! 1 �=� � � �#��� �=��� � �=�D� � � �8$l��� � : � ��� ��������� �=� � �(	 �h��	 �=���
�G}���� � � �=��� � �	�=�,��&u�=� � ��� : � $l~ 1 -V�=���,� ��� ���
� 
 � ��	 � 1 &u~������=��	 �=� ����� �+�=�,� � ��� ��GV�=�����2���
}h~�� 3 7 µm : � ��� � �(	 �����=���=�h���
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��
 	 � @ �.H ���=D$� ?�H �.?A@ � D H�F ��F#<�:GB>:GF#H.:G?A@"��H	�

@ �=�������,�+G_�=� 1 @ � � 	 �=�����,��� �=� B���� � ���=�(��� � �=� &u�=��~ 1 �G� ��� 1�� �,� � ��	(����>f�,�h��� GV� �h� �1�
 ~�� � �G� 
 ���,	 ���
� 
 � � 1 �h� � ~�����- �7.�:=����� �+�=����� ��� ����� � �,����� � � � ����� � �=����� ��� ���=� $E�h� � �
�L~������ � �+�=����� �=� ������� �,�2��� � � � ����� 1 <��,� ��������� � � � ���,� ��� }"��G �,�l����~��(��&u������� �h�=�D� � � �+�=�4�
��� ��� � � � �(~8� � ����-(���=�_�=� ��� � GV�=�����
����� �=�;$ �l� � 1 � �?-(�h���h��� ��� �=� @ ���l� ��&u��	 ��� ���=��� �=����� �
 ���,	 �����I)I� � �s�=����� � 6 � 
 ���(	 � � ��}h~�� -D�h�,�h� ���=� ��� @0� �l���,&u��	 �=� � 
;� �,	 �s}�~�� 	 � �  
% 3�2@,@/ & GV���,��� �,� �=G_����� �
� �=� �>�	�G��� ~"	 � 
;� �,	 � }h~�� Ah~h� ��� % 3�2@0�3 & �����D� � ��� � � � �=�4�
� � ��� �3� & < ��& A8��� �����,- .l� �=� &u~�� �l� � �=� � ��	 �G������� �����=� � �=��� 6 �,GV�����D� GV���J	 ��� � � ��� 
 < �(�,��� � �
: � �/.l��:�������� �H@0� 
 �=� � � ���=� � � �l�������l��� } � �(	 � � �h� �,�����x����} G_�=�D�h�(	 �=��� 
;� ��	 �=� % Ah~�� �=�
� �(	 � ~ � � �#� 3.2A0?+ & � �
���n���,��� � 6 � 
 �=�(	 � � � � 1 @ �=�����2��� 	 �=� BL��� � �h�=�(��� � �=� &u�=� ~ �
1 �G� �,�����=� &u~�� �h� �+	D�h� �6}�~�� K
�h� � % 3�2@+?4 & �J�
��G_�=� 
;� �,	 ��� �h��� �+)j� � 1 ��� � �
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 � 9;?�<�:+�#H.< B�� ��:G?�H � :GB ��?A@&� ?ABC��F ��?��	H�:GB>?A@ � ��? �
� ?�H B>?

0 � � .����(� ��� ~h� � ��� 	(� �6��� � �(	 � �����=��	 �=� �+��� �(:=��-(���=� 	 �=�-�	�G��� ~"	 � 	 �=�$My�(��� �=� )+�����
1 �=� � �N% > ) � & �h�#��� � � 1 ������& ����� ��� @ ���2�,-(���=� }�~h� ���=��� ��� � � 
 �=��	 �=���8�0��� @0������-(� ���!�����
}h~�� �	~8�a}h�=�(�B% 3�2?2@2 & � � ��& <�� � �2����� G_�=�,- ��~���� �����I)I� � � 
 �����=� � �2����� � � � & <(� ��������� �=� �
@0���D�h��	 � � � � 	 �=�
> )�� � �(	 �2� � ��� � �=�,���(�2��� � � �8��G � 0 ���=�($!��� 
 ���=: % 3�2@/@0 & �
�
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 � ��� � ����� � ������� � ��� � � � ����� 
 � � ����
 � ��������� 	���� � ��� �

�H� � > ) � �����5����� �|� �(1 �=�����,��� � �	���,� ~"	 ��� 1 � � 	 �=� )I� �h�=�(�����D� &v� ��� }�~�� � ~��6�
� � � � $ ��� ~h�(� ��� � 
 < ��&u�=� G_�=����� 1 1 � 
 ���,	 ��� $��h� � �=� � 6 �����=� ��& ����� ��� @ ���2�,-(���=����~�� �
�=� � @ �h��$l�=� 	(� ��� �=�
� 	 ��� �l� � �=� � ��� ) GV�=�,����� � � G_� &u�����,� �h� �2��� � �(	 �l� 	 �=�,� ��� ! �6�
� �=��� ��� � � 	�� �	. � A��=���	�o��� &v� P


 � �,$ ��� � ��� @ �h�2$h�=� �(��G_���=� � ��� �(����� �,$h~��(� ���h� � �=�
	 � ���,����� �(����� � ��	|����� � G_����� �=G(� �h�>��.h� ����� � � 6HG(G�� 0��-+ % � & �2��� 	(� � �+~���	 �=�,�h�(�,�2��� �
	 ��� @ �h��$l�=�(�6���=:=�����h� ��� �=� @ �h��$l�=� 
 � ��	 ���-}"���=� ������& ����� � �L�=� 1 ��� � � � � � �=� � �������
% 6
G(G � 0��-+ % G &/& � Ah�=	 ���F�L��� 1 �=� � 
 ���,	 	 � �,��� ����� )j� � 1 ��� � �h� �h�=� .�� �=���D�?	 �=�,���=�
	 � ���,����� �(����� 	 � 1 1 ����� ���=� ��� 	 � ���,�,��� �(����� 	 �=�2�=� ����- � �=��� �=��	 �=� �L�=� 1 �=� �,�2�=� � �
��- �,�2��� � �(% 6HG(G�� 0��-+ % � &/& � @ �G� ��� ��� � ��� 1 �h� : � � . ���(��� � � �I��� �������(:=��� � �=��)j� � 1 ��� �
% 6
G(G �A0��1/ & 1 ��� 	 �=� K �8� � h � ��	 	 � 1 	 � �=�,����� �(� � � A � � &*	D��� 	�� � �o���E&v� F
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�
� � 1 ����� � ��� � � ��� � � � � ε �2��� 1 ���?	 �=��� ��	 �=� � � � 	 �=����.h� ��� ∆h 	 ��My�(���=���
: � �
ε =

∆h

h
. % 0"�23 7 &

� 1 >*�h� ��� �=�������,������� �=�+�+�=� &u~�� 1 � � � �8� � � 	D� �HK ~L~�$h������� � � �������,:��
σ = εE, % 0��23�3 &

�(� ���+����� E 	(���
)+�������,��:=��� .x��� 1 ~"	 � ��	 ��� � �l� �=�,���h���=��6 � �;	 �=� � � � 0��-2 � 0"�23830&u~h� �h���
F =

(

AE

h

)

∆h. % 0"�2354 &
� �����2��� � � � 0�� 354 G_�=�,��� ������GL�P����� �I��� ��� ���2�,��� � >y��	 ��� 1 ���
	 �=�
>y��	 ���,$h~h�(�����h� � �=� k �
 ~8GV��� k ��������GV�=�F��� �;	 � �������

k =
AE

h
. % 0"�23�, &

6 � � 	(�������=� @ �G� ��� ��� � � � �;&u~�� �l�3� 	D���,� 	(���I)j� � 1 ��� � �I	 ��� @?�h��$l�=�(� 
 � � � � 6
G�G�� 0"�1+ % 	 &
�,$!��:=:�� �������l���0B����2� �(��� ��� ��������� �=�0>f�=	 �=��� 1 � ��,���: 
 �=�I)j�(	6�;G�: 
 ����G ��� E�G � �6G���� E�G
� � &u��� & ���,� � 
 �=�,	 �=�C$���� � �=��� �
� � >f�=	 �=��$h~��������l� � � 	 �=� i � � �=� >f�=	 �=� � ��� ki

� ��� ���
6 � ��� �=��$ � � � GV��� �7.h�l� ui+1 − ui

� � � � 	 �=� � ��������� ��� 
 �2��� �,�,GV��	(��� � � � � &u~h� �h� 	(�h� �
& < �+	(� �0& < ��& �o� ~h� �=�(- � �($ � � �

R1 − k1(u2 − u1) = 0

k1(u2 − u1) − k2(u3 − u2) = 0

k2(u3 − u2) − k3(u4 − u3) = 0 % 0��23�9 &
k3(u4 − u3) − k4(u5 − u4) = 0

k4(u5 − u4) − P = 0.

R1
��� ��	(��� B�� � $ �,� ~����,$ ��� &v���h� 	 � 1 ���,� � �=� �o� ~l� �=�<� �h�2� ~ 	 �=��6 � & � .h� � � � �(� )I�

1�� �,� ������� � : 
 ��� ���=��	��h�=��� �=�
� 	D����� R1 = P �8�����3� 
 �=� � 1 �h� &u~�� 1 �h� : � �����,���=�
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� � .�~���� �=� GV��	 � � � �G� � � �@0�� 3�+ � 	D�����I	(� �+B�� � $ �,� ~���� 1 �l� ���?� 	D�����j��~�	 � $ � � � � �b� �=�?�
M �8$h�=����� 1 �x� �,�;� � �(	 6 � ��� ���($ � � �8� 1 �l� �,�;� 1 � � � � 	 �=��� �l� �,�;� 	 ��� . � Ah�=� ���(�E�/. &v� �
�2����� � � � 	 �=��B
�h�(	�G_�=	(� � � � � � u1 = 0 $E�h� � � � �G0�� 3�0 � � : 
 �=� � ��������� � � ���=� � � &=�
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� � �,��� 	D���B����� �=� }h~�� � � �G0��23.4n�=��� .h��� 1 �h� 	(���I�����(:=��� � ��� �+�=���,���(����G � � ���=� 	 ���
�o� ~l� �=��- � �($ � � 4 G���� 0"��6 � � � � � 0��23�/ &u~�� �l�?	D�l� � 	(� � � � �8A��H	 �=�+B�� � $ �,� ~����,$ ��� &v�
R1

�

�
� � � � � ������� � � � ��� 
 � 
 � � � � 
 �����

@0���
	 �=�	! � � �=� � ����� � � � ����� ���	�����,-V�=��� � � )j��� 1 �=� � �2� $2��� � ��� 	(������� � � ��� 1 ��� �
�l��� � � � : 
 ��� �o� ~h� ���(- � ��$ � � GV���,� ��:��=���"0 � � .�������� ��~�� �<,���	 ~���� � � �#����� )j� � 1 ��� �
1 ���H: 
 ���"�o� ~h� ���(- � ��$ � �=� ����� ���B� ����-_���,�
	 �=�0��� m )j� � 1 �=� � � 1 ���H� �(�������,� 1 � n�o� ~l� �=��- � �($ � ��� � � � ����� ��� � �
�����D�DG_�G� �,����� � ��� 
 ���,	 ����� > < �;	(� � � � � �=� � �=�O�o�/. &v� � fi� �(	 fj

�h�F	 �=�FGV����	 �=�(�o� ~h� ���(- � ��$ � �=� i � �(	 j 	(� �=� ���
)j� � 1 ��� �����8� � � �
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. % 0�� 3�2 &
�
�h�,���n�=� �,�,- ������� � kij

	 �=�?>f�=	 �=��$h~��������l� � �=�F� 1 �o� ~h� �=�(- � �($ � i ��� B;����� � � � � 	 ���
�+���,�����(� �=G � � � uj

�*.|��� � 	 ���B�o� ~h� �=�(- � �($ � 1 ��� �H�h�2�
: 
 �=� >y� �=��� �=���,� ���,��	 ��G(: 
 �
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	D��� )j��� 1 �=� � 1 ��� � �h��� : 
 ���N�o� ~l� �=��- � �($ � � �(�l�3� 	D�h� � �,� ��	 	(� � 	D��: � �����#�h�,�?�
���=� � ~ 1 -V~�� ��� � �=� kij

� ����G(� � � � ��	 �,�l���2�,��� ��� �x� �,�2:=���K% 0 � ���($!� � 
 ����:2� 3.2A/@0 & ��6 � �
�" 1 1 ��� �,� �����,< �(	 �=�.�8�������

kij = kji.
% 0"� 4�7 &

����� � �=��G � 1 �h� 	(� � �b� �=� My�8$l��� ��� 1 �l� �,�?� & < � 	(����� �=� )j� � 1 �=� ���h��� (n × n) �1� �x� �,�;� �
 ~8GV��� 	(� � >y��	 �=�,$l~��(� ���h� � � kij
��� 	 �=� i � � ��� 0X��� ��� � ��	 	 ��� j � � ��� ��-D�h� � ��: � My� �

	 �=� �2���D� 	(�h� � �2��� 	(� � �b� �=� My��$h��� ��� 1 �l� �,�;� 	 ���-� ����-_���,� 	 � �,��� 	�� � � �(1 1 � �h��� �=�
)+��� 1 �=� � �'�b� �=� My��$h��� ��� 1 �l� �,�2:=�=� 	 �+My��� �=� � % 0 � ���($!� � 
 ����:2�03�2A/?0 & � � 1 �h� ����� 1 ����� �=�
 � �,	 	(��� �b� �=� My��$h��� ��� 1 �l� �,�;� � � & 	(��������.����2� ��GV�=� �=��� � �G�
G(: 
 ��� � &u���=��� ��� � � �

@0��� �,����� � �G� 1 �h�.��� � �j� ~8G � � 1 �(GV��� 	 � 1 	(� � )j� � 1 ��� � � � � � �=���,���(����	 �2������}����=���
�E� ~h� ���(- � �($ � � �D��GV�=�
����~ �D�l� 	�� � �b� ���?My�8$h�=���,� 1 �l� ���?�	����� ��� )j��� 1 �=� ��� p2 }h~�� 7
}��=���,���(����	 ��� �5� ~L��� :�� ��� � �=�<� 
 �=� � 	D� �H)j��� 1 �=� � p �E� ~h� ��� �D�x� �



� ����� � ��� ������� �#��� � � � � � ������
 ������� ��������� ��� ��� �
������� /?0

� 
 � �,?A@d?��j�.H �.H � ?�H �(F#H �(?A@d<C�j��:G? ��?�H.?�H � H B�� ��@ �
�l?�H

0 � � .����(� � 
 ���,	 ��� �=� �(����� B��=�h�=� � � � &u���=��� ��� � � G(: 
 �A�=���=. � � �=� �3� 	(� � G_�=�
	 ��� @ ���
������� � � � � 	 �=� )I�����=�(�����D� &v� �=��}h~�� � ~������ � � $ ����~��(� ��� � 
 < ��&u��� 1 ��� 	 ��� > )�� : �
GV� � ��� � �=� �,� ��	��(6 ���,��� �2� ��Ah�=�(	 
 ���,	 ��� : 
 �=� )j� � 
 < � &u� }h~�� ���=��� �=� � �3�(	 �=� ��� )I� �h�=�6�
�����D� &v� �=� 1 � � 	 ����> )�� GV�=������� � ��� 
;� �,	 �����!�
����� �;)j� � 
 < � &u� 
 �=��	 �=� �(� ���,����� � �������
	 �=�;� � 6
G��,��� �(� � �K0�� 3E�=�,�(�h��� �=� ��� 6 ��&u~��,	 �=� � � ���=�F<(GV�=��- �,<�&v���
�
� � ��� � � ��
 ��� ����� ����� � � � ��� 
�� ��� ����� � ��� ��
 ��� � 
 � ��� � ��� 
 � ��� � �

�
��� GV�=� � �,:�� � > )�� � �+��~����,� 1 1 6BC0�J� � ��� ��� � G �D� 
 � � �h�(	 ��� � > )�� �'�j� ~h����� 1 �
1 � � � ���
�E	D��� )j�,� � �=��� ��� }h~��5� ~��(��� � � $ �,� ~��(���=� � 
 < � &u�=� � �(	 	(� � @ ��� ����� � � � �0��� � �=�
)I�����=�(�����D� &v� �=��� @ ��� 	 � 1 )j�,� � �=��� ��� ����� ��� )j� � 
;� � & � 1�� ����: � �#.����(��� 	(�h��� � &������
� ��� � ��� 
 ���,	 ���
��	(���,� 	(� �=� �=� )j� � 
;� ��&4�b��}h�=� � � ��� � � � ��� 1 � � 1 ~"	 �=��� �=�>�N�=��� �(�2$h�=�<�
: � � � �l������� ��� �=� ������� �+~�� 	 � 1 )j����� ��� ���=� 	 �=� )+� � 
;� � & � ��~�� � � �	��� ��}h~�� �2���7.h�(	(�������
@ � ��	 	D�R}�~�� GV����� ��� ���
� 
 � � 	 �=��)j� � 
;� ��& � � ��� ��� �=� � ~���� � @ �=�������,�0GV��� 1 )j�,� � �=��� ���
	 ���0)j� � 
;� � & �0$E�h� � � ��	 � ~h� ��� ��� ~��J�l�
� � &I	(� � �,-#.l� ��� �5! � � �=� � �=� � � � � 	(���������0)j� � �
;� ��& ��� � )j� � 1 ��� � ��� 	D����
 �+��� � �G��:=������%4I E���
 FHG�	 & � )I� � ' � �,�E���=� ~ 1 1 �=� 
 �=��	 �=� �
�H� ��� ��~�� �+� 1 &u~������=�(	 �=�-���=�(� � �=� GV���,��� �,� �=G_��� 
 �=��	 �=����6 ��� @ ���2�,-(���=�+	(���=� � 	 ���
)j� � 
;� � &4� 	 �=��� � 6HG(G���0"� 9.���=:=�����h� �2��� � � �=� )j� � 
;� ��&?�D�l�E�=� � �(% �h� ����� ~ 1 1 ��� � &��.h� ���2}�~�� 4 � 1 � ��� �M06�10 � 1 � ~"��� � �(	C3F� 1 �����h�,$*� � � 6
G(G � 0��-4 ��� � ��� � @ �=�?�
��-(� ��� ���=:=�=� �h�D� 
 � � 	(� �=� ��� )+� � 
;� � &I���,� � �=����� 
 ���,	 ��� $E�h� � �?6 � � �J�h� �8�,- � �($ � �����
�=� �6������& ����� �=� � � � 	 �=� & ��� 1 � ���=�I�+~�� �(1 �=� 1 ����	 �=�6��� �=����� ��� 6 � A��=� 1 ��Ah�=� 
 � �+	 ���
)j� � 
;� � &'�

6 � � 	�� ����� 1 	 � ��	 �=��$���� � �=� 	D�h� � � � 
 �=��� �=� ��� �"��� �,� � � ��� $ � �=� � ��� �+�+~�� �(1 ���D�

(a) (b) (c)

� 0�0G; ��; ��a �I�
�&
(�,������"r/��J� ��"A
�86'��(] �<� '$� ��	�"��,� H:��!3.�) ;�� '���.��K/�� �<u�'�0�
(�����$	��,�(�,"�v �`�,�
� '$��

�(�,"�"��," wC ! " � ! ��'���	�"$�1C !#"�/��,� � '$�(�#� "��#� �A'$� /����I�,"A

�&
(���A
6/����:]_�,�&

	��#�V� ! "$�&
(�
'�)A
(	�! "2�&�,"#
�86'$�&]�;�PR" v � w'�"$/ v_0 w �(	�"$/ =786	��
.����,"$�(.��$�(	�
&

� �#��S��,	�� 
,F�	�" v . w /����?]_���(
(	�� � ��"A
�86'��(]�;



/?+ � � ��� �
����� � � � �
� ��������� �
� 
 ����� � � � ������� � ��� �
����������� � ���
���

� �=�,� � � �h��� ���=� � � %�� � �
� ��� ��� E�
 & 
 �=�,	 �=�
� 
 ��� G_�=�+	 �=� ��� �h���=� K �=�,� � ��� � � � � >y�7.����=�
� �(	 @0~8� � ������� �,�,- �/.���� � � � � 6HG(G�� 0��-4 % � & � ��	 % G & �,���(	 : 
 �=�B0 
 �2�,��� ���(�,��� �,���1�
� �.����:������h� ��� ��� � ~ �=�,� � ��� ��� �F)+� � 
;� � & % 6HG(G�� 0��-4 % � &/& GV��� � ��� � 	D�h� � � � � ����� � 1
�+~�� �(1 �=� �(�
����� ���;)j� � 
;� ��&IG(����� ���+$l��� � �-�(�������2���($h�=���+	 �=� 
 �h��- ���h� � �=��� %1I ��� � E�
 &
�+�=� � ����: � � �(� �
� �-! � � ����� ��� � � � � � � )j� � 1 ��� � � 
 ���,	�}�~ 1 �j� ~����,� 1 1 � �=�2G(���7.h�(	(���
	 � �,��� ���=& <(� ���3� 	D��GV��� 
 ���,	 	(� � �" 1 1 �G� �,��� 	 ��� )j� � 
;� ��& �(�(�2��� � GV�=��<(��$!�,����� �,� �h���
�
� �=� ��
 &u����� � � % � �7E E & �+�=��� ���,: � � � �D�x�H	 � ����CH����� � �=� � � �

• )I� � � � ���� 1 1 ��� �,�2�,��� � �+�=� � ����: � � �2�=� � �=�H�  1 1 ��� �,������� �=� )+� � 
;� � & �
& <(� � �
� � ��� GV������ 1 1 �G� �����,��� �=� B
�h�(	(GV��	(��� � � � ���=� & �����?� 1 1 ��� : � � �(�  1 1 ��� �,�?�
�,��� ���O� �8� � � �������

• )I� � �0�+���,GV����� �=� � � � 	 �=�+�+�=��� ���,: � � � � 
 ��� :�� @
�*	D���+�+�=� &u��� � �=� �F	 �=� C ����:����
� �FG_�=���,� 1 1 � ��� @ ��� �=����� ��� 	 ���
)j� � 
;� ��& �D� 	(� ��GV����~��(	 ���,� 
 �2��� �,� � �,���(	
�*��� �
�(����� ��~8� � � 
 �=��� ��� �=� 1 �����2�������

• �
���I6 �(:���� ��}�~h��)j� � 1 ��� � �=� � �(	 �o� ~h� ���(- � ��$ � �=� � �(	 � ~ 1 ��� 	�� �IGV�=�#�h�,� �h� �
B �=��� � ���,:=�=���
��� �;	 � � � ���2��� �#�8� �����

�
���0�h��- ���h� � � �+�=��� ���,:=���2����� ��� )j� � 
;� ��& � �����+� � ��	D�l� � 1 �����2�����
� 
 ��� �2�=� � � �
� �����h�=	 �,�2�,��� ��� �+~�� �(1 � �(� GV��� � �=� ��� 6 � &;	 �=�|�=�,� � ��� @ ���2��$ �,��� �=� � � 	(������& < � 	 �=�
G_�G� ��� ��� � ��� �=� )j� � 
;� ��&��(�2��� � 1 �������2��� : � �������
�N�=� �2��� ��GV�=� 1 � �#�=� �(�����=� ����� �����1�
� �=� : � �=��� �=����� ����� � � 6HG(G�� 0��-2 �,� ��	 	�� ����� ����� �,� � � �F��$!��:�:=� ����� �I6 � � �8�h� �8��- � �($ �
�,� ��	 4?2
	 � ��	 �=� 	(� � 
': � ��� 1 1 �=� �h��$ � �=G ��� % 	 � � E�
 & �,���(	
� 	(� � >y��	 ��� ����� ���($h� 
 �=�4�

(a) (b)

� 0�0G; ��; �$a ���
�&
(�,������"�/��J����"A
�86'��(] �6��'$�?�����$�(�,�(�," � '$�#/����
"G;Gv � w � � � '$� /����(]_+ �
�B	�� � � ! ��'���	�"2�8:����/��," S�'2�(� �B���,"�� �,)A����0�
,;dv_0 w � '���.�� u3'�0�
(����)A
(	�! " C ! " S 
3��	�"$/��(	��(.��$��" '$"$/ �A'$�#/����(]_+ �
��	��#��"
� !#��'$�B	�"$�B��"A
���

���A
@/����6�#��86^�"2�(.��A
(�K� ! "$�&
(�
'�)A
(	�! "2�&�,"#
�86'$�&]�;



� ����� � ��� ������� �#��� � � � � � ������
 ������� ��������� ��� ��� �
������� /?/

(a) (b) (c)

� 0�0G; ��;
� � a?v � w �I	�"��J�%/�����07��	�/���" � ! ��'���	�"$� 8U�,��.���� /�	�� � � �
� ��������]_�,/��,�(" ��	5
*/��,� ��	5
(
(�����
��"HU��!�.�)%C �,�(0�	�"$/��,"G; � �#� � ! ��'�����" �$�n
`�(	��,02�,"�� 07���(X2p#.�����"�'�"$/�) � "�" /������,�?"�	�.��A
6� �,s�����"A
:C#���(D"��M

SM
K8U�,�
/���"G; � ���
)3"A^$s�] 
K��� " /�	��B	�" v_0 w /�� �(�#�,�&
(������
(��" N���p#.�����" S,' �,	�"��,����	�"�S��,��"��," N���p .����#F�&! 86	��
/ /��#� � ! ��'�����" "3'��*"�!�.�� C !#" �(�,.��2�%Nq��p .��$��" 02�,� �
��"�S�
,;@v . w �V� � �I�(�#��0�"�	��*/��,�*"3'�"�B+#� ��	�.��$��" � ��s$��� "#

��" � ���
"��M

S�'�"��2;

	 �=� 
 � �o~8GV�=� 	 � �,���F	D���
� � G � �,���(� ��� ���.}h~�� := b�����(	 �����,��� �=� � �(	 � � ��	 ����& ��� 1 �����=�
�+~h� �(1 � �D�#�=�,:�� � �l� �

KH�l�A�=� �2� � � ��� )����(:=����}h~�� �(1 �=�s� � � 1 �=� � �h��� 	(� � ��� 
 < �(�,��� � ��� �������(� � � ���(:��
' .���� �=�<� ��~ 
 �=�,	 �=� ���	�=� � � 1 
 �=��� ��� ��� ����� ������� �=� �(:��=� � � >d�@.���� ��� 	 �=�H�+~�� �(1 �=�(�
1 ��� �����D�h�(	 ��� 
 }����,$ �!<(-�&v� �:% � � G ��� �4E�G � � E�
 & ����~�� �h� ��� G���� 	D��� �+~h� �(1 �=��� � �s}h~��
�������(� >d�@.���� �=� GV�=�����=�(:G� 
 � �,	 � � � 6
G(G��	0"�23 7 �2����	(�����0& < �o�=� � �=� 	 �=��GV���2	 �=� �+~2�
� �(1 � �D� 
 �=����� �0	(� �H� �l���h��� �=� &u��	 ��� � 1 � � 	 � 1 1 ��� � � ��� �=� @ ��~���$(}h�=�,G�� �(	 ��������:������h� �
6HG(G(����	 � � �<0"�23 7#% � & :������h� 	(� �F>y~�� 1 	 �=� �+~h� �(1 �=�(�=� � � 6
G(G�� 0�� 3 7 % G & �,���(	 	(� �
>N�=.���� ���5���=:=�=� �h�D�D	(� �E}����,$ �!<(-�&v� 
 �=��	 �=� ���0���
)j� ���=G �(���
	 ���
�+���,$ �!<(-�& � � � G_�=� 1
�+��� � �G��:��=� �2��� ��� 6HG(G�� 0�� 3 7 % � & : � � �=� �=� � � �=� )���� ' � ��� 	 �=� � � � ���=�,���D� �_�=� �=�
>N�=.���� � �2���
�h�F	 ���H>y~�� 1 	 ���
)+��� 1 �=� � � : � ���,$l�=� � �����

� ��� $l~ 1 - � �����.}��=��� ���,:�� � )j� � 
;� ��&4�HG_�=� 	 � 1 	(��� ~�G(� ����� B��=�h�=� � G_������� � �G�
;� �,	 ���
�;�����F��� 6HG(G�� 0�� 383 % � & 	D�h������� � ��� ����� 6
G�G(� �2	 � � � 0�� 383 % G & :=�=� �h������� � 	 ���
� �h���l� � ���2&u�=	 �=������� 
 ��� }h�=�����/�8Ah�=�����



/?4 � � ��� �
����� � � � �
� ��������� �
� 
 ����� � � � ������� � ��� �
����������� � ���
���

(a) (b)
� 0�0G; ��;�� �#aVv � w � ���
"��M

SM
(� � ! s�s7����s$��������������]_�,/��,�,;�v_0 w � �M
���	���� "$�&	�.��A
 /��J�9C#���
"��M

SM

��" �
�,.��A

��"N$�,/��,�(�,���,����"A

�,;

��� � � � � ������� � ����� � ��� 
 � � � � ��� ��������� ��� � ��������� � � ��� � 
 ���
� ������� � � � � 
 � � � 
 � ��� � ��� 
 � � � � �

�0���H�+��~����,� 1 1 �=� ��� � G � �=�D��G_����� �=G(� �h��BH�h��	(G_�=	(� � � � � ����� � � & : � � � ��� � ������@ ��� 	 ���
@ �=������� � � � � 	 �=�H)I� �����(�,���D�E&v� �=�	����� ���
)j� � 
;� ��& �H$���� � �=� 	D� � �=�
B
�h�(	(GV��	(��� � � � �
���=�F� � &u�h����� �=����� 
 �=��	 �=�<��	�� � � � ��� �h�2��� ��������� �,���(	.~�	 ��� 	(���o�(����� �;	 ���	��� �h���=�(����� �
��������$h��� � ���5�=� �,�,- ������� ���
� :�� @
��G_�=� 	 ���0@ � &u��� ��� � � � � 	 ���0� � &�	(� �=� � 1 )j� � 
;� ��& GD� �
�,� ��� ���(	 �=� � ~h�(��� � � $ ����~���� 6 �(�D�l�(	4�=� � �=� @ ���2�,-(���=�2��� ~����?	(����� �����D� � ��� �=���=. � � �=� �
 ���,	 ���
� � � � ���,� � ��� � 
;� �,	 � 
 ����	 ��� 	 ��� )j� � 
;� ��&4� 	 ����� � 6
G(G�� 0��%9 ����:������h���2��� �
� �=� )j� � 
;� ��& � ~����D� � �+����� � 1 ����-(��� �1� )I� �($ �,�2�����h� �"� �=������� � ��� ��� 
 ���,	 �����"�0��� )j� ��� ���?�
:����7.l��� 1 ~"	 � � �2���0GV��$E�h� � � % �C�	�V�3� 3.2@+@+ & � �H� ��>y�=	 �=�����=���=�($l� �,� ��	 �h� �2� � ���
	(< � �6�
��� ��� �b� ��� ��� 7 �10 1 1 � ���h��$*��6
G�G(� �2	 � � � 0��23 4#% � & G(����% � & :=�=� �h� 	 � �=� � � � �=�,�����(� �=	 ���2��� �
BH�h��	(G_�=	(� � � � � �����
�"	(� �
& < � 	(���H&u~������=�(	 �=� ��� 1�� ���l����~�� �=� �h� �h�=� ~ 1 1 �=� 
;� �,	 �����

% � & � �=� 1 ��� � � ��� ��@ ��~���$8% 4 & 	 ���
)j� � 
;� ��& �0�2���H�h� ������� � 1 �2� �($l�=� � �(	 ������� � � 1
BH�l�(	 �����h� � 1 ��� 	 �=� 6 � A���� 
 �=� � }����,G � ��	 �=����6 � &
	 �=� @ �h�2$h�=� %'3 & 
 � ��$ �
����� � � �=��� 1 ��$ ��� &v��}h~�� 3 7 C ���

� � 	��J�&�`�����n] 
I�(! ��� �?��� C#! "�/���"%'$"#

���
��" ��"$/��@/��,�IH:� ��)#��"$� � "�� �
��	�]_��"
�
/��K��"%/�	��,�(���IuA

�������)#��	�" ��"$!�
(�,"�s�'�"$)#
6C#! �
�$��"$/���"9	��&
,F�86'���/��K/�	��r���
��] 
`��'�]d/�	��K07��	�/��," "2p .��$�&
(�," ��"�! 
(�,"�s�'�"�)A

�� '�]_� ��
(�,	���
,F�'�� /�	��,�6S,'��,�(�
��	�.�����"<;



� ����� � ��� ������� �#��� � � � � � ������
 ������� ��������� ��� ��� �
������� /32

% G & � �=� 1 ����� � ��� � @ � ~"��$ 	 ��� )j� � 
;� ��& � �2�����=G_����& �h� �2� �h� ������� � 1 ��� ��$h�=� � �(	
� ����� � � 1 B
�h�(	 �����l� � 1 ��� 	 ��� 6 � A���� 
 ������}��=��G � �(	 �=���
6 � & 	 ��� @ �h�2$h���
 � �,$ � �=G_����& �h� �2�(����� � �o��� &v�I}�~�� 3 7 C � � � &H	(� ���������=�!<(GV�=�������=�����(	 �F�L�=��� �
	 ���
B
��� 1 �=�(� % , & 
 � �,$ �;	(���E�=� � �������=� ����������:G� �-�E�,� &v� �

% � & � �=� 1 � � � � �=��� @ ��~���$ 	 ���
)+� � 
;� � & �H�2��� � � �H�h�	�=� � � 1 � � �($ �H�����l� � 1 � �+	 ���
6 � A���� 
 �����d}h�=��G � �(	 ���
�8�l� : 
 �=� 
 ��� � �=���=� � � ��$ � �=� 
;� �,	 � 	(� � @ � 
 �=� � � �8�4�
&u� ���2� ��� �d� � �I����: 
 ���(B
�2��� � � � ����� G(: 
 ��� �(�=� � �+B;����� � � � �P�=� � ���=�,��� �/.h�($ � �(1
B ~h���l����~�� ��� : � }����,�(���(	 ��� ����6 � &?@ �h��$l�=� � ��	 B
��� 1 �=� 
 ���,$ � 	D� �P��� �=����� �
�E�/. &v� �=-D�8�h� 
 ��� � � % G & �

� � 6HG(G��(0�� 354#% 	 & ��� �(	 	(�����" 1 GV~�� �2� 
 ������� ��	(��� B
�h�(	(GV��	(��� � � � ���=� GV���,��� � ���2G_���
�h��:=�=� �h���E�
� ��	 ������� � �($ � �?9HG(����+;�,� ��	L,�� 
 ������� � � ����� �?@0� 
 �=� � � �8� ������� � � � �BM ��� �=� � �
�
��G_�=� 
 � �,	 � � �($ � 9 � ~h�,��:�~�� ���h� &u����� �����(�h��� �=� � �(	 � � ��$ � 0�}h�=� ����$E�h� � � � �($ � +
�2���;���=�($ � �=��� �0: � � 0X�=����� ��� ��GV�=� ��M �����=������ � 6
G(G ��0�� 3�, �,� ��	 	�� ���+�=� &u~�� 1 � � ����� 	 ��� )j� � 
;� ��& � � � � �=��	 ����~�G(� ����� @ ���
	�� � � � � ���=� �h��:=�=� �h�D��	(��� 6 � � � ���($ � � ����� � 50 000 � & �����#}h�=� �h�/�8A�������	D�l� ���=��� ��� � � �0�H� �
�C����� �2� 	(� �������h�,$ � � � ����� �=��$ � 
 �=�,	 �=�
� 
 � � 	 �=� @ �h�2$h���
�5	(� � � �=� ���($h� � �(	 	 �=�C� �=��� � �
�C�����!	 ��� BH��� 1 ���(�D�5�,���(	 ��� �=�C�(�2��� �N���=:=�����h� 
 �=� � ����� �?	 �����h� � � ���h��$h� �+�=� �h�/�8A���� � � �
�2� � ��� �+�=� &u~�� 1�� � � G(: 
 �*6 � � � ���($ � � �6�(����� �
�,��� � }�~�������� � �

.������(�+~���� � �,���l���=� 	D�h�,<�G_����&u�=� � ���
� 
 � �;�������n�=� � ���G� 
 ��������� ~������ � � $ ����~��6}h�=�4�
�#.h���D��	(���o��� � �P}�~��F� � Ah�=� 
 � ��$h�=��	 �-�o�,� &v�+<(GV�=� � �7.l�h�3�(�2�����=�;�,� � � }h~�� � � 1 1 ��� 1 ���
�o�/. &v� �=-D�8�h���=� : � �l�,GV����� �=�
� GV���?	 �=� ��� GV���2	 � )I� ��:=�=�2$ �7. &v� � � 1 � ~������ � � $ ����~��(�1�
��� � 
;� ��& �h� ��� �=�2&u�=� � �+�=����� �=����� � 1 �h� 6
G�G�� 0��23., % � & � �(	 % G & �I� ~ �2��� : � � �=� �=�<�
	(���,� 	(� � �+��� 
 �=�(	 � � �(�=� � �=� �o�/. &v� �=-D�8�h������: � ����� � 1 �l�(	 �=���=� )+������G �(���I& <(� � � �h���
	�� � 6 � �D��� 1 �(�=� � ���B. � A��=���=�K�o��� &v��� � � �,��� 	(� � �+�=� 
 ���(	 � � � 	 �=�$�o�7. &v� ��-D�8�l� ���
 ���,	 	(���n�2� �($l� �L�=��� � 	 ��� B
��� 1 �=�(� �(1 +�787 � ��� 	 � 1 !H� ��:=�=� �����,�,��� � ���=G_~��h�=�
�
6HG(G�� 0��23., % G & �?�H� � � �(	 �=&u~h� 1 � �=� � � �N~8��������~�� �2��� 	 � �,��� �=� � � �h����� �,�2��� �=� � �O� ���(� �
�h��$h��� �(:�������� � �����

6HG(G(� �2	 � � �h�=� 0�� 3�, % G & � �(	 % � & :=�=� ����� 	(����)j� ���=G �(�2�,� ��& < �
	D��� ��� �=����� �-�o�7. &=�
� ��-D���h�D�J�l� � ���,	(��� �8� & < � }��=���,���(����	 ��� � B
�h�(	(GV��	�� � � � � ���=� �J� �=� 1 ����� � ��� �+@0� ~"��$ 	 �=�
)j� � 
;� � & �+�����0�=� � 
 ��	 ���
�h� ����� � � 1 ��� ��$h�=� � �(	2������� � � 1 B
�h�(	 � ���h��� 1 ��� 	 �=� 6 � �
Ah�=� 
 ����� }����,G � �(	 �=�<� 
 ��� � � 6HG(G�� 0�� 354#% G & � ~"	 ���(�=� 
 � ��	 
 � � ��� 6HG(G�� 0"�2354 % � &� � � �h� 	 � �=� � � ��$ � �=� �h���D�h� � ������C � � ����� � � �($ � ����� 	D� G_�=�+}���� �2� � � �!GV� 
 �=���2�����
�
	�� � G_�=��	 ��� �l�(	 �=���=� 
 �=��	 �=��� � � ��� : 
 �=�HB;����� � � � ����� G(: 
 � �����=� � � B;����� � � � �
&u�=��� �����D�l��� ���
�8��~ 	D� �,��$h�=� � �
B�~h���l�,� ~�� �=� � � &v� � �G� �=� $2��� � ���
�"��G_���j����� �
@ � 
 �=� � � �
��� B;����� � � � � 	 ��� � �!GV� 
 �=���2����� ���F� � �($ � ��� 1 �����2����� �2�������
��������� � �=��- � ��$ �,G_� &u��� ���?�
� � � � � � � ���,	 ��<(��$ � 	D� � �=� $l��� � � 1 ���h������� � �+�=� &u~�� 1 � � � 	 �=� )j� � 
;� � & ��� ) G 
 ~8� ���� G_�=��	 ��� > .h��� �=� 	D���,���=�2G_� �o�7.E&v� ��-(�8�h� 
 ���,$ �3� �,� ��	 	�� �	� �8� � � ����� ����� � � � � �=�1�
�����(� �=	 ���2����� � ���o�����($h�5�C����� 	 �=� B
��� 1 �=��� 
 � ��	 ��� � � � ���,�,����� ��	 ������� � B
�2��� � � � �����
� � � ����� ���($ � �*�
����.C���($h��� ��G 
 ���2��� � � � GV��� �7.h�l�;� �(�������,� 1 �728787(� �,��	��



487 � � ��� �
����� � � � �
� ��������� �
� 
 ����� � � � ������� � ��� �
����������� � ���
���

(a)

(b)

(c)

1

2

3

(d)

� 0�0G; ��;�� ��a#v � w F�v 0 w F�v . w � �,�
�
.���	��,/��,"�� W ��"$/�07�,/�	�"��#'�"��#��"r07��	�/��,��N �IO � "$� � 
��(� ;3v / w u 
3�c07! ��� F8:����.�����/�	�� W ��"2/�02�J/�	�"�� '�"$� ��" 07�,�
.����(�,	�07��"<; �@	�� /��
��	 �I'�"�)A
(� � 0�	�� � �(	�"$/ ���,8U�,	����%	�" �,	�"$�H:�,8U�,� '�"��A�&�
	�.��#

'�"�� ����	��,�&
J; �I'�"�)A
 �r	��&
U��!#�(	�S�!#"#
���� ����	����(
I'�"$/ ��'�"�)A
 ��C �,�&

	�)n���Q; ��'$"�)A
 �K	���
	�" W 	�.��#

'�"��%�(��"�)3�
�,.��A
:S,'�� =7�,	�.����,"���07��"$� �$�3	����(
,;



� ����� � ��� ������� �#��� � � � � � ������
 ������� ��������� ��� ��� �
������� 4�3

(a)

(b)

(c)

� 0$0G; ��;�� �$a ���(�#��0�"$	��
�&�K/��,�`N �IO � "$� � 
��(�V07��	<C �����
.���	��J/���"$��" W ��"$/�02�J/�	�"$� '�"��#��"G;



4J4�� � ��� �
����� � � � �
� ��������� �
� 
 ����� � � � ������� � ��� �
����������� � ���
���

� �=� �,�2��� �,� ��� )I���(���l�,:�}�~�� BH�l�(	(GV��	(��� � � � �h�=� ����� � 1 1 �=� 	D�h� �-}�~h�4����~8A����
@ ��	 � � � � � �#� 
 ��� � 	D���I�+�=���D�h��� �=�6����� �=��@ � &u��� ��� � � � � % 	(���+	 � �,��� B
�h�(	(GV��	(��� � � � �
���=� G_�=�,��� ��� �=G_��� 
 � ��	 & �(����� � ��G(��~�� � ���,����� �=� G_�=$ �l� � � �2����� @ ��� ������� � �G� 1 �h� 	(���
��� ��$h�+�b����� �+	 ����B
��� 1 �=��� � �(	 	(���+� � � 	 �=� �+�=� &u~�� 1 � � �o� �=� � � �����=� ���(	 �?.C���($h���=.h� �
	 �=� � � � GV��� 	 �=�2}����,�����(� �=	 �=� ��� B
�h�(	(GV��	�� � � � � ���=�<��� ~ ��� �(	 	(� �N! � � �=���,���(����	 � ���
	 �=�(� �8� � � ���=�F� 1 �+�=����� �=����� : � 	 ��� 6 ��&u~��,	 �=� � � ���=� �h� 	(���
.C� �($l�=����G 
 �=����� � � �
� � �;6
G(����� �(� � �K0�� 3 	 � � � ������� : � ����~8A(�
��� � ��� � � 
 � ��� � �

� �=�s�=�,� � � )+� � 
;� � & ��� � ��� 1 ~�� ~h�����,�(������� �=� BL��� � �����6�'>*��G �� ��'���=� ~l� � � � �=� &u�=� ~ 1 �*�
� �=���D��GV�=� � � � � � & 	 �=� GV�=�������,� G_�=�,- ��~���� �=� ��� � ~8-�-_����-D�h�,�h� ���=� &u��	 ����� KH� ��� 
;� ��	 �=�
: 
 ���I>y��	 �=� � � � � �=�P�=� � � 1 ������� � ��� .C� �($l�=� : � ��� 1 1 �=� ���=� �G��:��D� �=� 6
G�G��90�� 3 9 % � & �
� �=�+)j� � 
;� � & ��� � 4 � 1 ���h� �#� 06�10 � 1 G � �=��� � �(	 � ~"���
�(	 ��� G_� 
 �������2��� � @ �l��$h��� ��� �
3 � 1 G ������� � �(	 � ~������

)j� 1 � � � ����� 
;� ��	 � 	 �=�
)I� � ' � �,�o����� �=�
�+�=���,���(����G � � � 	 ��� 6 � ��� �=�2& - � �($ � ���0� � &
	(� ��	(�h��� � �P� �=� � � ��� ��� ���(	 ��.C� ��$h�=�@.h�(	 ��� � � � : 
 ������� �=� 	 ��� �"-(� �����=����� 6 � A����,	 � 1
;� �,	 � 	(� � � � � �=��� )I� ������&u� �	� � �=�(: 	 �=� �" "��� � 1 ���=� 1 � � � ���������
� � )������=��&u� � � � ���(:
$ �l� � � � �I	 � 1 )j� ��� ���2:����7.l��� 1 ~"	 � � � ��	 	 �=���
�2��� � �;	 ����� �x� �=��� �h�2� GV�=� �=��� � �G� 
 �=�4�
	 �=�����0��GV��� 
;� �,	 ��� }h�=�,�����(� �=	 �=� � �b� �=�8G � ��� � ���
���h�2� ~F�b�7.h�,$l�=� 	 ��� >y��	 ��� ����� �=��$h�
�h� ����� ~ 1 1 �����

> < � 	(� � ! � � �=��� � ��� � � � 
;� �,	 �.}�~�������� � 1 �+���,� � �=��� 
 �=� }�~�� 3 7 µm � � � ���*�
�J�h� �������#! 1 	�� ���?: � �=��� ���2��� �=� �2���3�"GV����76�1, 1 1 � ���h��$h��� � � �=�h�=�
� �=� � �B�E�,� &v� }h~��
, � 9 C��=� &u~��,	 ��� �2�������<! 1 : � �=� 1 � � � ��� � 
 ������� ��� )I��� ' � ���o��� � � �+�=���,���(����G � � � 	 �=�

y
x

z

x
z

y

(a) (b) (c)

� 0�0G; ��;�� �2a �I�
�&
(�,� ��"A
�86'��(]G]_^��6/��#�:�B!#"�! ��	�
(��	��(.��$� W +#"#

� �,"�DEN2��0�� 
AD ���,�(! 
�PR"�
(�,�&]_�,�(!#�B��
(�,�,; v � w= 8U�,	 � ! s�s7����s$� �
� ��������]_�,/��,�("*�(	�"$/*'�"A

���:��	�"���� �
�,.��A
(�," �-	�"$) ��� S,'���	�"$��"2/����US�'$�
��������"��#�,�(�M

SM
,;v 0 w � '�] �&	�.��A
,;�v . w u3��	�
(�,"$��"$�(	�.��#
@/����`07��	�/���" W + "A
(�#��"$�(s�	���� �,�G/�	��c�&	�.����&	�.�� 	�� � 02��
���"$/ �K����#���#��"3^�07������

�����,"G;



� ����� � ��� ������� �#��� � � � � � ������
 ������� ��������� ��� ��� �
������� 4?,

6 � �������2& - � �($ � �=�H	 ��� �o�,� &v�
�D�l�3� 
;� �,	 � 	(� �=� �=��} �h�,�2� ����� � ��	 	(��� 	(�h��� � � ����� � ���������
���=�(	 �=� .C� �($l�=�@.h�(	 ��� � � �h�=� ∆θ

� �(	 ∆φ : 
 ������� �=� 	 ��� �"-(� �����=��� G_��� �=��� � ����� � �
6HG(G���0�� 3 9 % � & ��� �
	(� � � �=~ 1 ��� �,���0& < �;	(� �=� ��! � � ���,� � ��� � � � �,$!�2:�:����=� � �*)I� � � � �(	 ���
� � � � ∆y 	 ���0K��8� � 	 ���
6 � �������2& - � �($ � �=� }���� � ��������� �E����� � .C���($h���=.h��	 �=� � � � ∆θ �
)I��� � � �(	 ��� � � � ∆z 	 ���
6 � �h� ��� & - � �($ � ���+& <(� � �H: � �=� � ��� .C� �($l�=�@.h�(	 ��� � � � ∆φ �

�
��� 
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 ��� 1 ���h������� : � � � �=&=�
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: � }����,����� 1 ���=���=���

�b� �=�8G ����� � ��� 1 1 νeig
��KH: ∆θ

∆y
� nrad

mm
∆φ
∆z
� nrad

mm

7 �23 3�+87 /�787 4�787

7 �1, 3�0�787 3 4�787 3 98787

7 � 0 ,878787 3�0�787 3�/ 787

�q� 0G; ��;
�#a � 	���86	�.��A
(	��#�&
(��" ���(�#��0�"$	��
�&��/�����N �IO D�u3	��1'����n
(	�! "$��" ]_^$�B/��," �,�
�&
(�," ��"A
�86'��(]@	��
� ���
� ����	�.��G;



4�9 � � ��� �
����� � � � �
� ��������� �
� 
 ����� � � � ������� � ��� �
����������� � ���
���

��� � ��� � � 
 � ��� � �

@ ���I	 ����6
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 �=� �?�h� 	(� �=� ��� �b� ��� ��� 	(���
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$l�=� � �=�
�;	D����� 	 �=�.~8GV�=���K�C�����0	 �=�F:��=� � �,�h� ��� @ � ~"��$!�F������� �(�2��� �.}h�=��&u~h� 1 �D� 	(� �
�h����� �,�2��� �=� � �=��� � �(���=� :���� �h�=�F	(� � ,�� 
 �=� ��� � �(	 �=&u~h� 1 � �=� � ��>y~�� 1 �

� � � 	(����� � 1 .C�2�,���=� ��� ��	 ��� )j� � 
;� ��&0��~ 1 ~"	(�?MD:����=��� 
 ~��,	 �=�
� 	(���,� 	(��� >y���
	 �=� �h�=� ���($h� � � ���F	 � �,��� @ ~8� � � � ����� � �=����� ��� �2GD�h� ��� �(	
� 
 � �0��� 6
G(G �(0�� 3�2(����:������h� �
�H� ��@ ������� �0	 ���
�b� ����� �h� 	 �=�;����� 1 �l����� �=� �b� �=� �����"G_�G� �/.h�h����GV�=��& �h� �2� 7 �-, 1 1 ��6 �?�
���=��	(� � ��� 
 ���,	 	(� � � ~������ � � $ ����~�� 	D� 	 � �,���n��� 
 ��� ��� ��� &u�=�D� 
 ���?: � ����� �=� )j�,�#��� � � �
	 �=�
)I� ������&u� �	� � �=�(: � � & 383 9J7 K
:�& <�� �����

)j�,� � � ��� 1 � � �l�,� ~�� �=� �=���J��GV�=������� 	 � � � �2���������/��A��=��� .C���($h��� � 1 - M �(	 ���2���($h�=���
GV��:=< ���2����� φ �E�
� � ! ��������� � ��� �d�=� � ���+�=��	 � �=� � � � 	 ��� G_� 
 �������2��� �=��@ �h��$l�=�(� % 3 & �5	(� �
� � &v� ����� � 
 �=� � 	(� ���o���E&v�0������� � 1 ��������� G_�=:�< ���2����� z �h� ��� �=�2&v� �!� �=� B���� � ���=�(��-(� �����=�
� 1 GV� 
 �=���2����� ���#~8GV�=���=� @ �h�2$h�=� % 3 & 
;� �,	 ��GV���J	 �����"� 1�� ���l����~�� ���0: � �#.����(���N�(�2��� �
GV�=��<(��$!�,�2��� �,� �h���

@ �=:�< �h������� y ��� �=�2&v�+	(���$�o��� &v� � 1 1 ��� � � & �D�h�2G_���;K �8� � 	 �=�
>y��	 ��� ����� ���($h� �h�
�
% �N~8�����,� ~�� % G & � � 6HG(G��)0�� 3�+ & � � ��6
G�G���0�� 4�7 % � & ��� � 	(��� �+�=��&u~h� 1�� � �+	 ��� @ �h�2$h���(�������
:������h�3� 	(� � 	 � �,���6����� � �o��� &v�d}�~��M06�%9$C�}���� � ��������� � 
 � �,	<� 
 �=����� �
4 � 0 1 1 ��� �,&u�=��� �
}h~ 1 � ����� ����- � ��$ � GV��:=< �����2��� z �h� �������2&v���8.|�����=� 	 �=� �����h�,$l�=� �+����&u~�� 1�� � � 
;� �,	 �
	 �=�;@ �h�2$h��� : � � . ���(���D� 
 � �0��� 6
G(G��E0�� 4�3o����:������h�3�b}��=�����7.h�,$ � � � �F6HG(G��(0"� 4�7#% G & �����
������� �?�+�=� &u~�� 1 � � �
& < � 	(� �0��� �=����� � �o��� &v� 
 � � ��� 6HG(G��A0"� 4�7#% � & ����:���� �l� ������� ������A��2�����
;� �,	 ��	�� � � �F6
G(G��G0�� 4846�h��:=�=� �h� � >y~�� 1 	 ���0@ �h��$l�=�(� � � � ���,� � ��� �D��	D���
)j� ���=G �(���
�2��� � � 6HG(G��@0�� 43, % � & 	D�h������� � �=������� )I�d� �,� � � & ����� $h����� �?�+���,	 ����� � � ��	 �=�I@ �h�2$h�=���I� � &'�
�H� �
�+���,���7.h�,$ � � � 	 ���+@ �l��$h���(�+�D�l�A��� � �=� 
 ����� �=���=���8< �����������=� ) �_��$ � � 
 �����=� 	 ���
���,�#��� � �=� �b����G(�������7.l�o�(� 1 1 � � � ��� 	(��� .C���($h��� � 1 - M �(	 ���2���($h�=��� � � θ ��G<� �=� � � ���
6HG(G���0"� 4?,#% G & ���
���?�+�=�����7.h�,$ � � ��	 �=� @ �h��$l�=�(� �D�l���h��� ���,	(��� �8� � � ��� ����� �L0 � �D� � 1 �
������� �=��� � �,� � : � �;>y~�� �h���"	D��� ���+�,� ��$ � 	(� �P��� ��	 �,� ����� �0)������=��&u� � � � ���(: � � &�4@487 KH:��

6HG(G(� �2	 � � � 0�� 4�4 :=�=� �h�+	 �=��~8- �,� 1 � ����� ��� )j� � 
;� ��&'�*� �=�A���=:=�=� �h� � %q���(	 �8< � ������� &
)j� � 
;� � &0��� � 4 � 1 � �h� �#� + � 1 � ~"��� � �(	 46� 4@0 � 1 �����=&4� 
 ~8GV���?	 �=��GV� 
 �=�h������� �
�C�����;39� 0 � 1 �����=&?������� �
� � �+�=� &u~�� 1�� � � 	 �=��)j� � 
;� ��& � ����� � � 6
G(G � 0�� 4 9�����:������h� �
�H� � 6 � ��� �=��$ � � � ��� �I4�7�7 � & ����� }���� ��� �8A��=� � 	D�l� ���=��� ��� � �3� 	 ��� : 
 ��� � �?B���� � ���=�(��-(� �����=�
�2���;: � �;G_�=�,� ��� ��� �0�h����� �=� � � � � �(�2��� � ���=:=�=� �h���D� �=�;GV� 
 �=���2����� � @ �l��$h��� � �(	F� ~ 1 ���
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� � ��� 	 �=�;G_� 
 �������2��� � B��h� � ���=���,-(���=����� 
 � �,	 3 7 µm � � � �h�=� ���($ � �� ��� ��G��?0��-,
�,���(	�	(��� 
 ����� �,� �8� � �=� )j������G �����,���?& < � 	(� �=� �=� )j� � 
;� � & : � ��� 1 1 �=�6�
�h�=& ������� � 6 � �"� ��G �@0��-, � ��	 � � �?0"� 9
&u~h� �h�D� 	D���,�I������� � � � �=� 	 �=� 6 � �D��� 1 ���E	D����� 	 ���
6 � �������2& - � �($ �0	 ���N�o��� &v�0� � &+�G� 
 � 7 � 3 1 1 ���=�(� � G_�=���,� 1 1 � 
 �=��	 �=� $E�h� �
� & < �
	�� ��: � �@.��,��� ��� 6 � �,	 �=� � � � � 	 �=�N}���� 
 �=�(	 ��� ��� �" b�(��� � ~l� � ~h�(��� ����� �2� 1500×140µm2��� �8�2G � �

� ��� ��� 
 < �(�,��� � �B� ���(	 �=��� }h�=����� ��� � 
 ���P}�~�� 3 7 µm �2��� 1 � � 	 � 1 )j� � 
;� � &_�����2��� �
: � �=��� �=����� ���
�H	(� 1 �h� ������� G����F: � �=� � � 1 �+�=�,� � ��� � 
 �=��}�~�� ,87 µm � ~���� � 1
��� ��� ���2�,��� ��� @ �=��������� GV�+My��	 ����� �0��GV��� 
;� �,	 �(}h~�� ����� � 1 )j� ��� ����:=���7.l��� 1 ~"	 � � }h~��
4, 25×1011 � � � �(	#��� � �=� @ � � ����&u�����,� �8$l��� �N}h~�� 2×108 � �0� � �����=�J�l� ���=� % �b� ����� � ���1�
�"6-��4�787 9 & �

�b� ���8G ������� ��� 1 1 νeig
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��� � ��� � � ������� ��� � 	 � � ��� � � � 
 � ��� � �

> < �IGV����	 �H)j� � 
 < � &u� 
;� ��	 � ��� 1 ����� �=� �3� 
 ������� � 1 � ��� 1 �l� �?6 � �,	 ��� � � � � 	 �=��G_�=� 1
) ��-V�=��� 1 �=� � }���� 
 �=�(	 ��� � �" b�(��� ��~h� ��~��(��� ����� �J�D��GV�=��	D�h� &4� �(1 	�� �IBL��� � �����6�'>*��G �� ��
���=��~h� � � � ����&u��� ~ 1 ��� �=�1� B �=� ~��(�h�(:=���	������� �
: � }��=���,��� 1 � ��� ����� ) � � � >f~�$ � �,�,���=� � � �	 ���
�" b�(��� � ~h� � ~��(� � �,��� ���+$E�h� �2�  �-����,��� �=� 
 ���2� �E����� ���b� ����� � ��� �8A�� }h~��.��� 
 � 200×
1000 µm2 �=� �����2��� � 
 �=��	 �=���H)I� � � >y~8$ � ���,���=� � � � � � &�	 � � � �2�����C$ � �=� � ��� � 	 � �=�4�
�,��� �(� � � �?��� �d� � � G_�=�L�h� ���2���(:=�=���,� ����� )j���#�8� � � �0	 �=�I� � ��� � ��	(� }���� �����(: 1 �����2�������5)I� � �
)+���#�8� � � � 	 ���;�
��}h�=� �h�=�(: G_�=	 � � � ���D�D	D����� �h� ���2���(:=�=���,� ��	 ���+6
G(� ���h��	 	 ���H��-(� �����=�
$b������� �=� 
 �=��	 �=� 1�� ���K% ���+6HG(�,��� �(����� 0��23��23 & � 	(����� �K�(�������2���($h�=��� ��~�� �H	 ��� 
 �����=�
�(����� � 
 �=��� �=�A}�����&u~����h� 
 �=�,	 �=���

> < �I	 �=� ��� 6
G(����� �(����� 0�� 9��1,0GV����- � ~"��� �=� �=� )j� � 
;� � &I3+G_�=	 � � � ��� 	(�����+�J	D���,�j���
�(����� � ���=�=� ��� ������� � �J� �=�j}���� 
 �=�(	 �G� ���! L����� � ~h� � ~������ �,��� �*	D�h� &X� � �+�=� � ��� 1 � ��� 1 � �
� �=� 	 � �=�,����� �(� � � }h~�� 70×60 µm2 �(��G_���
�E	D��� �2��� ~�� � � : � �7.l�,:=�2����� �?>f~�$ � �,�,���=� � � �
� �=�2G(���H�h� 1 ~�	 �=� � �=�
	 � �=� ���=�K%u� ~���� & ������� � 1 ���h������� �

)j� � 
;� � & 4 � 
 �=�2��� �=�
� �F6
G(����� �(����� 0��%9(�%9 GV����- � ~"��� �=� 
;� �,	 �2� G(����� �G�
	(�h���=�h�=�
��� � � 1 �������2��� ������� � � ��� KH���=� ��~�� � � �F	 �=�s}��=� 
 ���(	 �G� � �" b�(��� � ~l� � ~h�(��� ����� � ��� � �=�
	 � �=�,����� �(� � � }�~�� �#��������� ���(� 1500 × 140 µm2 �D��GV�=� � �H� � ���=��� � ����6 � �,	 �=� � � � �}�~�� 3 9J7 µm �2��� �l� � ���,	(��� �8� � � � � ���($ � ����� � : � � �! L����� � ~h� � ~�� �,� � ����GV�=� � : � �=� �����;�
��� �=���*�H� � � � & 	(������� 1 )j� � 
;� � & GD����� ��� �=��	 ��� ~��(� � � � $ ��� ~h� 1 <(�,� � � 	D��� �=�+� ~ � � &=�
����� � �=����� 
 ���,	 ���
��	D� �,� 	(��� x � y � )�GV�=� � 	 ���N� ~������ � � $ ����~�� -D�h�,�h� ���=� : � 	 �=� )IGV�=� �
	 ���H�" b�(��� ��~h� ��~�� ��� � ���=� �2� ���h� �

! 1 	 �=� )I� � ' � �,� 	 �=� ����� 
 �=�,$ �,� &v� � � &
	 �=� � ~ �h� ����~��,	 � ��� �=� )j� � 
;� � &�: �
G_��� ����� � �=�
� 
 � ��	 	(��� )j�,	�G_�=�,��� ��� � �(��� � � �	}�~�� 2 �-4�3 1 �E� 2 ��� z � B
�2��� � � � � �h� ���*�� ~ 1 1 ���
� 	�� �+	D�h�,� � � ����� � ���,� �=���=�(	 � �+�=��&u~h� 1�� � � �����D� 1 ��� 500 000 � & � ��� �=� �+�=� �h�/�2�
A��=� � � � 	 �=� 6 � ��� �=��$ � � �#� � � 6
G(G�� 0�� 4@0 : � ����� ����� � �=��� � � 	�� �����=���+�=� &u~�� 1�� � �
�=� ��� ���h�(	 �=� � .C���($h��� φ : 
 ������� �=� 	 ��� ��-(� �����=��� GV��� �7.h�h�:0�7 � �,��	
�E	 � �����6�=� � � �+�=�4�
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 �=��	 ��� 
 ���,	��
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;� �,	 �6����� 3 � 1 G � ��� � ��� �=� )j� � 
;� ��&;GV��� ������� � ��� �
�
��G_�=�(:=�=� �h� �,�����<��	D�����I	(� �?: � �=� 
 �h� � ���(	 �;6
G �(��� 1 � 	 �=� .C���($h��� � 1 - M �(	 ���2���($h�=���
��� φ � �=	(� �h������� 3�9 � G_�G� �/.h�h� �"�
���
K �=����� ��� � � � � 
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	 � � � �������I�=�,����� 
 ����� 
 ���,	 ��� � �(	 	(��� � �l� �=��� �h�2$h~8� � �=� 
 .h���=� ��� 
 � �(1 0�7 � �#�8� �=���
@0��� �,����� � �G� 1 �h� 	D�h�������=�	��� � �=��� � � 3 � 1 G ����� � �=� )j� � 
;� ��&4��� ~ :=�����h�;�,�2���
�*	D�����
������� 	(���?.C� ��$h�=��� 1 - My�(	 ��������$h��� � ��� φ ��� 
 �P}����,	 ~8-�-_����� ��� �=�I����6
G�G��A0�� 484 ���=:=�=� �2�� � 39� 0 � 1 G � �=��� � )j� � 
;� ��&��2���;��~ 1 � ������� �E� � � � ���h�����2���($h�=���3� ��� � 1 ~�� ~��2���,�(������� ���
BL��� � �h�=�6� >�� G �� ��'���=��~h� � � � ����&u��� ~ 1 ��� �=�;: � � ���h���2�,� ��� �����
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SV����W!^�RTPnP/^f\rW!SVeXW�P/]`�ks�e!�����wh
ef~�dTLTS�UXUr�w��Z`���n�qbcS�U�_TW>����SVW!^kho��UX^gP/dTY���P/YtYq\-]T^f_TW<_TW>^�bcW!dT^fefUX^gP/dTY���P/YtYwStL�z-|T~���efUX^XW>]wh
m/W!xn��W>UX^XStWQ��SVU}_TW>^���YtW>StLTeoUg���nmnYtSV~�dTW!L&�aLT��P/d`Y9�nx/L z}WBu[WBvwSVxnLTW!L�]TLqUgW!^feX]T~�dqU!��¡�StW
¢�^fmnW!�TL`SteXefWO_TW>^£b�W!eXef]TLTmnW>L¤]TLT_¥_`StW�jlW!^fW!~�dTL�]TL`mnW!L¦P/]`�-§Q^f]TLT_TYtP/mnW�_TW>^p_`¨�L[P©h
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¡�SVWF��UX^XW!]w�nW!�qUXxn^XW>L{YVStW>mnW!LcStL�W>StLTW>^�¢��¬W>LTW/s¬_TW!^�®5¯B°�±³²�´!µB´B±¶´B�¬¡�StW£��Ug^fW!]`�/W!�nh
UXxn^XW>L�_TW>^��³W!St_`W!L��>]Teg�©Ug�!YVSt~�dTW>L�·¸W!YtYVW!LcefUgW>dTW!L efW!LT��^fW!~�dqU*P/]`�¹W>StL[P/L`_TW!^}]TLT_�SVdT^XW
��]T����W«SteoU-_TW!^a��UX^XW>]`�nW>��UXxn^}_TW!^-^X|`~���m/W!efUX^XW>]`UgW>L�·¥W>YtYVW/�

¡�SVW5��P©vwSt��P/YtW�z-W>u[W>��UXSV��SVUg�JUGSVL£_TW>LFz}|T~���eoUg^XW>]T�©P/L[P/YT\-SV^X_£|`�¬W>^GW!SVLTW!L�mn^fxnºnW>L
·8SVLT�/W>Yt�³W!^fW!St~�d�_TW>ea¢�SVL`��P/YtYVef\-SVLT�/W>Ytel�/xnL¸�/s»�£��^gP/_&W!^f�!SVW!YVU!�

jlW>S<WBv`P/�qUgW>^Oz-|T~���efUX^XW>]T]TLTm�efStLT�qU�_TSVW	WBvwR¬W>^XSV��W>L�UXW!YVY5mnW!��W!efeXW>LTW�KMLqUgW>LTeXS�U��JU
_`W!^«^X|`~���m/W!efUX^XW>]`UgW>L¥·¥W>YtYVW£]T��¼J½q¾���¡�StW£�/W!^fmnYtW>St~�dTW>LT_TW!L¸z-W!~�dTL�]TLTm/W!L¥��SVUXdTStY��¹W
_`W!^p_w¨wLTP/��SVeX~�dTW>L�ª<dTW>xn^XSVW��>W!Stm/W!L­s0_[P/efe:�¹|T^Q\rW!LTSVmnW!^:_TSV�/W!^Xm/W!LqUgWO¢�SVL`��P/YVYteXeoUg^XP/dwh
YV]TLTmF_TSVW!eXW>e-���TefStLT�JW!L�efxnmqP/^<L`xw~�d�efUg�/^X�JW!^}eXW!SVL&�JPJLTL­s[e!�[�a�T�­�³�w��¿`�

¡�]`^X~�dOW>StLTW<��YVW!StL`W5·8StLT�JW!YÀPJ��\rW!SV~�d�]TLTmQ�nxnL�_TW!^�Á(xneXS�UgStx/L�WBv`P/�qUgW>^rz-|T~���efUX^XW>]wh
]`LTmÂSVLy_`W!^�§Q^f�nºnW �nxnL�¼Ãh���½

µ
^gP/_Ä�JPJLTLÄ_`StW$�OPÃv`SV�OPJYtW z-W>u[W>�qUgSV��S�U��JU&\-StW>_TW!^

W>^X^fW!St~�dqUr\lW>^X_TW>L­�`¡aStW!efWa·8SVLT�/W>YÀP/�q\rW!St~�d�]TL`m£�£]TefelP/YVYtW>^X_TSVLTmne<ÅÆ±c²�´B¯p®5¯�°�±³²�´!µB´B±¶´
eoU�PJUfUXÇ[L`_TW!L­È

Θ‖
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·¸W!LTL

Θ‖

�³W!S
Θ‖ = 0

Çwv`SVW!^oUaSVefU!sT�©P/LTL�_TStWQ��P©vwSt��P/Y¶���nmnYVSt~�dTW«z-W>uTW!�qUgS��wS�U��JU
SVL&_TW!Lcz}|`~���eoUg^fW!]T�©P/L[PJY9PJ]T~�d�LTSV~�dqU-_T]T^X~�d���W!^X�/LT_TW>^XL&�nxnL

Θ⊥

W>^X^XW>St~�dqU-\lW>^X_TW>L­�
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